PN-ABIC-139 75006

UNITED STATES AGENCY FOR INTERNATIONAL DEVELOPMENT ISLAMABAD, PAKISTAN



IRRIGATION SYSTEMS MANAGEMENT PROJECT PHASE II

Project Number 391-0467

ASSESSMENT OF HYDRAULIC MONITORING EQUIPMENT NEEDS OF PROVINCIAL IRRIGATION DEPARTMENTS

AUGUST 1991

HARZA ENGINEERING COMPANY

DEVELOPMENT ALTERNATIVES, INC.

ASSOCIATED CONSULTING ENGINEERS-ACE (FVT) LTD

CONTRACT NUMBER 391-0467-C-00-9830-00

TABLE OF CONTENTS

	Page
Executive Summary	1 7 7 9
Scope of the Report	9
Hydraulic/Sediment Monitoring by PIDs Project Requirements Current Monitoring Practices Type of Equipment Basis for Equipment Needs	11 11 13 13
Equipment Requirements of Punjab Province Field Visit	15 15 16 16 17 18 20
Field Visit	21 22
Field Visit	28 28 28
Equipment Requirements of NWF Province Field Visit	31 32 32 33 33
ACOP Training Program	38 41

LIST OF TABLES

No. TITLE

- 1. Punjab Province, Number of Field Units for Operation and Maintenance of Canal and Drainage Systems.
- 2. Punjab Province, Type and Quantity of Equipment.
- 3. Punjab Province, Hydraulic and Sediment Monitoring Equipment for Minimum Operation at Circle Levels (with cost and specifications).
- 4. Punjab Province, Hydraulic and Sediment Monitoring Equipment for Adequate Operation at Divisional and Circle Levels (with cost and specifications).
- 5. Punjab Province, Hydraulic and Sediment Monitoring Equipment for a Pilot Project (with cost and specification).
- 6. Sindh Province, Number of Field Units for Operation and Maintenance of Canal and Drainage Systems.
- 7. Sindh Province, Type and Quantity of Equipment.
- 8. Sindh Province, Hydraulic and Sediment Monitoring Equipment for Minimum Operation at Circle Levels (with cost and specifications).
- 9. Sindh Province, Hydraulic and Sediment Monitoring Equipment for Adequate Operation at Divisional and Circle Levels (with cost and specifications).
- 10. Sinch Province, Hydraulic and Sediment Monitoring Equipment for a Pilot Project (with cost and specifications).
- 11. Balochistan Province, Number of Field Units for Operation and Maintenance of Canal and Drainage Systems.
- 12. Balochistan Province, Type and Quantity of Equipment.
- 13. Balochistan Province, Hydraulic and Sediment Monitoring Equipment for Minimum Operation at Circle Level (with cost and specifications).
- 14. Balochistan Province, Hydraulic and Sediment Monitoring Equipment for Adequate Operation at Divisional and Circle Levels (with cost and specifications).

LIST OF TABLES

No. TITLE

- 15. Balochistan Province, Hydraulic and Sediment Monitoring Equipment for a Pilot Project (with cost and specifications).
- 16. NorthWest Frontier Province, Number of Field Units for Operation and Maintenance of Canal and Drainage Systems.
- 17. Northwest Frontier Province, Type and Quantity of Equipment.
- 18. Northwest Frontier Province, Hydraulic and Sediment Monitoring Equipment for Minimum Operation at Circle Level (with cost and specifications).
- 19. Northwest Frontier Province, Hydraulic and Sediment Monitoring Equipment for Adequate Operation at Divisional and Circle Levels (with cost and specifications).
- 20. Northwest Frontier Province, Hydraulic and Sediment Monitoring Equipment for a Pilot Project (with cost and specifications).

Executive Summary

The Irrigation Systems Management, (ISM) Project, Phase-II is designed to increase agricultural production of Pakistan by improving the reliability of water delivery and the equity of water distribution throughout the four provinces. Technical assistance for the project is a wided into six major components:

- o Rehabilitation/Civil Works
- o Coperation and Maintenance
- o Equipment Management and Utilization
- o Monitoring and Evaluation
- o Computerization
- o Training

Under "Monitoring and Evaluation" and "Training" components, the Technical Assistance team is to help the provincial irrigation departments develop the capabilities of monitoring the operation and performance of their canal systems, collecting hydraulic/sediment data for future revision to hydraulic design criteria for the canals, and cataloguing, computerizing and storing the data for future use.

This report provides an assessment of the hydraulic/sediment monitoring needs of the provincial irrigation departments to effectively monitor the operation and performance of their canals and collect pertinent hydraulic and sediment data for future use. Institutional approaches for data collection and training requirements of the irrigation departments also are discussed.

Type of Equipment

The recommended equipment is suitable for measuring canals and drains, but not the rivers. It includes hydraulic equipment for discharge and stage measurements of canals, sediment sampling equipment for suspended and bed material sampling, and laboratory equipment for particle size distribution analysis of suspended and bed material samples and total suspended sediment concentration analysis.

The types and specifications of the equipment were selected based on the hydraulic parameters of canals and sediment characteristics required for design of alluvial or lined channels, and for monitoring the operation and performance of the canals. The design requirements for hydraulic data were discussed with Mr. Gene Thompson, Chief Design Engineer, Harza and Mr. W.R. Stoneman Provincial Advisor of the Technical Assistance Team, Karachi.

The recommended equipment does not include vehicles, computers and other office assessories.

Activities of ISM/R Project

Under the Irrigation System Management Research (ISM/R) Project, also funded by the United State Agency for International Development, central research units have been recommended in each province. These units are placed under the Chief Engineer, Irrigation Research Institute in the Punjab Province; Director, Design and Hydrology in the Northwest Frontier Province; Director, Hydrology and Research in the Sindh Province and the Chief Engineer in Balochistan Province. The responsibilities of these units are not confined to the monitoring of the canal systems but also include general assessment of water resources both surface water and groundwater and climatology.

The Government of Punjab and NWFP have already submitted the PC-I proformas for these units. However, the quantity of hydraulic and sediment equipment proposed in all four provinces is not sufficient to routinely monitor the operation and performance of the canal systems. Therefore, no credit is given to this equipment in assessing the equipment needs defined in this report.

Institutional Approach

An institutional arrangement for monitoring should be consistent with the objective of a continuing monitoring effort after the termination of the project. Based on discussions with the provincial advisors, provincial coordinators and on the writer's experience, there is consensus that a central unit generally deteriorates over a period. The best approach is to make those engineers responsible for data collection who will be using the data in future.

The data collection efforts include:

- o Routine Hydraulic Survey to check operation and performance of canals for reliability and equity of water distribution
- Detailed Hydraulic Survey to collect data for future revision of design criteria
- Laboratory and Office Analyses, including computerization and storing of data for future use.

A most feasible institutional arrangement will be to perform the routine survey at divisional levels, and detailed survey and office analyses at circle levels. This will avoid too much need of vehicles and will need only limited additional staff. The additional staff required at a circle level will be one junior research officer, three research assistants, two hydrographers, two field assistants and one driver. The number of circles and divisions responsible for maintenance of canals are 21 and 62 in

Punjab, 16 and 39 in Sindh, 3 and 11 in Balochistan and 4 and 12 in NWFP, respectively.

Equipment Cost

The equipment cost is estimated for three levels of possible funding, and also for a reduced monitoring designated as a "pilot project."

Minimum Operation

Equipment provided at circle levels, the divisions will borrow equipment from the circles for routine survey.

Adequate Operation

Divisions are equipped for routine survey and circles are provided with equipment to perform detailed survey.

Full Operation

Equipment at same levels as for adequate operation, with some additional equipment such as sonic sounders, velocity counters, mechanical sieve shakers, etc.

Pilot Project

pilot project approach is recommended as an alternate above three operations. This is a viable approach because this will provide an opportunity to the response and willingness οf irrigation engineers and sub-engineers to perform the monitoring efforts. Also initial cost of providing the equipment be reduced. The pilot project should be started five circles in Punjab, four in Sindh and two each in NWFP and Balochistan. The monitoring activities should be limited to routine hydraulic survey and limited sediment data collection. The additional staff required at circle level will be two research assistants and one office assistant.

Equipment requirements are estimated based on providing one piece of each item of equipment for a division/circle, except two pieces of the equipment that will be subjected to frequent wear and tear. Spares are provided for about two years of operation.

Minimum Operation

	Local Cost (Rs.) (Million)	Foreign Cost (US\$) (Million)
Punjab	2.25	0.521
Sindh	1.66	0.397
Balochistan	0.30	0.071
NWFP	0.38	0.095
Total	4.59	1.084

Adequate Operation

	Local Cost (Rs.) (Million)	Foreign Cost (US*) (Million)
Punjab	5.07	1.142
Sindh	3.24	0.776
Balochistan	0.62	0.167
NMED	0.73	0.199
Total	9.66	2.284

Full Operation

	Local Cost (Rs.) (Million)	Foreign Cost (US\$) (Million)
Punjab	. 5.12	1.649
Sindh	3.27	1.123
Balochistan	0.62	0.228
NWFP	0.73	0.275
Total		
incat	9.74	3.275

Pilot Project

	Local Cost (Rs.) (Million)	Foreign Cost (US%) (Million)
Punjab	0.30	0.229
Sindh	0.97	0.174
Balochistan	0.43	0.095
NWFP	0.39	0.081
Total	3.09	0.579

The above cost does not include the cost for vehicles, computers and office facilities. However, the cost of survey levels and levelling staffs is included in the local cost component.

Training

As part of its agreement with the Federal Coordination Cell, the Alluvial Channels Observation Project is providing limited training to the sub-engineers (overseers), assistant engineers (sub-divisional officers), and executive engineers. The field training is well organized. However, the training documents given to the trainees are not designed to provide step-by-step instructions to conduct routine and detailed surveys, and to interpret, evaluate and analyse the data for checking the operation and performance of the canals and for future design. Also the irrigation staff cannot utilize this training now because of non-availability of equipment. Between today and the procurement of equipment, they may forget whatever was learned.

At the time of delivery of the equipment to circles/divisions, a new training program will have to be planned and implemented under the supervision of a hydraulic/sediment monitoring specialist. The training documents should be rewritten by the specialist.

The new field and office training program should be confined to the procedures suitable for monitoring the operation and performance of the canals, and for collection of hydraulic parameters and sediment characteristics for possible revision of the hydraulic design criteria in future. The program may include, but not be limited to, the following.

Field Methods

- Canal Stage Measurement
 Daily Observations
 During Routine and Detailed Surveys
- Canal Discharge Measurement Wading Method Boat Method Calibrated Control Structures
- 3. Canal Sediment Sampling Suspended Sediment Bed Material
- 4. Watercourse Measurement
 Wading Method
 Portable flumes
 Outlet Geometry
- 5. Precautions and Potential Errors in Measurements
- 6. Laboratory Procedures for Sediment Analyses

Training Documents

- 1. Purpose of Canal Surveys
- 2. Methods of Stage and Discharge Measurements
- 3. Development of Stage Discharge Relationships
- 4. Sediment Sampling and Analyses
- 5. Data Interpretation, Evaluation, Reduction and Compilation
- 6. Evaluation of Reliability of Water Delivery and Equity of Water Distribution.

Introduction

This report was prepared by Khalid Jawed, Senior Hydrologist from Harza Engineering Company, Chicago, during his assignment in Pakistan as Hydraulic/Sediment Equipment Specialist on Irrigation Systems Management (ISM) Project, Phase II, from December 7, 1990 through January 14, 1991 and August 05 to 16, 1991. The information provided and the opinions expressed in the report are based on:

- o Information/data available from various reports prepared by Alluvial Channels Observation Project (ACOP) on Irrigation Systems and Rehabilitation and Management Project, Phase-II;
- various reports and correspondence on ISMP-ĮI provided by Mr. Mehboob Karim, Monitoring and Evaluation (M&E) Specialist, and Mr. Adil Hasni, Training Specialist, Harza Engineering Company, Islamabad;
- o Meetings held with Provincial Advisors of Technical Assistance (TA) team of Harza Engineering Company and Provincial Coordinators from Provincial Irrigation Departments (PIDs) of Punjab, Northwest Frontier (NWFP), Sindh, and Balochistan.

Background

The ISM project is intended to directly support the activities of the PIDs in the construction, operation, and maintenance of irrigation and drainage systems. Each department has extensive field organisations and a provincial secretariat with officers responsible for design, planning, equipment management, hydraulic and sediment monitoring, and research. However, the capabilities of each department vary widely in successfully performing their responsibilities.

Irrigation systems of Pakistan are quite old and were designed based on the accepted design criteria at that time. Over the period, the water supply sources to the canal systems have changed due to the construction of storage reservoirs and development of ground water. The canal systems are generally run at discharges higher than the design capacities to meet the increased food demands of the increasing population. Under these changed conditions, some of the channels have become stable but others have problems. However, all channels need periodic maintenance for efficient running.

Since the goal of the ISM project is increasing agricultural production by improving the reliability of water delivery and the equity of water distribution in the irrig. systems throughout the four provinces, the activities of the project were directed to

rehabilitation planning and design, and physical improvements to selected canal systems, to monitoring and evaluation of the result of physical improvements, and provision of necessary training to the PIDs staff to ensure future efficient operation and maintenance of the systems. The TA team provides assistance in each activity to the PIDs.

For rehabilitation planning and design of canals carrying discharges higher than the design capacities and for redesign of canal with hydraulic problems, the existing conditions of the canals in respect of sufficient and reliable observed hydraulic parameters and sediment transport rates were required in order to use the state-of-the-art alluvial channel design criteria. These data were not available with the PIDs. The primary reasons for the non-availability of the data were:

- Absence of specialized institutional arrangement to collect and analyse the data,
- Lack of interest among the engineering staff for monitoring the operation and performance of the canal system or inexperienced staff,
- Practically no hydraulic/sediment monitoring equipment.

Because οf current inability of the PIDs collect to hydraulic/sediment data, the United States Agency for Int. Development (USAID) through the Federal Coordination Cell, Office the Chief Engineering Advisor, Ministry of Water and Power engaged ACOP to collect necessary hydraulic/sediment data to achieve the objectives of the ISM-II project. This arrangement is temporary and will be terminated the end of the project. Each PID is required to gain tech. knowledge of data collection, train its regular staff for field and office procedures, and perform all future monitoring for the operation and performance of the canal systems.

The canal systems/subsystems for hydraulic/sediment data collection by ACOP were selected by the PIDs for condition surveys and redesign and by USAID for impact monitoring. The details of these systems/subsystems are provided in an agreement dated May 1989, between FCC and ACOP, and periodic progress reports issued by ACOP. The tasks performed by ACOP include:

- Condition survey;
- Detailed hydraulic/sediment data collection on problematic channels;
- Hydraulic impact evaluation of selected channels proposed for rehabilitation;

Training to PID staff in hydrologic, hydraulic, sediment and morphologic data collection and analysis.

The details of the above tasks and procedures to perform these tasks are provided in the agreement dated May 1989 between FCC and ACOP, and a letter dated Feb. 06, 1990 from Mr. Alvin P. Newman, Chief Water Resources Division, Agricultural and Rural Development, USAID, addressed to Mr. R. K. Anver, Secretary, Irrigation and Power Department. Government of the Punjab, Lahore.

Objective of the Report

The objective of this report is to help development of an effective hydraulic/sediment monitoring program in each PID to monitor the operation and performance of its canal and drainage systems. The major tasks are:

- 1. Assess hydraulic/sediment monitoring equipment needs of each PID for its canal system;
- Prepare alternate equipment procurement lists and specifications for different levels of possible funding by USAID;
- Investigate local availability of the equipment and evaluate its suitability for the monitoring program;
- 4. Prepare cost estimates based on alternative equipment procurement lists in local and foreign components:
- 5. Suggest an appropriate institutional approach for each province for hydraulic/sediment monitoring of its canal systems;
- 6. Evaluate the hydraulic/sediment monitoring training program being carried out by ACOP and suggest any desirable modification;
- 7. Prepare a follow-up monitoring program for each province.

Scope of the Report

The report covers the following major topics.

- o Hydraulic/Sediment Monitoring by PIDs
- o Equipment Requirements of Punjab Province
- o Equipment Requirements of Sindh Province
- o Equipment Requirements of NWF Province

- Equipment Requirements of Balochistan Province Training of PIDs Personnel
- Recommended Monitoring Program for PIDs.

Hydraulic/Sediment Monitoring by PIDs.

Project Requirements

The ISM-II project is designed to develop capabilities in each PID so that after the completion of the project, the PIDs can assure a sustainable system of irrigation operation and management without any external help. Technical assistance for the project is divided into six components:

- o Rehabilitation/Civil Works
- o Operation and Maintenance
- Equipment Management and Utilization
- o Monitoring and Evaluation
- o Computerization
- o Training

Under the component of "Monitoring and Evaluation," the TA team is to help the PIDs develop the capabilities for monitoring the operation and performance of their irrigation and drainage systems by collecting and evaluating the hydraulic, sediment and morphological data. These data are essential for the future rehabilitation or redesign of the system. The type of data required to be collected by the PIDs will include:

1. History of systems/sub-systems

- Sedimentation in channel bed
- Excessive silt movement through outlets
- o Continuous shortages on the outlets at tail
- o Encroachment on canal freeboard
- o Overgrowth on berms
- o Frequent canal breaches

2. Hydraulic Parameters

- Discharges measured by current meters at head and tail, and at other regulating structures
- Discharges estimated at regulating structures using empirical relationships
- Discharges measured by current meters and by empirical relationships at outlets, and geometry of outlets
- Water surface profiles for selected reaches of the systems/subs-systems, within these reaches also collect:
 - Cross sectional profiles at four locations
 - Discharge measurement at one of the cross section including velocity profiles at three verticals

3. Sediment Observations

- Depth integrated samples at 3 to 10 verticals depending upon the width of channel, at the cross section where discharge was measured.
- Bed material samples at three verticals (1/6, 1/2, 5/6 of width)
- o Bcil samples at regulators

4. Morphological Data

- Longitudinal profiles of canal beds
- o Cross sectional profiles at selected intervals within a study reach

5. Laboratory and Office Analyses

- Suspended sediment and bed material samples analysis
- Cataloguing and computerization of data

The history of systems/sub-systems will help the PIDs to identify the problems with the systems. A channel reach may be considered problematic if one or more of the following is true:

- Canal cannot pass the design discharge
- o Chronic shortages exist at the tail
- o Periodic silt clearance is required
- o Frequent breaches occur
- Berms are overgrown
- o Heavy silt passes through outlets

The PIDs, based on the evaluation of the hydraulic, sediment and morphological data will take the necessary corrective measures. If a canal is problematic, it should be redesigned. If a canal is non-problematic but is carrying discharge higher than the design capacity and also needs some modification to the outlets, it should be rehabilitated.

The hydraulic data will help to check the reliability and equity of the system. Reliability is defined as "average percent of days that a planned water supply was available to the tail outlets." Equity is considered as a relationship between water delivery to the farmers near the head versus the farmers near the tail. This

is analysed by comparing the ratio of delivered discharge to design discharge in the head reach versus tail reach outlets.

The above project requirements can be further reclassified into three categories:

- o Routine Hydraulic Survey
- o Detailed Hydraulic/Sediment Survey
- Laboratory and Office Analyses

The routine survey will essentially involve: updating the performance history of the system/sub-system, at least three four discharge measurements by current meter during the year selected locations on the canals (head, tail and other regulating structures), comparison of measured and computed discharges (from empirical relationships of regulating structures or old stagedischarge relationships), comparison of measured (by current and computed (by empirical relationships) discharges of outlets, and survey of longitudinal profiles of canal beds and cross sectional profiles during closure of the system/sub-system. This survey will provide data on the operation and performance of systems and help to identity the canals rehabilitation or redesign.

The detailed hydraulic/sediment survey should be conducted periodically on selected sub-reaches of problematic canals. This will include: survey of water surface profile, discharge measurement and vertical velocity profiles at a selected location within the sub-reach, at least four cross sectional profiles, suspended and bed material sampling, and longitudinal bed profile. This survey will provide data to update the hydraulic design criteria from time to time.

The office analyses will involve establishment and maintenance of sediment laboratory, and cataloguing and computerization of the hydraulic/sediment data.

<u>Current Monitoring Practices:</u>

According to general irrigation practices the field divisions of the PIDs are required to update the history of the systems, collect some hydraulic data including discharges on a routine after every five years basis, and observe longitudinal and cross sectional profiles during the closures of the canals. However, over the years, this practice has been discontinued because of the reasons discussed under the section entitled "Background". Currently, these observations are only made by the PID field divisions on the systems which need repair or improvement.

Type of Equipment

Since this report primarily addresses the requirements of each PID to monitor the operation and performance of its irrigation and drainage systems, the equipment is selected consistent with these two functions. The PIDs also may need equipment for monitoring flow and sediment in the natural streams, for

measuring climatic parameters to determine irrigation water requirements or to perform sedimentation survey in existing reservoirs. The equipment for these tasks is not included. The selected equipment is only suitable for measuring canals and drains and includes:

1. Hydraulic Equipment:

Current meters, wading rods, tag lines, headsets, velocity counters, stop watches, waders, boat improvizement sets, sounding reels and accessories, sounding weights, staff gages, water level recorders and survey elevels.

2. Sediment sampling Equipment:

Handheld and cable suspended depth integrating suspended sediment samplers and bed-material samplers.

3. Laboratory Equipment:

Sediment concentration and particle size analysers; balances, ovens, sieve sets, pipette, desiccators, evaporating dishes, cylinders, beakers, etc.

Basis for Equipment Needs

The equipment requirements for each province are discussed in the subsequent sections. These requirements are assessed based on the following criteria:

- Numbers of regions (chief engineers), sub-regions (superintending engineers), divisions (executive engineers) and sub-divisions (sub-divisional officers)
- Areal extent (physical locations) of regional, subregional, divisional and sub-divisional offices.
- Minimum transport need to monitor operation and performance of the system
- Maximum participation of field staff

Equipment Requirements of Punjab Province

Field Visit

A field visit was made to Lahore from December 31. 1990 to January 3, 1991. The purpose of the visit was to discuss with the Advisor of the TA team, Mr. Rue Boswell, and Provincial Ashraf, Coordinator of the PID, Mr. C.M. (1) Provincial institutional approach for future monitoring of the operation and performance of the irrigation canal and drainage systems and to assess the type and quantity of hydraulic/sediment monitoring equipment required by the PID. The following persons also were to better understand the previous and current monitoring practices in the province and the type of equipment in use.

- 1. Mr. Ramiz Ahmed Malik, Chief Engineer PID (retired), O&M Specialist, Harza TA team,
- 2. Mian Abdul Khaliq, Superintending Engineer PID (retired), Harza TA team,
- Mr. M. Qayyum Bhatty, Senior Research Officer, Irrigation Research Institute, PID,
- Tariq Masood, Director Hydrology, and Research, WAPDA.

The following information was obtained during discussions with the above persons:

- 1. About 62 divisions and 21 circles under the control of five regional chief engineers are responsible for monitoring the operation and performance of the canal and drainage systems.
- 2. A list of equipment was provided which included fibre glass boats, life jackets, current meters, wire rope, sounding reels, meter flumes, velocity rods, echo sounders, sounding rods, stop watches, depth integrating samplers, bed load samplers, analytical balances. The number of each item was based on two to eight sets per division. quantity required was judged to be too high. It was pointed but that instead of using meter flumes. sounding rods or velocity rods, latest equipment to measure discharge and depth of water should be used. Mr. Ashraf agreed and asked to reframe the according to the criteria selected by Harza. Also bed load samplers are not required. material samplers will be needed.
- 3. PID used to collect hydraulic data on the canal system but over the years, this practice has deteriorated. Currently, the problematic canals are judged by field inspections only.
- 4. Discharge Division Lahore is equipped with

instruments to measure discharges. Its activities are confined to river discharge measurements. It has never been involved in canal measurements.

- 5. At headworks, the executive engineers headworks have current meters which are used to measure diversions into the canals at the barrages. The executive engineers in charge of canals occasionally make discharge measurements, mostly using velocity rods.
- 6. C.M. Ashraf agreed that the routile monitoring to check the operation and performance of the canals should be at divisional levels while the detailed hydraulic and sediment data collection, and office analysis, including sediment laboratory should be at circle levels.
- 7. A few manufacturers in Lahore can provide wading rod sets, sounding weights, boat improvizment sets, hanger bars, flat bottom fibre glass boats, levels and accessories (imported, locally available), staff gages, depth integrating samplers and stop watch (imported, locally available). The costs of these items were obtained through Mr. Tariq Masood.

Irrigation and Drainage Systems

The irrigation and drainage systems in the Punjab Province are under the administrative control of five chief engineers. The number of field units responsible for operation and maintenance of canal and drainage systems are given in Table 1. This table does not include the tubewell divisions, divisions working under the Chief Engineer Floods and Chief Engineer Coordination, and the divisions responsible for bunds (levees). There are five chief engineers (regions), 21 superintending engineers (circles), 62 divisions and 270 sub-divisions.

Activities of ISM/R Project

Under the Irrigation System Management Research (ISM/R) Project, some hydraulic equipment was recommended for the Irrigation Research Institute, (IRI), Lahore. This equipment is only sufficient for the routine operation of the IRI. However, it was learned from Mr. M. Qayyum Bhatty, SRO, that the IRI has prepared a PC-I proforma entitled, "Strengthening, Modernization and Reorganisation of Irrigation Research Institute, Lahore dated June 1990." In this proforma, a field unit is proposed for hydraulic and sediment monitoring. A cost estimate of about 4.5 million rupees is shown to procure sediment samplers, current meters, water level recorders and other undefined equipment. The responsibilities of the field unit are not defined. Mr. Bhatty could not explain whether this unit is supposed to replace the

monitoring duties of canal divisions and circles. Because of uncertainty about the responsibility of the proposed unit, this is assumed to be non-overlapping with the monitoring proposed in this report.

Recommended Institutional Approach

As discussed under the section entitled, "Hydraulic/Sediment Monitoring by PIDs", three tasks are identified.

- o Routine Hydraulic Survey
- Detailed Hydraulic/Sediment Survey
- o Laboratory and Office Analyses

Four alternative institutional arrangements can be considered to perform the above tasks.

- 1. A central unit for the province
- 2. Regional units under chief engineers
- 3. Sub-regional units under superintending engineers
- 4. Divisional units under executive engineers

A central unit for the whole province is technically not feasible because the routine survey must be performed under the administrative and technical control of the executive engineers or superintending engineers incharge of the maintenance works. If the survey is performed by a central unit, the local engineers may not cooperate with the survey parties. Also because of the large irrigation system, the transport need and its maintenance, and additional staff required for the surveys will require a large annual budget.

If the central unit is made responsible only to obtain the data from the field units, interpret, analyse and prepare the data for further use, there will be problems with the accuracy of the data collected by the field staff. This may create controversies between the central unit and field units, adversely affecting the monitoring system.

Having the monitoring units at divisional levels responsible for field data collection and office analyses will be highly desirable. However, this will require a large field and office staff and equipment for the 62 divisions in the province.

A most feasible institutional arrangement recommended for the province will be to perform the routine survey at divisional levels and detailed survey and office analyses at a sub-regional (circle) levels. The superintending engineers, incharge of the circles will be technically and administratively responsible for the work done by the circle staff and by the divisions under their control. The data collected by the divisions will be sent to the circles for review, analyses and future use. By performing the routine surveys, the executive engineers will obtain first hand information on the operation and maintenance of their canal

systems. Because these surveys will be performed by the subdivisional officer and sub-engineers responsible for the maintenance of the canals, no additional staff will be required. If these engineers are transferred, they will carry their expertise to other divisions. This will ensure a continuous monitoring system. Additional staff will be required for the sub-regions (circles).

Generally, the sediment analysis is made by research type staff (non-engineers) in the PIDs and WAPDA. Therefore, non-engineering staff (for minimum, adequate or full operation) is recommended for the sub-regions. The staff should include:

<u>Designation</u>	Number
Junior research officer	1
Research assistant	3
Hydrographer	2
Field assistant	2
Driver	1

An alternative would be to perform the routine survey at subregional level, and detailed survey and office analyses at
regional (chief engineer) level. This will reduce the quantity of
equipment but will need additional staff and transport at both
regional and sub-regional levels. Provision of a large additional
staff on regular basis may not be feasible because of budgetary
constraints imposed from time to time. Also because of the large
canal systems operated by the superintending engineers, the
routine survey may not be performed successfully on schedule.

Equipment Needs

Equipment needs of the Punjab Irrigation Department are estimated for three levels of possible funding by the USAID. The levels are based on the following criteria:

1. Minimum Operation

Basic equipment provided at sub-regional level to conduct routine and detailed surveys, and to perform laboratory and office analyses. However, the divisional offices will actually perform the routine survey by borrowing the equipment from the circle offices.

2. Adequate Operation

Basic equipment provided at sub-regional level to conduct detailed survey and to perform laboratory and office analyses, and also at divisional level to conduct routine survey.

3. Full Operation

Equipment at same levels as for the adequate operation with additional equipment.

The type and quantity of equipment for the minimum, adequate and full operations are listed in Table 2. The requirements are estimated assuming one piece of each item of equipment for each circle or division, except two pieces of the equipment that will be subjected to frequent wear and tear. For minimum operation, the equipment is provided at circle levels. For the adequate operation, hydraulic equipment is provided at divisional levels while the sediment measuring and analysis equipment is provided at circle levels. The full operation is same as the adequate operation except that additional water level recorders, and sonic sounders, velocity counters, motorized sieve shakers and desiccabs are provided.

The quantity of equipment and cost of each item, with specifications and names of suppliers are given in Tables 3 and 4 for minimum and adequate operations. The total cost is summarized below. The full operation cost is estimated by adding the cost of about 62 velocity counters, 21 sonic sounders (with spares), 21 motorized shakers, 21 desiccabs, 62 sounding weights (30 lbs) and 62 additional water level recorders (with spares) to the cost of adequate operation.

Minimum Operation

Local Cost,	Rs.	2,250,000
Foreign Cost,	US \$	520,990

Adequate Operation

Local Cost,	Rs.	5,070,780
Foreign Cost,	US \$	1,142,130

Full Operation

Local Cost,	Rs.	5,160,000
Foreign Cost,	US \$	1,648,600

The above cost does not include the cost of providing vehicles and office equipment for data reduction. Also the cost of additional staff for the monitoring activities in the circle offices is not included. However, the cost of survey equipment, (levels and levelling staffs) is included in the local cost.

Pilot Project

A pilot project approach is recommended as an alternative to the above three operations. The hydraulic/sediment monitoring should be initiated in five selected circles only. This will reduce the initial cost of equipment and also will provide an opportunity to judge the response and enthusiasm of the PID to the monitoring efforts, the willingness of engineers and sub-engineers to monitor the canal systems under their control along with their routine duties, and to check the difficulties faced by the PID to employ research staff for sediment analysis and office work. The five selected circles are:

- Lahore Zone (Chief Engineer, Lahore)
 Upper Chenab Canal Circle, three divisions.
- Sargodha Zone (Chief Engineer, Sargodha)
 Lower Jhelum Canal Circle, four divisions.
- 3. Multan Zone (Chief Engineer, Multan) Muzaffargarh Canal Circle, three divisions.
- 4. Faisalabad Zone (Chief Engineer, Faisalabad) lower Chenab Canal East Circle, Faisalabad, three divisions.
- 5. Bahawalpur zone (Chief Engineer, Bahawalpur)
 Bahawalpur Canal Circle, Bahawalpur, three
 divisions.

Hydraulic monitoring will be confined to the routine survey and limited sediment sampling of suspended and bed material and will be done at the divisional levels. Detailed hydraulic/sediment monitoring for evaluating canal design criteria will not be performed. Sediment sample analysis, field data evaluation and record keeping will be done at the circle level. Two research assistants and one office assistant will be required in the circle for this work. The cost of equipment will be about Rs. 1,298,700 and US \$ 228,700 including 10 percent freight for foreign equipment (Table 5). The cost is based on five circles and 16 divisions.

Equipment Requirements of Sindh Province

Field Visit

A field visit was made to Karachi from 11th to 13th of December 1990. The purpose of the visit was to discuss with the Provincial Advisor of the TA team, Mr. William R. Stoneman, and the Provincial Coordinator of the PID, Mr. Nasir Ali Rajput, (1) the institutional approach for future monitoring of the operation and performance of the irrigation canal and drainage systems and (2) to assess the type and quantity of hydraulic/sediment monitoring equipment required by the PID. The following persons also were contacted to better understand the current monitoring practices in the province and to determine the type of available equipment, if any.

- Mr. Mir Mohammad Almani. Director Hydrology and Research
- 2. Mr. Abdul Majid Abro, Executive Engineer, ACOP
- 3. Mr. Mohammad Munir, Senior Research Officer, ACOP
- 4. Mr. Gul Mohammad, Workshop Superintendent, Kotri
- 5. Mr. Khalid Masood, Design Engineer, Harza, ISM-II.

The following information was obtained during discussions with the above persons.

- 1. Irrigation divisions in the province used to observe water levels at selected locations on the canal system, bed conditions during closure of the canals, depth of water below regulating structures, canal freeboards, etc., practice was discontinued primarily due to day-to-day operations and other functional requirements of limited field staff.
- 2. Practically, there is no hydraulic/sediment monitoring equipment with the field divisions except a few locally made current meters (Gurley type) with the headworks divisions. These meters are used to measure main canals discharge at the headworks. For any special discharge measurement (in case of dispute over water allocation among different divisions), the Hydrolpgy and Research Directorate is requested to make current meter measurements.
- 3. Sub-divisional officers (graduate engineers) and sub-engineers are busy on other work tasks and pay little attention to hydraulic monitoring. However, the conditions are changing. If equipment and training are provided to the engineers and subengineers, they may keep up the work.
- Hydraulic/sediment equipment is needed on a divisional basis for routine monitoring. Some of

the expensive equipment may be provided on a circle basis.

- Some additional staff and transport will be required for the monitoring.
- Discharge Sub-Division, working under 6. the administrative control of the Hydrology Research Directorate has capabilities οf manufacturing Gurley current meters, velocity rods, y-rods and enamelled staff gages. However, Mr. Mohammad, the workshop superintendent is an old. man, working on work-charge basis after retirement. The younger staff is not well trained. The workshop can produce about 15 to 20 current meters per year. general complaint about these meters explained by Mr. Mohammad Munir, ACOP) is that brass bearing wears out after a few discharge This affects the current measurements. rating.

Irrigation and Drainage Systems

The irrigation and drainage systems in Sindh Province are under the administration control of four chief engineers. The number of field units responsible for operation and maintenance of canal and drainage systems are given in Table 6. This table does not include the tubewell divisions or divisions responsible for the maintenance of bunds. There are four regional offices (Chief engineers), 16 sub-regions (circles), 39 divisions and 153 sub-divisions.

Activities of ISM/R Project

Under the Irrigation System Management Research (ISM/R) Project, some hydraulic monitoring equipment was recommended for Soil Mechanics and Hydraulic Laboratories at Hyderabad. This equipment is only sufficient for the routine operation of the laboratories. The field units of the PID need equipment as recommended in this report.

Recommended Institutional Approach

As discussed under the section entitled, "Hydraulic/Sediment Monitoring by PIDs," three tasks are identified:

- o Routine Hydraulic Survey
- Detailed Hydraulic/Sediment Survey
- Laboratory and Office Analyses

Four alternative institutional arrangements can be considered to perform the above tasks:

- 1. A central unit for the province
- 2. Regional units under Chief Engineers
- Sub-regional units under superintending engineers
- 4. Divisional units under executive engineers

A central unit for the whole province is technically not feasible because the routine survey must be performed under the administrative and technical control of the executive engineers or superintending engineers incharge of the maintenance works. If the survey is performed by a central unit, the local engineers may not cooperate with the survey parties. Also because of the large irrigation system, the transport needs and its maintenance, and additional staff required for the surveys will require a large annual budget.

If the central unit is made responsible only to obtain the data from the field units, interpret, analyse and prepare the data for future use, there will be problems with the accuracy of the data collected by the field staff. This may create controversies between the central and field units, adversely affecting the monitoring system.

The monitoring units at divisional levels responsible for field data collection and office analyses will be highly desirable. However, this will require a large field and office staff and equipment for the 40 divisions in the province.

A most feasible institutional arrangement recommended for province will be to perform the routine survey at divisional level, and detailed survey and office analyses at a sub-regional level. The superintending engineers incharge of the circles will be technically and administratively responsible for the work done by the circle staff and by the divisions under their control. The data collected by the division will be sent to circles for review, analyses and future use. By performing the routine surveys, the executive engineers will obtain first hand information on the operation and maintenance of their systems. Because these surveys will be performed by the subdivisional and sub-engineers responsible officer for maintenance of the canals, no additional staff will be required. these engineers are transferred they will carry expertise to other divisions. This will ensure a continuous monitoring system. Additional staff will be required for the sub-regions (circles).

Generally, the sediment analysis is made by research type staff (non-engineers) in the PIDs and WAPDA. Therefore, non-engineering staff (for minimum, adequate and full operation) is recommended for the sub-regions. This staff should include:

<u>Designation</u>	Number
Junior research officer	1
Research assistant	3
Hydrographer	2
Field assistant	2
Driver	1

An alternative would be to perform the routine survey at subregional level, detailed survey and office analyses at regional
(chief engineer) level. This will reduce the quantity of
equipment required but will need additional staff and transport
both at regional and sub-regional levels. Provision of additional
staff on regular basis may not be feasible because of budgetary
constraints imposed from time to time. Also because of large
canal systems operated by the superintending engineers, the
routine surveys may not be performed successfully on schedule.

Equipment Needs

Equipment needs of the Sindh Irrigation Department are estimated for three levels of possible funding by the USAID. The level are based on the following criteria:

1. Minimum Operation

Basic equipment, provided at sub-regional level (circle) to conduct routine and detailed surveys and to perform laboratory and office analyses. However, the divisional offices will actually perform the routine survey borrowing the equipment from the circle offices.

2. Adequate Operation

Basic equipment provided at sub-regional level to conduct detailed survey and to perform laboratory and office analyses, and also at divisional level to conduct routine survey.

2. Full Operation

Equipment at same levels as for the adequate operation with additional equipment.

The type and quantity of equipment for the minimum, adequate and operations are listed in Table 7. The requirements full estimated assuming one piece of equipment for each circle division except two pieces of the equipment that will subjected to frequent wear and tear. For minimum operation, provided at circle levels. equipment is For the adequate operation, hydraulic equipment is provided at divisional while the sediment measuring and analysis equipment is provided at circle levels. The full operation is same as the adequate

operation except that additional water level recorders, and sonic sounders, velocity counters, motorized sieve shakers and desiccabs are provided.

The quantity of equipment and cost of each item, with specifications and names of suppliers are given in Tables 8 and 9 for minimum and adequate operations. The total cost is summarized below. The full operation cost is estimated by adding the cost of about 39 sounding weights (30 lbs), 39 velocity counters, 16 sonic sounders, 16 desiccabs, 16 motorized shakers and 39 additional water level recorders to the cost of adequate operation.

Minimum Operation

Local Cost,	Rs.	1,657,000
Foreign Cost,	US \$	397,500

Adequate Operation Local Cost, Rs. 3,240,000 Foreign Cost, US \$ 766,100

Full Operation

Local Cost,	Rs.	3,270,000
Foreign Cost,	US \$	1,123,000

The above cost does not include, the cost of providing vehicles and office equipment for data reduction. Also the cost of additional staff for the monitoring activities in the circle offices is not included. However, the cost of survey equipment levels and levelling staff is included in local cost.

Pilot Project

A pilot project approach is recommended as an alternative to the above three operations. The hydraulic/sediment, monitoring should be initiated in four selected circles only. This will reduce the cost of equipment and also provide an opportunity to judge the response and enthusiasm of the PID to the hydraulic/sediment monitoring efforts, the willingness of engineers and sub-engineers to monitor the canal systems under their control along with their routine duties, and to check the difficulties faced by the PID to employ research staff for sediment analysis and office work. The four selected circles are:

Kotri Zone (Chief Engineer, Kotri)
 Finyari Canal Circle, two divisions

- Sukkur Zone (Chief Engineer, Sukkur)
 Rohri Canal Circle, five divisions
 Nara Canal Circle, three divisions.
- Guddu Canal (Chief Engineer, Sukkur) Begari Sindh Feeder Circle, two divisions.

Hydraulic monitoring will be confined to the routine survey and limited sediment sampling of suspended and bed material and will be done at the divisional levels. Detailed hydraulic/sediment monitoring for evaluating design criteria for the alluvial canal will not be performed. Sediment sample analysis, field data evaluation and record keeping will be done at the circle levels. Two research assistants and one office assistant will be required in the circle for this work. The cost of equipment will be about Rs. 968,300 and U.S.\$ 173,600 including 10 percent freight for foreign equipment (Table 10). The cost is based on four circles and 12 divisions.

Equipment Requirements of Balochistan Province

Field Visit

A field visit was made to Quetta from December 14 to 19, 1990. The purpose of the visit was to discuss with the Provincial Advisor of the TA team Dr. Carlos A. Gandarillas, and the Provincial Coordinator of the PID, Mr. Shirin Khan Luni, (1) the institutional approach for future monitoring of the operation and performance of the irrigation canal and drainage systems and (2) to assess the type and quantity of hydraulic/sediment monitoring equipment required by the PID. The following persons also were contacted or met during the meetings to better understand the previous and current monitoring practices in the province and the type of equipment in use, if any.

- 1. Mr. Mohammad Amin, Chief Engineer, PID.
- Mirza Saeed Beg, Chief Design Engineer, PID.
- 3. Mr. Fazal Din Khan Mandokhel, Superintending Engineer, PID, Kalat.
- 4. Mr. Mohammad Usman Bab, Director Planning and Development, PID
- 5. Mr. Ali Akbar Zehri, Executive Engineer, Pat Feeder Canal, PID, Dera Murad Jamal
- Ch. Abdul Majeed, Superintending Engineer (Retired), O&M Specialist, Harza, Quetta
- Sh. Mohammad Hussain, Resident Engineer, NESPAK, Quetta
- 8. Mr. Abdul Mujeeb, Senior Engineer, ACOP, WAPDA.

The following information was obtained during discussions with the above persons:

- 1. Practically no hydraulic/sediment monitoring equipment exists in the PID. Mr. M. Amin wants to create a hydrology division to work with WAPDA for training. Also PID does need equipment to monitor operations and performance of the canals. Binoculars also are required to read gages on the rivers during the floods.
- 2. Dr. Gandarillas thinks that a contralized monitoring unit stationed at Quetta is not advisable. First, the unit will have to travel over a large area and second, no engineer or subengineer will like to be stationed at Quetta.
- J. Pat Feeder and Kirthar canals are unlined. The rest of the canals are small and lined or will be lined under the rehabilitation program. Therefore, sediment sampling equipment may not be needed in most of the divisions.
- Hydraulic/Sediment Monitoring should be done on divisional basis.

- 5. Generally, most of the canals are small with steep slopes, construction of permanent structures such as broad-crest weir will be desirable to measure discharges. However, current meter measurements will be needed to check the calibration of these structures.
- 6. Water courses may be measured with portable flumes or pygmy current meters.
- 7. Dr. Gandarillas apprehends that the monitoring equipment may not be successfully used primarily due to turn-over of personnel in the department.

Irrigation and Drainage Systems

The irrigation and drainage systems in the Balochistan Province are under the administrative control of one chief engineer stationed at Quetta. The number of field units responsible for operation and maintenance of canal systems, are given in Table 11. This table does not include the tubewell divisions, planning divisions and divisions responsible for maintenance of bunds.

There are one chief engineer, three circles (superintending engineers), eleven divisions (executive engineers) and twenty five sub-divisions.

Activities of ISM/R Project

Mr. Jalil-ud-Din Ahmad USAID Project Officer of the Irrigation System Management Research (ISM/R) was contacted to determine any provision made for hydraulic/sediment monitoring equipment under his project. A list of equipment could not be obtained. However, Mr. Ahmad indicated that the equipment may not be sufficient for all divisions.

Recommended Institutional Approach

A detailed discussion on alternative institutional approaches is provided for the Punjab and Sindh Provinces. In view of the locations of the irrigation systems, scattered all over the province, a most viable institutional arrangement will be the same as recommended for the Punjab or Sindh Province, that is, routine survey at divisional levels and other monitoring and office activities at circle levels.

The additional staff required in each circle will include:

<u>Designation</u>	Number
Junior research officer	1
Research assistant	2

Hydrographer	1
Field assistant	2
Driver	1

Equipment Needs

Equipment needs of the Balochistan Irrigation Department for three levels of possible funding by the USAID, estimated discussed in details for the Punjab and Sindh Provinces. levels are designated as minimum operation, adequate, operation, and full operation. The type and quantity of equipment for these operations are listed in Table 12. The equipment requirements are estimated assuming one piece of each item of equipment for circle or division except two pieces of the equipment that will subjected to frequent wear and tear. For equipment is provided at circle levels. minimum operation. For the adequate operation hydraulic equipment is provided at divisional while the sediment measuring and analysis equipment is provided circle levels. The full operation is same as the adequate operation except that additional water level recorders, and sonic sounders, velocity counters, motorized sieve shakers and desiccab are provided.

In the Balochistan Province, most of the canals are small and steep. This will not need boats and related accessories for flow measurements. Therefore, the equipment for discharge measurements using boat and for suspended sediment sampling from boat, is not based on the number of divisions in the province.

The quantity of equipment and cost of each item, with specification and names of suppliers are given in Tables 13 and 14 for minimum and adequate operations. The total cost is summarised below. The full operation cost is estimated by adding the cost of 11 velocity counters, one sonic sounder (with spares), 11 additional water level recorders (with spares), three motorized sieve shakers, four 30-lbs sounding weights and three desiccabs.

Minimum Operation

Local Cost, Rs.	304,400
Foreign Cost, US \$	71,400
Adequate Operation	
Local Cost, Rs.	618,800
Foreign Cost, US \$	167,300
Full Operation	
Local Cost, Rs.	621,900
Foreign Cost, US \$	228,200

The above cost does not include the cost of providing vehicles and office equipment for data reduction. cost of additional staff for the monitorina activities in the circle offices is not included. However, the cost of survey equipment (levels staffs) is included in the levelling local cost component.

Pilot Project

To be consistent with the approach of pilot project in the Punjab and Sindh provinces, the hydraulic/sediment monitoring should be initiated in two circle only. As stated earlier, this will provide an opportunity to judge the response and enthusiasm of the PID to monitoring efforts, the willingness of engineers and sub-engineers to monitor the canal systems under their control along with their routine duties. The Pat Feeder and Sibi Circle located at Dera Murad Jamali and Irrigation Circle, Quetta should be selected for these purpose. There are eight divisions in these circles.

Hydraulic monitoring will be confirmed to the routine survey and limited sediment sampling of suspended and bed material, and will be done at the divisional levels. Detailed hydraulic/sediments monitoring for evaluating design criteria for the alluvial canals will not performed. Sediment sample analysis. evaluation and record keeping will be done at the circle level. Two research assistant and one office assistant will be required for this work. The cost of equipment will be about Rs. 431,000 and U.S. \$ 95,370 including 10 percent freight for foreign equipment (Table 15). cost of providing permanent flow measuring structures such as flumes, weirs, etc. is not included. This should be done by the PID on a need basis.

Equipment Requirements of Northwest Frontier Province

Field Visit

A meeting was arranged on December 21, 1990 in Islamabad with Mr. Gene F. White, Provincial Advisor of the TA team in Peshawar, because he was leaving for vacation. The institutional arrangement for monitoring and equipment needs of the NWFP was discussed. Mr. White provided the following information:

- o Mr. White was not sure whether the PID is undertaking routine survey to monitor the operation and performance of its canal systems.
- Sizes of the canals are relatively small. Some of the canals are lined and sediment is not much of a problem. The canals in Bannu and Swat Canal Systems are unlined. These may need sediment sampling.
- o In NWFP, the canals are designed using the Manning's equation.
- Echo sounder may be needed in Swat Canal or some canals in Bannu but not essential.
- O Hydraulic/Sediment monitoring will be best at divisional levels but if funding is a constraint, the monitoring at circle levels may be sufficient. At circle level, there will be some problem of transport. There is some transport available at divisional level.
- Sediment has ruined the pumps at Warsak Lift Canal but there is not much problem in the canal. In Bannu area, coarse sediment is a problem in the canals.

A field visit was made to Peshawer on December 26, 27, 1990. The purpose of the visit was to discuss with the Provincial Coordinator of the PID, Mr. Saleem Ullah Khan (1) the institutional approach for future monitoring of the operation and performance of the irrigation canal and drainage systems and (2) to assess the type and quantity of hydraulic/sediment monitoring equipment required by the PID. The following persons also were contacted.

- 1. Mr. Ayub Jan, Executive Engineer, Assistant to Provincial Coordinator.
- Mr. Mohammad Wasil Sathi, Executive Engineer, Hydrology.
- Mr. Allah Bux Baloch, Executive Engineer, Warsak Canal.
- 4. Dr. Farhat Javed, Design Engineer, ISM-II Project.
- 5. Mr. Hashmat Ullah Awan, Director Water Sector Investment Planning cell, PID.

The following information was obtained during discussions with the above persons.

- Practically no hydraulic/sediment monitoring equipment exists with executive engineers in-charge of the canal systems. Hydrology Division is well equipped with discharge measuring equipment but the field operation is greatly affected due to lack of transport.
- 2. Hydrology Division personnel lack training in discharge measurements and installation of gage and discharge measuring facilities. There is an immediate need for training.
- Canal divisions will require additional staff for monitoring the operation and performance of the canals. Mr. A.B. Baloch feels that the canal divisions are over loaded with routine work. A central unit for the whole province may be more feasible. However, during the discussions, he agreed to a divisional/circle level monitoring. The major problem expressed by him was the transport in the divisions.
- 4. Mr. A.B. Baloch is interested in echo sounders, not necessarily for canals but for monitoring sediment in Baran Dam.
- 5. Mr. Awan told that some canals in the PID are under the administrative control of deputy commissioners. Whenever the civil authorities find some problem with the canal performance, they ask the irrigation department for rehabilitation. The PID is not performing any inspection on these canals.

Irrigation and Drainage Systems

The irrigation and drainage systems in the NWFP are under the administrative control of one chief engineer stationed at Peshawer. The number of field units responsible for operation and maintenance of canal systems are given in Table 16. This table does not include the tubewell, SCARP, and planning divisions.

There are one chief engineer, four superintending engineers, twelve executive engineers (divisions) and 28 sub-divisions.

Activities of ISM/R Project

A PC-1 proforma dated June 1990 was prepared by the Government of the NWFP, Irrigation and Public Health Engineering Department for an Irrigation Management Research Project to be funded under USAID ISM/R program. This proforma is essentially based on the

recommendations of Dr. C.E. Brockway. The objectives of project are to collect discharges in natural streams and canals, precipitation, ground water levels, well discharges, meteorological data. Interpretation, computeriztion of data is stressed. A new unit is suggested under the Director Design and Hydrology with sub-units at Mingora. Peshawer, and Bannu. Equipment is recommended for flow, sediment, ground water level measurements, surveying, meteorological monitoring, plus computers, office equipment, vehicles. The hydraulic/sediment equipment include current meters, waders, water level recorders, portable weirs, samplers and laboratory apparatus. The total provision is about 488,000. The number of current meters and water recorders are three and ten, respectively. This provision appears to be too small to monitor the NWFP canal system.

Recommended Institutional Approach

A detailed discussion on alternative institutional approaches is provided for the Punjab and Sindh Provinces. In view of the locations of irrigation systems, scattered all over the province a most viable institutional arrangement will be the same as recommended for the other provinces, that is, routine survey at divisional levels and other monitoring and office activities at circle levels.

The additional staff required in each circle will include.

<u>Designation</u>	<u>Number</u>
Junior research officer	1
Research assistant	2
Hydrographer	1
Field assistant	2
Driver	1

Equipment Needs

Equipment needs of the NWFP Irrigation Department are estimated for three levels of possible funding by USAID, as discussed in detail for the Punjab and Sindh Provinces. These levels designate: as "minimum operation", "adequate operation", "full operation". The type and quantity of equipment for these operations are listed in Table 17. The equipment requirements are estimated assuming one piece of each item of equipment for each circle or division except two pieces of the equipment that will be subjected to frequent wear and tear. For minimum operation, the equipment is provided at circle levels. For adequate operation, hydraulic equipment is provided at divisional while the sediment measuring and analysis equipment is provided circle levels. The full operation is same as the adequate operation except that additional water level recorders, and sonic

sounders, velocity counters, motorized sieve shakers and desiccab are provided.

In the NWFP, some of the canals are of small sizes with steep slopes. This will not require boats and related accessories for flow and sediment measurements. Therefore, some of the discharge measuring equipment and sediment samplers are not provided for each division.

The quantity of equipment and cost of each item with specifications and names of suppliers are given in Tables 18 and 19 for minimum and adequate operations. The total cost is summarized below. The full operation cost is estimated by adding the cost of twelve velocity counters, two sonic sounder (with spares), twelve water level recorders (with spares), four motorized sieve shakers, four desiccabs and six 30-lb sounding weights.

Minimum Operation

Local Cost,	Rs.	380,440
Foreign Cost,	US \$	95,160

Adequate Operation

Local Cost,	Rs.	725,200
Foreign Cost,	US \$	199,100

Full Operation

Local Cost,	Rs.	729,900
Foreign Cost,	US \$	275,200

The above cost does not include the cost of providing vehicles and office equipment for data reduction. Also the cost of additional staff for the monitoring activities in the circle offices is not included. However, the cost of survey equipment (levels and levelling staffs) is included in the local cost component.

Pilot Project

To be consistent with the approach of pilot project in the other provinces, the hydraulic/sediment monitoring should be initiated in two circles only. As stated earlier, this will provide an opportunity to judge the response and enthusiasm of the PID to the monitoring efforts, the willingness of engineers and sub-engineers to monitor the canal systems under their control along with their routine duties. The Northern Irrigation Circle, located at Mardan and the Southern Circle located at Bannu are recommended for this purpose. There are six divisions in these circles.

Hydraulic monitoring will be confined to the routine

survey and limited sediment sampling of suspended and bed materials, and will be done at the divisional levels. Detailed hydraulic/sediment monitoring for evaluating design criteria for the alluvial canals will not be performed. Sediment sample analysis, field data evaluation and record keeping will be done at the circle level. Two research assistants and one office assistant will be required for this work. The cost of equipment will be about Rs. 397,900 and U.S.\$ 80,980 including 10 percent freight for foreign equipment (Table 20). The cost of providing permanent flow measuring structures such as flames, weirs, is not included. This should be done by the PID on a need basis.

Training of PIDs Personnel

A well planned and accurately performed hydraulic/sediment monitoring will provide information and data to enable an assessment of the quality of irrigation service, an enhanced system operation and to make planning decisions regarding maintenance. Therefore, the PIDs personnel should be trained to:

- Perform detailed hydraulic/sediment surveys to obtain an accurate and reliable data base for future improvement of the hydraulic design criteria for the canals.
- Properly use the conventional and more advanced hydraulic/sediment monitoring equipment.
- Successfully monitor the operation and performance of canals, through routine surveys.
- Perform laboratory analyses and evaluate and maintain field data

Currently, the PID's personnel are very lacking in training. Even the provincial hydrology divisions and/or hydrology directorates do not have trained staff. This is primarily due to two main reasons:

- 1. Frequent turn-over in the departments
- Least interest among engineers and sub-engineers to work on hydrologic/hydraulic data collection activities.

The regular canal staff is proposed to conduct the routine hydraulic survey and a special research unit is recommended for a circle office. Once trained, there is less possibility of losing this staff. This is because the canal staff will generally like to be transferred to other running canals and will carry their expertise to other systems. The research staff is generally interested in this type of assignment. Therefore, the training should be given to the regular staff operating and maintaining the canals, and the staff employed for the circle offices.

ACOP Training Program ...

As part of its agreement with the FCC, ACOP was assigned the responsibility of training the PID's personnel operating and maintaining the canals. A training plan was prepared by ACOP and is being implemented. The plan consists of two sets of training courses:

 A three-week course was designed for sub-engineers, research assistants and hydrogrphers. The course was meant to emphasize field and laboratory training, and class room lectures were restricted to field and laboratory practices and potential problems.

2. A five-week course was designed for engineers and research officers, with less emphasis on field measurements and more class room lectures to introduce more advanced knowledge of data collection, computer application, and evaluation, interpretation, and analysis of the hydraulic and sediment data.

The training courses were proposed to be held at Lahore, Faisalabad, and Multan (Punjab Province), Peshawer and Bannu (NWFP), Hyderabad and Sukkur (Sindh Province), and Quetta (Balochistan Province). The sequence of training was classroom lectures, field measurements, classroom lectures, laboratory analysis, data processing, and discussions. A seven - chapter training document also was made available to the participants.

One December 16, 1990, the ACOP field training demonstration on Pat Feeder Canal at Dera Murad Jamali (Quetta Irrigation Region) was inspected. The training documents distributed to the participants also were reviewed. The participants were subengineers from various canal divisions. The field training was well organized by Mr. Abdul Mujeeb, Senior Engineer, ACOP. However, the following observations were made on the equipment and measuring procedures.

- 1. Equipment used for the discharge and sediment measurements was quite worn-out. The sounding reel had a 0.125 inch dia meter steel cable without an inner insulated core. An extra-flexible wire was used to complete the electric circuit to count the revolution of the current meter. The use of extra wire is usually quite cumbersome for a new hydrographer.
- Locally made sounding weight and hanger bar did not indicate standard 0.6 foot distance from the bottom of the C-50 weight to the center of the current meter suspension point on the bar.
- USGS BM 54 (bed material) and USGS P61 (suspended point integrating) samplers were demonstrated. These samplers are too heavy to be used conveniently on a small boat. USGS BMH 60 (bed material) sampler should have been demonstrated. For detailed hydraulic surveys, point sampling is not required because the suspended sediment concentration data at various depth is not required for hydraulic design criteria.
- 4. Steel wire rope of 0.25-inch diameter was stretched as tagline across the canal to measure width

between selected verticals to observe depth and velocity. The rope was tagged at 5-foot intervals. Although the distances between the tags were checked before the measurement a beaded tagline should have been used.

Procedure demonstrated to measure water level required a special O - type gage with a vernier scale. This gage eliminates the wave action of flow and water level is measured accurately with a vernier scale. This type of gage is not required for the monitoring work to be undertaken by the PIDs. The gage may be useful for research projects. A wooden peg driven into the bed can provide reasonably accurate water level if distance from top of peg to water level and elevation of the top of the peg are known.

The training document is derived probably from previous publications of ACOP or directly from text books. It is a good document if intended to present general stream gaging and sediment sampling procedures for graduate engineer level. This is certainly above the general comprehension of sub-engineers and hydrographers. The terms like base line experiments, calibration experiments, special experiments, sophisticated methodology, bed shear and morphology are quite confusing for sub-engineers and hydrographers.

Data collection objectives are defined for general stream gaging and there is no reference to what is the objective of training for the canal staff and what they will be required to do. Field measurement procedures include all types of instruments and procedures which will never be used by the PIDs, for example, ice measurements, electronic gages, telemetry, etc.

Proposed Training Program

The ACOP training program will only provide an introduction on general stream gaging to a limited number of participants. Since the PIDs currently do not have the hydraulic/sediment monitoring equipment, the participants cannot practice whatever they learned. The procurement may take some time. During this period, there is a great likelihood of forgetting whatever was learned. This is particularly true because the training document is not designed specifically for the needs of the PID's personnel required to monitor the operation and performance of the canal. It does not provide step-by-step procedures for field data collection, including potential problems.

A new training program will be required for those circles and divisions which will receive the equipment. A new training document also will have to be prepared providing step-by-step instructions to conduct routine survey (to monitor operation and performance of canals) and detailed hydraulic/sediment survey,

and to evaluate, interpret and reduce the data for future use. The training program should be implemented under the supervision of a hydraulic/sediment monitoring specialist, who should also prepare the training documents.

new field training program should be limited to the methods discharge measurements, sediment sampling and morphological for monitoring observations suitable the operation performance of the canals, and for collection of hvdraulic parameters and sediment characteristics for possible revision of the hydraulic design criteria in the future. The measurement of discharge should be demonstrated by wading and boat methods, and by using calibrated control structures (regulators, weirs, broad - crested weirs and outlets). The use of staff gages (vertical or inclined) and continuous water level recorders and their installation also should be demonstrated.

Field training for sediment sampling should include use of depth integrating and bed material samplers, because only total suspended segiment concentration and particle size distribution, and particle size distribution of bed material are required for the canal design. Laboratory procedures should be demonstrated by actual analyses of total concentration and particle size distribution.

Attention of the trainees should be drawn to the field precautions to be exercised to obtain accurate and reliable data, particularly during selection of sites for staff gages/water level recorders and for discharge measuring sites, and during observations of water surface and canal bed profiles. Also potential errors in velocity and depth observations for computing canal or outlet discharges, and during sediment sampling and analysis, should be pointed out.

The training documents should be written for the purpose of educating the trainees with the field and office procedures for canal monitoring and may include:

1. Purpose of Canal Survey

Canal Discharge Suspended Sediment Bed Material Surface and Bed Profiles Cross Sectional Profiles

- General Methodology
- 3. Measurement of Canal Water Levels Staff Gage Recording Gage Gage Datum Gage Data Reduction

4. Measurement of Discharge

Main Canal Wading Boat

Calibrated Control Structures

Water Course

Wading

Portable Flumes

Outlet Geometry

Measurement of Width

Measurement of Depth

Computation of Flow Area

Measurement of Velocity

Methods of Mean Velocity Determination

- 5. Development of Stage Discharge Relationships
- 6. Procedures for Sediment Sampling
 Suspended Sediment
 Bed Material
- 7. Methods of Laboratory Analyses
- 8. Data Interpretation, Evaluation, Reduction and Compilation
- 9. Evaluation of Reliability of Water Delivery and Equity of Water Distribution.

Recommended Monitoring Program

In principle, each PID should conduct the following monitoring program. However, because of limited equipment provided to a few selected circles, the monitoring program may be confined to updating the performance listing and routine hydraulic survey. Separate report has been prepared to define the responsibilities of the selected divisions and circles under the pilot project schemes defined in this report.

Responsibility of Field Divisional Staff

- Update the performance history of canals after every five years in respect of silting, scouring, shortages, breaches, encroachments of free board, berm growth, etc.
- Make discharge measurements on canals and distributaries three or four times during the year by current meter to check the discharge tables and empirical discharge relationships of control structures. Also carry out flow measurements at headworks.
- Measure water course discharges at different flow conditions in the canals using pygmy current meters (or portable flumes if available) and compare with the discharge estimated using empirical relationships.
- 4. Based on the above data, check the reliability and equity of the canal system.
- 5. Prepare longitudinal and cross sectional profiles of the canals/distributaries/minors during the closure periods.
- Evaluate the data and classify the canals as problematic or non-problematic.
- Define remedial measure to rehabilitate the canals for submission to concerned authority.
- Properly document the basic data and results for transmission to the circle office.

Responsibility of Circle Office Staff

- Review the hydraulic data collected by divisional staff and provide technical guidance.
- Select reasonable number of problematic canal reaches and perform detailed hydraulic/sediment

survey to collect reliable data for potential revision to the existing design criteria. These surveys should be done in kharif and rabi seasons.

- Operate sediment laboratory.
- 4. Conduct longitudinal canal bed surveys using echo sounder during the period selected by the divisional engineer.
- 5. Evaluate, interpret, analyse and computerize the basic hydraulic/sediment data for future use.

TABLE 1 PUNJAB PROVINCE NUMBER OF FIELD UNITS FOR OPERATION AND MAINTENANCE OF CANAL AND DRAINAGE SYSTEMS

<u>region</u> <u>Chief</u> <u>Engineer</u>	CIRCLE SUPERINTENDING ENGINEER	<u>DIVISION</u> EXECUTIVE ENGINEER	SUB-DIVISION SDO
Multan (Multan)	L.B.D.C. Circle, Sahiwal	Sahiwal Canal, Sahiwal Balloki Headworks, Palloki Khanewal Canal. Khanewal	
	Haveli Canal Circle, Hultan	Multan Canal, Multan Trimmu Barrage, Trimmu Sujacad Canal, Multan	
	Muzaffargarn Canal, Multan	Sidhnai Barrge, A. Hakim Kot Adu Janal, Kot Adu Muzffargarh Canal, Muzaffargar Taunsa Barrage, Kot Adu	'n
	Derajat, D.G. Khan	D.G. Khan Canal, D.G. Khan Rajanpur Canal, Rajanpur	
Bahawalpur (Bahawalpur)	Bahawalpur, Bahawalpur	Bahawalpur Canal. BWP Ahmedpur Canal, R.Y. Khan	
	Rahin Yar Khan, R.Y. Khan	Panjnad Headworks, Panjnad R.Y. Khan Canal, R.Y. Khan Khanpur Danal, Khanpur	
	Halsi Canal, Huitan	Dallas Canal, R.Y. Khan Lodhran Canal, Lodhran Hailsi Syphon, Thingi Islam Headworks, Islam	
	Bahawainagar, B₩N	Hakra Canal, BWN Fordwan Canal, BWN Sadiqia Canal, BWN	
	Nili Bar, Sahiwal	Western Branch, Thingi Suleimanki Headworks, Sulemank Easter Bar Canal, Pak Pattan	i
Faisalabad (Saisalabad)	Q-B Link, Farceqabad	Badirabed Canel, Gadirabad	
	L.C.C. East, Faisalabag	R-B Link, Farooqabad Upper Bugers Canal, Sheikhupur Burala Canal, Faisalabad	3
	L.C.C. West Faisslabad	Lower Gugers Canai, Faisalabad Khanki Headworks. Khanki Faisalabad Canal, Faisalbad Jhang Canal, Jhang	
	Drainage, Faisalabad	Hafizabad Canal, Faisalabad Samundri Drain, Faisalabad F.S.L. Drain, Faisalabad	
Lahore	UCC, Lahere	Gujranwala Division, Gujranwala Sheikhupura Division, Sheikhupu Marala Headworks, Marala	ra

Table 1 (Continued)

Dilpur Canal, Lahore

Lahore Branch, Lahore Khanwah Branch, Sahiwal Kasur Branch, Kasur

Link Canal, Lahore

Chak Bandi, Lahore Pasrur, Sialkot

Drainage, Lahore

B.S-Link, Lahore

Reachna Drain, Sheikhupura Sukhrama Drain, Sahimal Lahore Drain, Drain

Sargodha (Sargodha) Drainage, Sargodha

Thai Canal, Mianwal

Sargodha Brain, Sargodha

Drain, H. Bahudin

Khushab Canal, Mianwali Lyyah Canal, Layyah Bhakkar Canal, Bhakkar Kalabagh Canal, Daud Whi

Kalabagh Canai, Daud Khel Gujrat Branch, Sujrat Jhelum Branch, Jhelum

Sargodha Branch, Sargodha Rasul Headworks, Rasul Kirana Branch, Sargodha Shahpur Branch, Sargodha

L.J.C. Sargodha

U.J.C. Jhelum

Regions = 5

Circles = 21

Divisions = 62

Sub-Divisions = 270 approximately, exact number for each division was not provided by the PID.

Noet: Table does not include the field units responsible for operation and maintenance of tubewells or maintenance of bunds.

-44

TABLE 2 PUNJAB PROVINCE TYPE AND QUANTITY OF EQUIPMENT

Quantity

Туре	Minigum <u>Operation</u> [Full <u>Operation</u>
Price Type AA Current Heter	(F) 42	124	124
Pygmy Current heter (F)	42	124	124
Wading Rods Set (L)	42	124	124
Light Duty Tagline (F)	21	62	62
Heavy Duty Tagline (F)	21	62	62
Headset (F)	42	124	124
Velocity Courter (F)	-	_	62
Stop Watch (F)	42	124	124
Rubber Chest Wader (F)	42	124	124
Hip Boots (F)	-	124	124
Boat Improvizement Set (L)	21	62	62
Sounding Real (F)	21	62	62
30-Pound Sounding Weight (L)	-	-	21
50-Pound Sounding Weight (L)	21	62	62
Hanger Bar With Pin (L)	42	124	124
Life Jacket F)	63	186	186
Fibre Glass Loat (L)	21	62	62
Sonic Sounder (F)	-	-	21
Measuring Tare (L)	21	62	6 <u>7</u>
Level With Tripod (L)	21	62	62
Levelling Staff (L)	21	62	62
Y-Rod (L)	42	124	124
Water Level Recorder (F)	-	62	124
Staff Sage (L.	300(Sites)	300(Sites)	300(Sites)
US DH-48 Sampler (L)	21	21	21
US D-74 Sampler (L)	21	21	21
US BMH 53 Sampler (F)	21	21	21
US BMH 60 Sampler (F)	21	21	21
Glass Bottles for Sampler (F)	42	42	42
Plastic Jars for Sampler (F)		42	42
V.A. Tupe Analyser (F)	21	2!	21
Pottom Withdrawai Tube (F)	42	42	42
Analytical Balance (F)	21	21	21
Electronic Balance (F)	21	21	21
Electric Oven (F)	21	21	21
Sieve Set (Fine) (F)	21	21	21
Sieve Set (Coarse) (F)	21	21	21
Sieve Brush (F)	42	42	42
Steve Lid (F)	21	21	21
Sieve Pan (F)	21	21	21
Sieve Shaker (Motorized) (F)	-	-	21
Sieve Shaker (Hand operated)		21	21
Pipetts (F)	42	42	42
Vacume Pump (F)	21	21	21
Stop Watch (L)	21	21	21



Beaker (Glass) (F)	126	126	107
		120	126
Cylinder (Glass) (F)	168	188	169
Desiccab (F)	-	-	21
Evaporating Dish (F)	420	420	420
Desicator (F)	21	21	21
Wash Bottle (F)	21	21	21
Filtering Funnel (F)	42	42	42
Stirring Rod (F)	63	63	63
Thermometer (F)	42	42	42
3-Way Stop Cock (F)	42	42	42
French Curve Set (F)	21	21	21

No. of Circles = 21

No. of Divisions = 62

F = Imported

L = Local

- Hinimum operation at circle levels
- Adequate operation at divisional and circle levels
- Full operation at divisional and circle levels with additional equipment.
- Spares not listed in this table.

TABLE 3 PUNJAB POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR MINIMUM OPERATION AT CIRCLE LEVELS

5.1	ITEM	SPECIFICATIONS	QUANTITY	<u>LNIT (</u> <u>Local</u> Rs.	ISI Dollar US\$	TOTAL Local Rs.	<u>051</u> <u>0613 a.</u> 163	SIPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Hydra	ulic Equip e ent						- 	
i.	Current Meter	Price Typs AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, assorted spare parts, and special lubricant, both for roo and cable suspension.		-	790	-	33,160	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -3922, USA (414)263-1860 Faw (414)263-5806
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated scainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suscension only.	4 2	-	630	-	26,460	Scientific Instruments Inc.
3.	Standard Wading Reds	Four 2-fost graduated rods in 0.1 fcot increments, bottom rod with base plate; an adjustable sliding support capable of holding price Type AA and Fygory current meters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other and suitable for connecting to current meter and rods. Ease place and slider made from corresion resistant material; complete set in heavy duty canvas carrying case.	42	2,100	-	98,200	- · · · · · · · · · · · · · · · · · · ·	Ahmad Enterprises I-McLeod Abad Echore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	21	-	525	-	11,025	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 500 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	21	-	590	-	12,180	Scientific Instruments Inc.
ó.	Headset	Flexible neadband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	42	-	65	-	2,730	Scientific Instruments Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batterise, housed in a rugged plastic case	-	-	165	-	-	Scientific Instruments Inc.
9.	Electronic Watch	Electronic, engited reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	42	-	70	-	2,740	Scientific Instruments Inc.
9.	Spares for Current Meters	Compatible to the selected current meters; acculd include: pivot assembly, reper screw, binding post assemble i extra screws for price - acc Fygay meters; instrument iii, cleaning cloth, two-pole innector (male and female); just at wheel assembly	5 Mesifor each item, both for Pygmy end Price AA	-	<u>-</u>	-	300	Scientific Instruments Inc.
10.	Rubber Chest Wader	1. Medium fize 2. Larçe Size	21 21	-	160 210	-	3,369 4,410	Rickly Hydrologic Company, 2710

				1001				
11.	Hip boots	1. Medium Size 2. Large Size	-	-	75 105	-	-	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat Improvize- ment Set	Boom and cross arm, USBS scandard	21	5,300	•	111,300	-	Ahmad Enterprises, Lahore
13.	Sounding Reel	USBS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "E" type connector and flexible two-conductor wire for connecting reel to headset	21		1,460	-	31,080	Scientific Instruments Inc.
14.	Sounding Height	USGS Columbus (C) type 1. 30 pounds 2. 50 pounds	- 21	790 1,300	<u>.</u>	7 726		M. Ahmad & Sons I-Brandreth Rd,
15.	Hanger Bar With Pin	USGS type for 30 and 50 pounds Columbus type wights, one fact long	4 2	250	-	27,300 10,920	-	Lahore M. Ahmad & Sons
16.	Cable Connector	USGS Type B	10	-	27	-	270	Scientific Inst. Inc.
17.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	2,100 ft.	-	6	-	12,600	Scientific Inst. Inc.
18.	Life Jacket	USGS approved model A2 Adult universal, general purpose type-II	63	-	100	-	6,300	ERO industries. Inc. Harzlehurst. GA, 31539, USA
19.	Flat Bottom Fibre Glass Boat	16 feet long and a feet wide.	21	30,000	-	630,000	-	Zamnock Company Multan Rd. Lampre.
20.	Portable Sonic Depth Recorder	Single range 0 to 50 feat; paper size 8 inches wide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100kHz; transducer frequency 100 kHz-7.5, voltage input 24 volts DC, meathertight almunium construction with mater tight connectors, plastic cover and sounting brackets.	-	-	10,500	•	-	1. Foss 600 Series Ross Laboratories Inc: 3173 Fairview Ave: Seattle. WR 98102, USA 1. 2. Raythern eries DE -719. herote Co. Int. Offerm. 194- ington. 184- 02173 USA.
21.	Spares for Sonic Depth Recorders	Most irrequently replaceable parts to be decided by the supplier consistent with model conforming to above specifications, including recorder charts.	L.S.	-	-	-	-	1. Roos describtories 2. Raytheon

22.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	21	210	-	4,410	-	Sibtain Brothers, Karachi
23.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 18 % with standard accessories	21	21,000	-	441,000	-	Sibtain Brothers.
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	21	1,260	-	26,460	-	Sibtein Brothers.
25.	Y - Rod	Standard, for measuring geometry of outlets.	42	2,500	-	105,000	-	Kotri Gaging Sub- division, Hydrol- ogy Directorate. Hyderabad
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale: chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	-	-	3,100	-	-	Leupoid and Stevens, Inc: P.O. Box 683 Beaverton, Gregon 97075 USA
27.	Spares for Mater Level Recorder	 Recorder chart Pen ink Capillary pen with lucite reservoir 4. 4.5 - month negator spring driven clock Finat tape Float Counter weight Fon Cleaner, packet 	-	-	21 9 52 770 210 95 13	-	- - - -	Leupod and Stevens
28.	Staff Gage	Special perclain ename: coated, four incree wide in 3.33-foot sections; graduates to .01 foot and marries every foot. 0.1 and .02 foo: hange: 0-7.33 ft 1.37-5.66 ft 9.77-13.33 ft	200 200 200 200 200	590 500 500 500	-	150,000 150,000 150,000 150,000	-	Kotr: Gaging Sab- dirtsion, hydroi- ogy Directorate Hyderacad. OR Phmag Enterprises, Lanore



Sediment Sampling Equipment

1.	Wading Type, Depth Integratin Suspended Sedime Hand Sampler	US DH-48 with wading rod including g three sets of spare gaskets, and nozzies of 1/8, 3/16 and 1/4 inch openings, almunium casting	21	2,100	-	44,100	-	Ahmad Enterprises. Lahore
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/8, 3/16 and 1/4 inch opennings.	21	6,800	-	142,800	-	Ahmad Enterprises
3. 4.	Piston Type Bed Material Hand Sampler	N2 BHH 23	21	-	420	-	8,920	Minnesota Fabricators, 2315 Highway Si, North St. Faul Min. 55109, USA
	Hand line Bed Material sampler	US SMH 60	21	-	1,100	-	23,100	Minnesota Fabricators.
5 .	Pint Glass Bottles	For use with CH-48, 24 per box	42	-	75	-	3,150	Minnesota Fabricators.
6.	Plastic Jar	For use with 9-74, 12 per box	1 2	-	25	-	1,050	Minnesota Fabricators.
7.	Sample Labei	For use on all bottles or Jars, self agnesive, packet	4 2	-	25	•	1,050	Minnesora Fabricators.
Labor	atory Equipment For	Sediment Analysis						24
1.	Visual Accumulation Tube sand size Analyser	V.A. tube with automatic tracer and motor (240 Volts-50 cycle); including all accessories for 120 cm tubes; sizes 2.1, 3.4, 5.0 and 7.0 mm inside diameters at lower ends.	21	-	5 , 800	-	79,800	Federal Inter- agency Sedimen- tation Project, St. Anchony Falls Hydraelic Labora- tony 1-Ind Avenue Suppriset. With soolis, Min. 250 - 280
2.	Spares for VA Tube	1. VA glass tube: 2.1 mm 2. VA glass tube: 3.4 mm 3. VA glass tube: 5.0 mm 4. VA glass tube: 7.0 mm 5. VAT Charts	21 21 21 21 21 LS	-	210 210 210 210		4,410 4,410 4,410 4,410 600	Pw i Inceragency
3.	Rottom Withdramal Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clamp.	42	-	220	-	9,2 4 0	Feopral Interagency

4.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	21	-	1,800	-	37,800	Soiltest, 86 Albrecht Dr. P.O. Box SOO4, Lake Bluff, IL. 60044- 9902 USA
5.	Electronic Balance	Capacity of 200 grams, Sensitivity	21	-	2,600	-	54,690	Solitest, IL.
ċ.	Electric Oven	Fan-Forced air circulation, temperature range upto 1000, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 707%754%724.	21	-	1,100	-	23,100	Soiltest, IL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Smiltest IL.
ī.	Sieve set (Coarse)	No. Openings 5 4.00 mm 10 2.00 mm 18 1.00 mm 25 .710 mm 35 .500 mm 45 .353 mm 60 .250 mm 120 .160 mm 170 .090 mm 230 .045 mm 325 .045 mm	21 21 21 21 21 21 21 21 21 21 21	-	58 58 58 58 58 58 56 55 56 56	-	798 799 799 798 798 798 798 798 945 1,155 1,690	Spilitest IL.
		Sieve size 5.6 mm 8.0 mm 16.0 mm 31.5 mm 53 mm 100 mm	21 21 21 21 21 21 21	-	28 28 28 28 28 38		798 798 798 798 798 798	
9.	Sieve Erush	Fine hair bristles, wooden handle.	42	-	8	-		Spiltest IL.
10.	Sieve Lid	For US Standard 3-inch sieves	21	-	i ó	-		Soiltest IL.
11.	Sieve Pan	For US Standard 3-inch sieves	21	-	!6	-		Soultest IL.

12.	Sieve Shakar (Motorized)	Motorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	-	740	-	-	Soiltest IL.
13.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	21	-	350	, -	7,350	Soiltest IL.
14.	Stop Watch	Reading to one second, Swiss/China	21	900	-	18,900	-	Annad Enterprises,
15.	Pipette	S 1						Lahore
	7 7 7 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	Pyrex glass;						Ciahan Cai 1141
		1. 25 ml capacity; tolerance + 0.06 ml	21	-	100	-	2,100	Fisher Scientific 1600 W.Slenlake
		 50 ml capacity; tolerance + 0.10 mi 	21	<u>.</u>	130	-	2,730	Ave: Itasca IL. 50143 (SA
15.	Vacuum Pump	Two series-connected electric pumps, 0.3 nm ultimate pressure in	21	-	850	-	17,850	Spiltest, IL.
		leak proof system, 1/4 HP motor, 240 volts 50 Hz.						
17.	Beaker	Purpy allers 1						
}		Pyrex glass; safe temperature limit 500C;						Sciltest, IL.
		1. 100 ml	• •					
		2. 250 mi	42 42	-	3	-	126	
		3. £00 mi	42 42	-	3 4	-	126	
18.	Cylinder	Pyrex glass graduated			•		168	•
	,	i, 100 mi						Soiltest, IL.
		2. 250 mi	42	-	12	-	504	JOI 1 12 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
		3. 500 ni	42	•	18	-	73 6	
		4. 1000 mi	42	-	22	-	924	
			42	•	32	-	1,344	
19.	D e siccab	For cooling samples in moisture- free environment, chemical resistant, high impact molded plastic; almunium shelves, removable desiscoant glass tray	-	-	700	-	. -	Spiltest, IL.
20.	Evaporating Dish	Poreclain, glazed inside, partially glazed outside,						Soritest, IL.
		1. 90 mm diameter 120 ml capacity	210	-	9	· .	1,8%	The state of the s
		2. 115 sm diameter 250 ml capacity	210	-	13	-	2,7%	
21.		For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	21	-	65	- V	1,365	Soiltest, IL.

G.

22.	Wash Bottle	Borcsilicate florence flask with special molded rubber grip containing valve system, one litre capacity	21	-	78	-	1,638	Soiltest, IL.
23,	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	42	-	69	-	3,360	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine porosity, particle retention .0025 mm, diameter 12.5 cm, packet	4 2	-	25	-	1,050	Fisher Scientific, IL.
25.	Stirring Red	Glass, 5 am diameter, 30 cm long	63	-	2	-	126	Fisher Scientific, IL.
26.	Thermometer	Range - 20 to 110C, minimum graduation one degree, length 360 um.	42	-	32	•	1,344	Fisher Scientific, IL.
27.	3-Way Stop Cock	Glass construction.	42	-	12	-	504	Fisher Scientific, IL.
29.	French Curve Set	Plastic.	21	•	100	-	2,100	Common Item.

The state of the s

Total: Rs. 2,250,390 U.S. \$ 473,628+107 freight = 520,991

TABLE 4 PUNJAB POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR ADEQUATE OPERATION AT DIVISIONAL AND CIRCLE LEVELS

S. 1	ITCH					163		
2.1	<u>IIH</u>	SELFICATIONS	<u>QUANTITY</u>	<u>UNIT</u> Locai Rs.	COST Boller US\$	TOTAL Locai Rs.	TEI Bilar EE	SEPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Hydra	ulic Equipment							
1.	Current Meier	Price Type AA (vertical axis, horizontal bucket Wheel): chrome plated stainless steel: minimum velocity = 0.1 fps and daxinum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushiched carrying case, along with a rating chart, tail fin assembly, screw driver, asserted spare parts, and special lubricant, both for rod and cable suspension.	124	-	770	-	97 , 960	Scientific Instruments Inc: 513 West Emerry, Milwaukee,Wi 53212 -3822, USA (414)263-1600 Fax (414)263-5506
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.	124	-	630		78,120	Scientific Inst. Inc.
3.	Standard Wading Rods	Four 2-foot graduated rods in 0.1 foot increments, cottem rod with base plate; an adjustable eliding support capable of holding price Type 64 and Pygmy current neters; a flemible two-corductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant naterial; complete set in heavy duty canvas carrying case.	124	2,100	-	260,400	-	Ahmad Enterorises McLeodoù Road Lahore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.		•	525	-	32,550	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 3 feet from 50 to 200 feet, every 10 feet from 500 to 500 feet and every 50 feet from 500 to 500 feet; heavy duty books on both ends for attaching to trees or other sturdy objects.	62	-	580	-	35,960	Scientific Inst. Inc.
6.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on meaning rod or from sounding reel.	124	-	65	-	8,060	Scientific Inst. Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batteries, housed in a rugged plastic case	-	-	185	-	-	Scientific Inst. Inc.
8.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	124	-	70	-	3,650	Scientific Inst. Inc.
9.	Spares for Current Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Fygny meters; instrument oil, cleaning cloth, two-pole connector imale and female); bucket wheel assembly	5 Nos.for each item, both for Pygmy and Price AA	-	-	-	300	Scientific Inst. Inc.
10.	Rubber Chest Wader	1. Medium Size 2. Large Size	62 62	-	160 210	-	9,920 13,020	Rickly Hydrologic Company, 2710

66

Table 4 (Continued)

11.	Hip boots	1. Medium Size 2. Large Size	62 62	- -	75 105	-	4,650 6,510	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat Improvize- ment Set	800m and cross arm, USSS standard	62	5,300	-	328,600	-	Anmad Enterprises, Lahore
13.	Sounding Reel	USOS A-type light duty, with a maximum load capacity of 100 pcunds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "F" type connector and flexible two-conductor wire for connecting reel to beasest	62	-	1,490	-	91,750	Scientific Instruments Inc:
14.	Sounding Weight	USSS Calumbus (C) type 1. 30 paunds 2. 50 paunds	- 62	750 1,300	- -	- 50,600	- -	M. Ahmad & Sons I-Drandreth Pd, Lahore
15.	Hanger Bar with Pin	USGS type for 30 and 50 pounds Columbus type weight, one foot long	124	260	-	32,240	-	M. Ahmad & Sons
16.	Cable Connector	USSS Type 8	62	-	27	-	1,674	Scientific Inst. Inc.
17.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	6,200 ft.	-	ó	•	37,200	Scientific Inst. Inc.
18.	Life Jacket	USSS approved model A2 Adult universal, general purpose type-ii	186	-	100	•	18,600	ERO Industries, Inc, Haralehurst, BA, 31539, USA
17.	Flat Bottom Fibre Glass Boat	16 feet long and 6 feet wide.	62	30,000	-	1,880,000	-	Zamrock Company Multan Rd. Lahore.
20.	Portable Sonic Depth Recorder	Single range 0 to 50 feet; paper size 8 inches wide and 72 feet long; paper speed i or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100KHz; transducer frequency 100KHz-7.3, voltage incut 24 volts DC, weathertight almostum construction with water that connectors, plastic cover to mounting brackets.	-	-	10,500	ji	-	1. Ross 800 Series Ross Laboratories Inc; 0133 Fairview Ave: E. Beactle, WA 93102, USA 2. 2. Raytheon Series EE -719, Marine Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Depth Recorders	Most frequently replaceable parts to be decided by the supplier consistent with speel conforming to above specifications, including recorder charts.	L.S.	-	- -	-	-	1. Ross Laboratories 2. Ravtheon.

22.	Metalic Measuring Tapa	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	6 2	210	-	13,020	-	Sibtain Brothers, Karachi
23.	Level with Triped	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	62	21,000	-	1,302,000	-	Sibtain Brothers
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	62	1,260	-	78,120	-	Sibtain Erothers
25.	Y - Rod	Standard, for measuring geometry of outlets.	124	2,500	-	310,000	· <u>-</u>	Kotri Baging Bub- division. Hydrol- ogy Directorate. Hyderabad
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 13-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set and hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	6 2	-	3,100	-	192,200	Leucola and Stavens, Inc: P.O. Box 693 Beaverton, Gregon 97075 USA
27.	Spares for Water Level Recorder	 Recorder chart Pen ink Capillary pen with lucite reservoir 4. 4.5 - month negator spring driven clock Float tape Float Counter weight Pen Cleaner, packet 	62 62 62 62 62 62 62 62	-	21 9 52 790 210 95 13	- - - - -	1,302 558 3,224 48,980 15,020 3,690 306 553	Lempoid and Stevens
28.	Staff Gage	Special porclain enamel coated, four inches wide in 3.33-foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.66 ft 6.65-9.99 ft 9.79-13.33 ·t	200 200 200 200 200	500 500 500 500	-	150,000 150,000 150,000 150,000	- - -	Notri Baging Sub- division, Hydroi- egy Directorice Hydenabad. CP Ahmad Enterchia. Lahora

Sediment Sampling Equipment

1.	Wading Type, Depth Integrating Suspended Section Hand Sampler	US DH-48 with wading rod including three sets of spare gaskets, and t nozzles of 1/8, 3/16 and 1/4 inch openings, almunium casting	21	2,100	-	44,100	-	Ahmad Enterprises, Lahore
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzies of 1/8, 3/16 and 1/4 inch opennings.	21	6,800	-	142,800	-	Ahmad Enterprises.
3.	Piston Type Bed Material Hand Sampler	US 8/H 53	21	-	420	-	8,920	Minnescta Facticators, 2315 Highway 61 North St. Paul Min. 33109, USA
4.	Hand line Bed Material sampler	US HKS 2U	21	-	1,160	-	23,100	Minnesota Fabricators
5.	Pint Glass Pottles	For use with DH-45, 24 per box	42	•	75	-	3,150	Minnescta Fabricators
ė.	Plastic Jar	For use with D-74, 12 per box	12	-	25	-	1,050	Minnoesta Fabricators
7.	Sample Label	For use on all bottles or Jars, self adhesive, packet	42	•	25	-	1,050	Minnoesta Fabricators
Labor	atory Equipment For	Sediment Analysis						
i.	Visual Accumulation Tube sand size Analyser	V.A. tube with automatic tracer and motor (24) Volte-50 cyclei; including all accessories for 120 cm tubes; sizes 2.1, 3.4, 3.0 and 7.0 mm inside diameters at lower ends.	21	-	3,800	-	79,800	Federal Inter- agency Secimen- tation Project, St. Anthony Falls Hydraulic Cabora- tory. I-Ind Avenue Sure: East. Minnascoles, Min. 35444 USA
2.	Spares for VA Tube	1. VA gl os tube: 2.1 nm 2. VA gl as tube: 3.4 nm 3. VA glass tube: 3.0 nm 4. VA glass tube: 7.0 nm 5. VAT Charts	21 21 21 21 21 LS	- - - -	210 210 210 210 -	-	4,410 4,410 4,410 4,410 600	Federal Interagency
3.	Withdrawai	Standard by St. Anthony Fails hydraulic Laboratories, including rubber tape and pinch clasp.	1 5		220	-	9,240	Federal Interagency

.91

4.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	21	-	1,600	-	37,800	Soiltest, 86 Albrecht Dr. P.O. Box 6004, Lake Bluff, IL. 60044- 9902 USA
5.	Electronic Balance	Capacity of 200 grams, Sensitivity	21	-	2,600	-	54,600	Soiltest, IL.
6.	Electric Oven	Fan-Forced air circulation, temperature range upto 1100, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30"x25"x24".	21	-	1,100	-	7.3,100	Sailtest, IL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Sage as above
		No. Openings						
	•	5 4.00 mm	21	_	38	_	755	
		10 2,00 mm	21	-	38	-	7 7 9 798	
		18 1.00 mm	21	_	3 9	_	776 778	
		25 .710 mm	21	-	38 38	-	778 798	
		35 ,500 am	21	-	39	_	7 76 798	
		45 .355 mm	21	-	38		778 778	
		60 .250 mm	21	_	58 58	_	778 798	
		90 ,190 ma	21	-	28	•	778 778	
		120 .125 mm	21	-	38	_	778 778	
		170 .090 mm	21	-	-se 45	-	778 945	
		230 .063 mm	21	-	55	-		
		325 .045 mm	21	_	90 80		1.155 1.580	
					Ç.		1,000	
8.	Sieve set (Coarse)	USA standard sieve; 8 - inch diameter, brass sieve,						Soiltest, IL.
		Sieve size						
		5.6 mm	21	_	70		757	
		5.0 2.6	21	-	38 38	-	798 798	
		16.0 mm	21	_	39	<u>.</u> .	776 778	
		31.5 mm	21	-	38 38	-	798	
		63 mm	21	_	28	-	778 798	
		100 ma	21	-	39 39	-	798	
_								
9.	Sieve Brush	Fine hair bristles, wooden handle.	42	-	ਬੋ	-	336	Smirrin, IL.
10.	Sieve Lid	For US Standard 3-inch sieves	21	•	16	• .	259	Sciltist, IL.
11.	Sieve Pan	For US Standard 3-inch sieves	21	-	16	-	228	Solitari, IL.

12.	Sieve Shakar (Motorized)	Motorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	-	740	-	-	Soiltest, IL.
13.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	21	-	350	-	7,350	Soiltest, 1L.
14.	Step Watch	Reading to one second, Swiss/China	21	900	-	18,700	-	Ahmad Enterprises, Lahore
15.	Pipette	Pyrex glass; 1. 25 ml capacity; tolerance + 0.06 ml	21	-	100	-	2,100	Fisher Scientific 1600 W.Glenlake
		2. 50 ml capacity; tolerance + 0.10 ml	21	-	130	-	2,739	Ave; Itasca IL. 60143 USA
16.	Vacuum Fump	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	21	-	65v	-	17,950	Soiltest, IL.
17.	Beaker	Pyrex glass; safe temperature limit 5000;		1.				Soiltest, IL.
		1. 100 ml 2. 250 ml 3. 600 ml	42 42 42	- -	3 3 4	- - -	126 126 169	
18.	Cylinder	Pyrex glass graduated 1. 100 ml 2. 250 ml 3. 500 ml 4. 1000 mi	42 42 42 42	-	12 16 22 32	-	504 736 924 1,344	Sailtest, IL.
19.	D es iccab	For cooling samples in moisture- free environment, chemical resistant, high impact moided plastic: almunium shelves, removable desiscoant glass tray	-	-	700	-	-	Sailtesi, IL.
20.	Evaporating Dish	Persolain, glazed inside, partially glazed outside.						Spilitest, IL.
		1. 90 mm diameter 120 ml capacity 2. 115 mm diameter	210 210	-	9 13	-	1,890 2,730	
		230 ml capacity	v		ě.C		29700	
21.	Desiccator	For cooling samples in moisture- free environment, glass construction, 125 am inside planeter and 75 mm depth to plate	21	-	65	-	1,355	Epilitest, la.

Table 4 (Continued)

22.	Wash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	21	-	78	-	1,638	Soiltest, IL.
23.	Filtering Funnel	Fyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	1 2	-	B0	-	3,350	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine perosity, particle retention .0025 mm, diameter 12.5 cm, packet	42	-	25	-	1,050	Fisher Scientific, IL.
25.	Stirring Red	Glass, 5 mm diameter, 30 cm long	63	-	2	-	125	Fisher Scientific, IL.
26.	Thersoppier	Range - 20 to 1100, minimum graduation one degree, length 300 mm.	4 2	-	32	-	1,344	Fisher Scientific, IL.
27.	3-Way Step Cock	Glass construction.	42	-	12	-	504	Fisher Ecientific, JL.
28.	French Curve Set	Plastic,	21	-	100	-	2,100	Common Item.

Total: Rs. 5,070,760 U.S. \$ 1,038,295+10% freight = 1,142,125

TABLE 5 PUNJAB POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR PILOT PROJECT

<u>S.1</u>	<u>ITEH</u>	<u>SPECIFICATIONS</u>	GUNTITY	Local Rs.	ODST Dollar US\$	<u>TOTA</u> Local Rs.	LCOST Collar CS\$	<u>SIPLIER</u>
(1)	(2)	(3)	{4}	(5)	(6)	(7)	(8)	(9)
Hydra	ulic Equipment							
1. 0	urrent Heter	Frice Type AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a fram cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, asserted spare parts, and special lubriciat, both for rod and caple suspension.	32	-	790	-	25,230	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -5822, USA (414)263-1600 Fax (414)263-5506
74	ini Current eter Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for red suspension only.	32	-	630	-	20,160	Scientific Inst. Inc.
	tandard ading Rods	Four 2-foot graduated roos in 0.1 foot increments, bottom rod with base plate: an adjustable sliping support capable of nolding price Type AA and Pygmy current meters: a flexible two-conductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and roos. Base plate and sliper made from complete set in heavy duty canvas carrying case.	32	2,100	<u>-</u>	67,200	-	Ahmad Enterprises I-McLeod Road Lahore

4. Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	32	-	525	-	16,600	Scientific Instru- ments Inc.
5. Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles: marked with brass beads every 2 feet for the first 50 feet, every 3 feet from 50 to 500 feet, every 10 feet from 50 to 500 feet and every 50 feet from 500 to 500 feet and every 50 feet from 500 to 500 feet; heavy duty hooks on both eros for straching to trees or other sturdy objects.	16	-	590		7, 280	Scientific Inst. Inc.
ó. Headse.	Flexible meadband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or free sounding reel.	32	-	65		2,080	Scientific Inst. Inc.
7. Electronic Watc	n Electronic, digital reading to 0.01 second, with a neck cord and naving easy to use finger tip control buttons.	16	-	70	-	1,120	Scientific Inst. Inc.
8. Spares for Ourrent Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Evaty reters; instrument oil, cleaning cloth, two-pole connector (male and female); bucker wheel assembly	5 Nos.for each item, both for Pygmy and Price AA	-	-	-	350	Scientific Inst. Inc.
9. Empler Chest	1. Medium Size	12		160		1 555	Dieti. Hazatasi
Ver	I. Large Size	4	-	210	**	1,920 640	Rickly Hydrologic Company, 2710 Jpyce Ave;
10. A coots	1. Medium Size	12	-	75	-	900	. ,
	2. Large Size	ţ	-	105	-	4 20	Columbus, Onio, 43211 USA
11. Boat Improvize- ment Set	Boom and cross arm, USBS standard	16	5,300	-	84,800	-	Ahmad Interprises, Lamere

Table 5 (Continued)

12. Sounding Reel	US6S A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting reel to headset	16	-	1,480	<u>-</u>	23,660	Scientific Instruments Inc;
!3. Sounding Weight	USGS Columbus (C) type 50 pounds	lė	1,300		20,800	-	M. Ahmad & Dons I-Brandreth Rd, Lahore
14. Hanger Bar with Pin	USGS type for 30 and 50 pounds Columbus type weights, one foot long	32	260	-	8,320	-	M. Ahmad & Bons
15. Cable Connector	USSS Type B	10	-	27	-	270	Scientific Inst. Inc.
lé. Scunding Cable	Elementh double conductor (inner core), 0.1 inch diameter	1,800 ft.	-	6	-	9,500	Scientifi: Inst. Inc.
17. Life Jacket	USSS approved model A2 Adult universal, general purpose type-II	32	-	100	~	3,200	ERO Industries, Inc, Haral Murst, GA, 31539, USA
18. Flat Bottom Fibre Glass Boat	16 feet long and 6 feet wide.	16	30,000	-	490,000	-	Zamrock Company Multan Rd. Lahore.
19. Metalic Measuring Tape	Length 160 feet, marked in 0.1 feet increments or in inches; housed in a case.	16	210	······································	3,350	-	Sibtain Brothers, Karachi
20. Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	15	21,000	.! -	335,000	-	Sibtain Brothers
21. Levelling Staff	Japaneso stave pole standard, 15 ft long	16	1,260	-	20,160	-	Sibtain Brothers
22. Y - Rod	Standard, for measuring geometry of cutlets.	16	2,500	-	·> 40,000		Kotri Baging Bub- division, Hydroi- ogy Eirectorate, Hyderabad
23. Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - worth negator spring driven cicck; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet	16	•	^a 3,100		47,200	Lauperd and Stavens, Inc: F.O. Bom 555 Beaverton, Eregon 97075 USA



	long with set end hooks and index bracket: 8-inch diameter float with counter weight, reversal indicator.						
24. Spares for Water Level Recorder	1. Recorder chart 2. Pen ink 3. Capillary pen with lucite reservoir 4. Pen Slavers and in	16 16 16	- - -	21 9 52	- - -	335 144 832	Leupoid & Stevens
	4. Pen Cleaner, packet	ló	-	9	-	144	
25. Staff Gage	Special perclain enamel coated, four inches wide in 3.30-foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot.						Kotri Gaging Sub- division, Hydrol- ogy Directorate Hyderabad, OR
	Range: 0-3.33 ft	100	500	-	50,000	-	Ahmad Enterprises,
	3.33-6.56 ft 6.66-7.99 ft	100	500	-	50,000	-	Lanore
	9,99-13,53 ft	100	500 500	-	50,000	-	
	7277-10200-70	100	500	-	50,000	-	
Sediment Sampling Equ	ipeent						
 Wading Type, Depth Integrating Suspended Sediment Hand Sampler 	US IM-48 with wading rod including three sets of spare gaskets, and nozzies of 1/8, 3/16 and 1/4 inch openings, almunium casting	16	2,100	-	33,500	-	Ahmad Enterprisss, Lahore
 Piston Type Bed Material Hand Sampler 	US 7/94 53	16	-	420	-	6,720	Ninnesota Fabricators, 2515 Highway 51 North St. Paul Hin. 55109, USA
3. Pint Glass Pottles	For use with DH-48, 24 per box	16	-	75	-	1,200	Minnesota Fabricators
4. Sample Label	For use on all bottles or lers, self adhesive, packet	16	-	23	-	400	Minnesota Fabricators
Laboratory Equipment F	or <u>Sediment Analysis</u>						
1. Bottom Withdrawal Tume	Standard by St. Anthony Falls hypraulic Laboratories, including rubber tape and pinch clamp.	10	<u>-</u>	220	-	2,200	Federal Inter- agency Sediment- ation Project, St. Anthony Fails Hydraulic Laboratory 2-3rd Avenue South-
							East. Minneapolis, Min. 55414 USA

2	. Amalytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.		-	1,600	-	9,000	Soiltest, 86 Albrecht Dr. P.O. Box 8004, Lake Bluff, IL. 60044- 9902 USA
3	. Electric Oven	Fan-Forced air circulation, temperature range upto 1100, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30"x25"x24".	5	-	1,100	-	5,500	Spiitest, IL.
4,	. Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Soiltest, IL.
	Sieve set (Coarse)	No.	555666666666666666666666666666666666666		38 38 38 38 38 38 38 38 38 38 38 38 38 3		190 190 190 190 190 190 190 225 275 400 190 190 190	Solitest IL.
6.	Sieve Brush	Fine hair bristles, wooden handle.	10	-	8	-	60	Soiltest IL.
7.	Sieve Lid	For US Standard 3-inch sieves	5	-	16	-	60	Soiltest IL.
8.	Siene Tag	For US Standard 3-inch sieves	5	-	16	-	B0	Soiltest IL.
9.	Siera Shaker (Hano operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	5	-	350	-	1,750	Soiltest, IL.
10.	Stop Watch	Reading to one second, Swiss/China	5	100	- -	4,500	-	Ahaad Enterprises, Lahore

11. Pipette	Pyrex glass;						F' ! D !
	 25 ml capacity; toierance + 0.06 ml 	5	-	100	-	500	Fisher Scientific 1600 W.Glenlake
	2. 50 ml capacity;	5	-	130	-	6 50	Ave; Itasca IL. 8 0143 USA
	tolerance + 0.10 ml						202 CV1 /U CON
12. Vacuum Pump	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	5	-	850	-	4,250	Soiitest, IL.
13. Beaker	Pyrex glass; safe temperature limit 500C;						Soiltest, IL.
	1. 100 ml	10	-	3	_	30	
	2. 250 mi	10	-	3 3	-	30 30	
	3. 600 ml	10	-	4	-	40	
14. Cylinder	Pyrex glass graduated						Coilton: II
	i. 100 ml	10	_	12	-	120	Soiltest, IL.
	2. 250 mi	10	-	16	-	180	
	3. 500 mi	10	-	22	_	220	
	4. 1000 mi	10	-	32	-	320 320	
15. Evaporating Dish	Poreclain, glazed inside, partially glazed outside.						Spiltest, IL.
	1. 90 mm diameter 120 ml capacity	50	-	9	-	450	
	2. 115 mm diameter 250 ml capacity	5û	-	13	• -)	6 50	
ió. Desiccater	For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	5	-	65	-	325	Spiltest, IL.
17. Wash Bottle	Perosilicate florence flask with special molder rubber grip containing valve system, one litre capacity	5	-	78	-	390	Soiltest, IL.
13. Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 cm, stem length 100 cm	10	-	80	-	âÚÛ	Fisher Scientific, L.
19. Filter Circle	Whatman, ashless filter paper, fine perosity, particle retention .0023 cm, diameter 12.5 cm, packet	10	-	25	-	250	Fisher Scientific, IL.
20. Stirring Red	Slass, 3 mm diameter, 30 cm long	10	-	2	-	20	Fisher Scientific, IL.

Table 5 (Continued)

21. Thereometer	Range - 20 to 110C, minimum graduation one degree, length 300 mm.	10	-	32	-	320 Fisher Scientific, IL.
22. 3-Way Stop Cock	Glass construction.	10	-	12	-	120 Fisher Scientific, IL.
23. French Curve Set	Flastic.	5	-	100	-	500 Common Item.

Total: Rs. 1,278,740 U.S. \$ 207,881+10% freight - 228,669

Note : Five Ci les (Sixteen divisions)

TABLE 6 SINDH PROVINCE NUMBER OF FIELD UNITS FOR OPERATION AND MAINTENANCE OF CANAL AND DRAINAGE SYSTEMS

	•		
<u>REGION</u> <u>Chief</u> <u>Engineer</u>	<u>CIRCLE</u> SUPERINTENDING ENGINEER	<u>DIVISION</u> EXECUTIVE ENGINEER	SUB-DIVISION SDO
Guddu (Sukkur)	Desert Pat Feeder, Sukkur	Guddu Barrage, Kashmore Kandhkot, Kashmore	4
	Begari Sindh Feeder, Sukkur	Begari Division, Jacoabad	3 4
	Gotki Feeder Circle, Sukkur	Begari Sinoh Feeder, Kashmore Botki Canal, Botki Mirpur Canal, Botki	3 3 3
Sukkur (Sukkur)	Barrage Gates, Sukkur Saifullan Maysi Branch, Larkana	Sukkur Barrage, Sukkur Magsi Canal, Shadad Kot Wara Canal, Larkana	3 3 3
	Western Sindh, Larkana	Kirtar Canal, Shadad Kot Rice Canal, Larkana Dac: Horth Canal, Larkana	3 4 5
	Rohri Canai, Hyderabad	Dadu South Canal, Larkana Rohri Canal, Moro Nasrat Canal, Mawabshah	8 8
		Dad Canal, Nawaosnah Nasir Canal, Hyderabad Hala Canal, Hyderabad	3 4 5
	Khairpur Irrigation, Sukkur	Khairpur East Canal, Khairpur Khairpur West Canal, Khairpur	4
	Nara Canal, Hyderabad	Thar Canal, Hirpur Khas Hithrac Canal, Hirpur Khas Jamrac Canal, Hirpur Khas	4 5 5
Kotri (Hyderabad)	Baghar Canal, Hyderabad	Kotri Barrage, Jamehoro Khair: Pagnar Lanal, Thatta	4 6
	Pinyari Canal, Hyderabad	Sakro Canal, Mirpur Sakro Upper Pinyari Canal, Hyderabad	4 2
	left Bank, Hyderabad	Lower Pinyari Canal, Sujawal Fulili Canal, Hyderabad Akramwan Canal, Tendo H. Khan	† 1
	Lower Sindh brain, Hyderabad	Emi Canal Eujawai Drain, Sujawai Ludo M. Khan Prain, T.M. Khan Luatta Erain, Thatta	3 5 5 4
Irrigation Development (Hyderabad)	Survey and west., Sukkur Scarp Khairpur, Khairpur Scarp Sukkur, Sukkur	Field Irrigation I, Hyderabad Field Irrigation II, Hyderabad Khairpur Drain, Khairpur Shikarpur Drain, Shikarpur	3 2 4 3
		Larvena Brain, Larkana	3

Regions = 4

Circles = 16

Divisions = 39

Sub-Divisions = 153

Note: Table does not include the field units responsible for operation and maintenance of tubewells or maintenance of bunds.

.11

TABLE 7 SINDH PROVINCE TYPE AND QUANTITY OF EQUIPMENT

Quantity

Туре	Minimum Operation	Adequate Operation	Full Operation
Price Type AA Current Meter (F) 32	78	70
PYgmy Current Meter (F)	32	78 78	78
Wading Rods Set (L)	32	78	78 78
Light Duty Tagline (F)	16	76 39	78
Heavy Duty Tagline (F)	16	37 39	39
Headset (F)	32	37 78	39 39
Velocity Counter (F)	-	-	78 75
Stop Watch (F)	32	78	39 30
Rubber Chest Wader (F)	32	78 78	78 75
Hip Boots (F)	-	78 78	78 75
Boat Improvizement Set (L)	16	76 39	78
Sounding Reel (F)	16	3 <i>7</i> 39	39 39
30-Pound Sounding Weight (L)	-	-	37 39
59-Pound Sounding Weicht (L)	16	39	39 39
manger Bar With Pin (L)	32	78	37 78
Life Jacket (F)	48	120	76 120
Fibre Glass Boat (L)	16	39	120 39
Sonic Sounder (F)	-	-	34 16
Heasuring Tape (L)	16	39	3 9
Level With Tripod (L)	16	3 9	39
Levelling Staff (L)	ĺó	3 9	39
Y-Rod (L)	32	78	37 78
Water Level Recorder (F)	_	39	76 78
Staff Bage (L)	200(Sites) 200(Sites)	70
US DH-48 Sampler (L)	16	16	16
US D-74 Sampler (L)	16	ló	16
US BAH 33 Sampler (F)	16	16	16
US BHH où Sampier (F)	16	16	16
Glass Bottles for Sampler (F)	32	32	32
Fiastic Jars for Sampler (F)	32	32	52 52
V.A. Tube Analyser (F)	16	16	16
Bortom Witnerswal Tube (F)	32	32	32
Analytical Balance (F)	16	16	16
Electronic Balance (F)	16	16	íż
i.ectric Oven (F)	iá	1á	16
Sieve Set (Fine) (F)	16	íò	16
Sieve Set (Doarse) (F)	16	16	1ė
Sieve Brush (F)	32	32	52
Sieve Lid (F) Sieve Pan (F)	16	lá	16
	16	lė	16
Sieve Shaker (Motorized) (F)	-	-	16
Sieve Shaker (Hand operated) (F) Pipette (F)		16	16
ripette (F) Vacune Pump (F)	32	32	32
Stop Hatch (L)	16	16	15
erap matth tt/	16	16	16

Table 7 (Continued)

Beaker (Glass) (F)	96	96	96
Cylinder (Glass) (F)	128	128	128
Desiccab (F)	-	-	16
Evaporating Dish (F)	320	320	320
Desicator (F)	16	16	16
Wash Bottle (F)	16	16	ió
Filteri: Funnel (F)	32	32	32
Stirring Rod (F)	32	32	32
Thermometer (F)	32	32	32
3-Way Stop Cock (F)	32	32	32
French Curve Set (F)	16	16	16

No. of Circles = 16

No. of Divisions = 39

F = Imported

L = Locai

- Minimum operation at circle levels
- Adequate operation at divisional and circle levels
- Full operation at divisional and circle levels with additional equipment.
- Spares are not included in the list.

TABLE 8 SINDH POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR MINIMUM OPERATION AT CIRCLE LEVEL

S.#	ITEN	SPECIFICATIONS	Otto:					
		2 CTLICHING	RUMNTITY	Local Rs.	UST Dollar US\$	TOTAL COS Local Rs.	<u>Dollar</u> US\$	<u>PFLIER</u>
(I) 	{2}	(3)	(4)	(5)	(6)	(7)	(8)	(9)
lydra	ulic Equipment							
1.	Current Heter	Price Type AA (vertical axis, horizontal bucket Wheel); corome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, asserted spare parts, and special lubricant, both for rod and cable suspension.	32	-	7 9 0	-	25 , 250	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -3522, USA (414)263-1600 Fax (414)263-5506
2.	Hini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .v5 ips and maximum velocity = 3.0 ips; furnished complete in a form cushioned carrying case with assorted spare parts, a rating chart and lubricant: for rod suspension only.	32	-	630	· <u>·</u>	20,160	Scientific Isnt. In
	Standard Wading Rods	Four 2-feot graduated rods in 0.1 feot increments, edited red with base plate; an adjustable sliding support capable of holding price Type AA and Pygmy current meters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.	32	2,100	-	67,200	-	Ahmad Enterprises I-Mcieco Road Lahore

Table 8 (Continued)

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	16	-	525	-	8,460	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 300 feet and every 50 feet from 300 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	lá	-	590	-	9,280	Scientific Inst. Inc.
ć.	Headset	Flexible headband, built in comparizent for dry cell baltery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on mading rod or from sounding reel.	32	-	65	-,	2,080	Scientific Inst. Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batteries, housed in a rugged plastic case	-	-	185	-	-	Scientific Inst. Inc.
8.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	32	<u>-</u>	70	-	2,240	Scientific Inst. Inc.
Ş.	Spares for Current Meters	Compatible to the selected current meters: should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Pygay meters; instrument oil, cleaning cloth, two-pole connector (male and female); bucket wheel assembly	5 Nos.for each item, both for Pygmy and Price AA	-	-	-	250	Scientific Inst. Inc.
10.	Rubber Chest Wader	1. Medium Size 2. Large Size	16 16	-	160 210	-	2,550 3,3 6 0	Rickly Hydrologic Company, 2710



Table 8 (Continued)

		· -	1001161	nueu/				
11.	Hip boots	1. Medium Size 2. Large Size	-	-	75 105	-	-	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat Improvize- ment Set	Boom and cross arm, USGS standard	16	5,300	-	84,800	-	Fhæad Enterprises, Lihore
13.	Sounding Reel	USGS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting reel to measser	16	-	1,460	-	23,660	Scientific Instruments Inc;
14.	Sounding Weight	USOS Columbus (C) type 1. 30 pounds 2. 50 pounds	- 16	790 1,300	-	- 20,800	-	H. Ahmad & Sons I-Brandreth Ad, Lahora
15.	Hanger Bar with Pin	USGS type for 30 and 50 pounds Columbus type weight, one foot long	32	260	-	8,320	-	M. Ahmad & Sons
lė.	Cable Connector	USSS Type B	9	-	27	-	216	Scientific Inst. Inc.
17.	Sounding Cable	Fiswarth double conductor (inner core), 0.1 inch diameter	1,600 ft	-	ó	•	7,600	Scientific Inst; Inc.
18.	Life Jacket	USGS approved model A2 Adult universal, general purpose type-il	48	-	100	-	4,800 G	ERO Industries, Inc, Harziehurst, A, 31539, USA
19.	Flat Bottom Fibre Glass Boat	lé feet long and é feet wide.	ló	30,000	-	490,000	-	Zamrock Company Hultan Rd. Lahore.
20.	Portable Sonic Depth Recorder	Single range 0 to 50 feet; paper size 8 inches wide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100KHz; transducer frequency 100 KHz-7.5, voltage input 24 voits DC, weathertight almunium construction with water tight connectors, plastic cover and mounting brackets.	-	-	16,500		-	1. Ross GCO Series Ross Laboratories Inc: 3130 Fairview Ave; Seattle, WA 98102. USA 2. 2. Raytheon Series GE -719, Marine Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Depth Recorders	Most frequently replaceable parts to be decided by the supplier consistent with model conforming to above specifications, including recorder charts.	i.S.	-	-	-	-	1. Ross Laboratories 2. Raytheon

Table 8 (Continued)

M 1 11							
Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	16	210	•	3,360	-	Sibtain Brothers, Karachi
Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	16	21,000	-	336,000	-	Sibtain Brothers
Levalling Staff	Japanese stave pole standard, 15 ft long	16	1,260	-	20,160	-	Sibtain Brothers
Y - Rod	Standard, for measuring geometry of cutlets.	32	2,500	-	B0,000	-	Kotri Gaging Sub- division, Hydrol- ogy Directorate, Hyderabad
Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	-	-	3,160	-	-	Leupold and Stevens, Inc; P.O. Box 688 Beaverton, Gregon 97075 USA
Spares for Water Level Recorder	 Recorder chart Fen ink Capillary pen with lucite reservoir 4.5 - month negator spring driven clock Float tape Float Counter weight Fen Cleaner, packet 	-	-	21 9 52 770 210 95 13	-	-	Leupold & Stevens
Staff Gage	Special porclain enamel coated, four inches wide in 3.33-feet sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.66 ft 6.66-9.99 ft 9.99-13.33 ft	200 200 200 200	500 500 500 500	- - -	100,000 100,000 100,000 100,000		Kotri Baging Sub- division, Hydroi- ogy Directorate Hyderabad. GR Ahmad Enterprises, Lahore
	Level with Tripod Lettiing Staff Y - Rod Water Level Recorder Spares for Water Level Recorder	Measuring increments or in inches; housed in a case. Level with Topcon (Japan) automatic leveiling, magnification 20 % with standard accessories Lewel with Topcon (Japan) automatic leveiling, magnification 20 % with standard accessories Lewel with Topcon (Japan) automatic leveiling, magnification 20 % with standard accessories Lewel with Standard, for measuring geometry of cutlets. Water Level Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator. Spares for 1. Recorder chart 2. Fen ink Recorder 3. Capillary pen with lucite reservoir 4.4.5 - month negator spring driven clock 5. Float tape 6. float 7. Counter weight 8. Fen Cleaner, packet Staff Gage Special porciain ename: coated, four inches wide in 3.33-foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.66 ft 6.66-9.99 ft	Measuring increments or in inches; housed in a case. Level with Topcon (Japan) automatic leveiling, application 20 % with standard accessories Leveling Japanese stave pole standard, 15 ft long Y - Rod Standard, for measuring geometry of outlets. Mater Level Stevens A-71; English units with recorder lié gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 23 yard long; 4.5 - month negator spring driven clock; 18-long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator. Spares for 1. Recorder chart 2. Fen ink Recorder 3. Capillary pen with lucite reservoir 4. 4.5 - month negator spring driven clock 5. Float tape 6. Float 7. Counter weight 6. Fen Cleaner, packet 7. Counter weight 7. Counter weight 8. Fen Cleaner, packet 7. Counter weight 9. Fen Cleaner, packet 9. Sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. 8. Range: 0-3.33 ft 9. Counter weight 9. Counter we	Measuring increeents or in inches; housed in a case. Level with Topcon (Japan) autosatic levelling, agnification 20 % with standard accessories Lewelling Japanese stave pole standard, 15 ft 16 1,260 long Y - Rod Standard, for measuring geometry of outlets. Mater Level Stevens A-71; English units with anche per day; chart in inches wide and 25 yere long; 4.5 - month negator spring driven clock; 18-inch diameter float with counter weight, reversal indicator. Spares for 1. Recorder chart speed 2.4 inches per day; chart lot inches bracket; 8-inch diameter float with counter weight, reversal indicator. Spares for 1. Recorder chart	Heasuring increents or in inches; housed in a case. Level with Topcon (Japan) automatic levelling, 16 21,000 - eagnification 20 % with standard accessories Lev.iling Japanese stave pole standard, 15 ft 16 1,260 - long Y - Rod Standard, for measuring geometry of 32 2,500 - outlets. Hater Level Stevens A-71; English units with 3,100 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 19-inch circumsterence pulley for perforated tape; stainless steel grammated, perforated tape 50 feet long with set end hooks and indicator. Spares for 1. Recorder chart 2. Fen ink - 9 Grammated tape 50 feet long with set end hooks and indicator. Spares for 1. Recorder chart - 21 Mater Level 2. Fen ink - 9 Grammated tape 50 feet long with set end hooks and indicator. Spares for 1. Recorder chart - 21 A.5 - month negator spring driven clock - 9 Grammated tape 50 feet long with set end hooks and indicator. Spares for 1. Recorder chart - 21 A.5 - month negator spring driven clock - 9 Grammated tape 50 feet long with set end hooks and indicator. Spares for 1. Recorder chart - 21 A.5 - month negator spring driven clock - 9 Grammated to .00 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 100 500 - 100 50	Neasuring increents or in inches, housed in a case.	Measuring Increements or in inches; housed in Tape a case.

Table 8 (Continued)

Sediment Sampling Equipment

1.	Undian Ton							
1.	Wading Type, Depth Integrating Suspended Sedimen Hand Sampler	US DH-48 with mading rod including three sets of spare gaskets, and tozzles of 1/8, 3/16 and 1/4 inch openings, almunium casting	16	2,100	-	33,600	-	Ahmad Enterprises, Lahore
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/8, 3/16 and 1/4 inch opennings.	16	6,800	-	109,500	-	Same as above
3.	Piston Type Bed Material Hand Sampler	ng ehh 22	16	-	420	-	6,72 0	Minnesota Fabricators, 2515 Highway bi North St. Paul Min. 55109, USA
4. -	Hand line Ped Material sampler	US BHH 60	16	-	1,100	-	17,800	Minnesota Fabricators
5.	Pint Glass Bottles	For use with DH-48, 24 per box	32	-	75	-	2,400	Minnesota Fabricators
ó.	Plastic Jar	For use with 0-74, 12 per box	32	-	25	•	800	Minnesota Fabricators
7.	Sample Labei	For use on all bottles or Jars, self adhesive, packet	32	-	25	-	600	Minnesota Fabricators
Labora	ntory Equipment For	<u>Sediment Analysis</u>						
1.	Visual Accumulation Tube sand size Analyser	V.A. tube with automatic tracer and motor (240 Volts-50 cycle); including all accessories for 120 cm tubes; sizes 2.1, 3.4, 5.0 and 7.0 cm inside diameters at lower ends.	16	-	3,800	-	50,800	Federal Inter- agency Secimen- tation Project, St. Anthony Falls Hydraulic Labora- tery, Z-3rd Avenue South-East. Minneapolis, Min. 55414 USA
2.	Spares for VA Tube	1. VA glass to 2.1 mm 2. VA glass tube: 3.4 mm 3. VA glass tube: 5.0 mm 4. VA glass tube: 7.0 mm 5. VAT Charts	16 16 16 16 LS	-	210 210 210 210	- - - -	3,360 3,360 3,360 3,360 500	Feceral Interagency
3.	Bottoe Withdramal Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clasp.	32	-	220	-	7,040	Federal Interagency



		1001	re o icont	inueo)				
4.	• Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.		-	1,800	-	28,800	Soiltest, 86 Albrecht Dr. P.O. Box 8004, Lake Bluff, IL. 60044- 9902 USA
5.	Electronic Balance	Capacity of 200 grams, Sensitivity	16	-	2,500	-	41,600	Soiltest, IL.
6.	Electric Gven	Fan-Forced air circulation, temperature range upto 110C, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 50°×25°×24°.	16	-	1,100	-	17,600	Soiltest, iL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Soiltest, Il.
ŧ.	Sieve set (Coarse)	No. Openings 5	16 16 16 16 16 16 16	-	38 38 38 38 38 38 38 39 45 55 60	-	608 608 608 608 608 608 608 720 880	Soultest, II.
		Sieve size 5.6 nm 6.0 nm 16.0 nm 31.5 nm 63	16 16 16 16 16		39 39 39 39	-	603 803 603 603 803	,
9.	Sieve Brush	Fine hair bristles, wooden handle.	32	-	9	-	608 256	Soiltest, Il.
10.	Sieve Lid	For US Standard 3-inch sieves	16	-	16	-		Soiltest, II.
ii.	Sieve Pan	For US Standard 3-inch sieves	16	-	lá	-		Soiltest, Il.

Table 8 (continued)

12.	Sieve Shakar (Motorized)	Motorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	-	740	-	-	Soiltest, II.
13.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	16	-	350	-	5,600	Sailtest, Il.
14.	Step Watch	Reading to one second, Swiss/China	16	700	-	14,400	-	Áhoad Enterprises,
15.	Pipette	Pyrex glass;						Lahore
		1. 25 ml capacity; tolerance + 0.06 ml	16	-	100	-	1,600	Fisher Scientific 1600 W.Glenlake
		2.50 mi capacity; tolerance + 0.10 mi	16	-	130	-	2,080	Ave; Itasca IL. 60143 USA
16.	Vасиия Ри м р	Two series-connected electric pumps, 0.3 cm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	16	-	850	-	13,600	Spiltest, IL.
i7 .	Beaker	Pyrex glass; safe temperature limit 500C;						Spiltest, IL.
		1. 100 ml	70					
		2. 250 mi	32 32	-	2	-	76	
		3. 600 ml	32 32	-	3 4	-	96 128	
18.	Cylinder	Pyrex glass graduated					120	
		1. 100 mi	32		10			Soiltest, IL.
		2. 250 mi	32	-	12 15	-	394	
		3. 500 mi	32	_	22	-	576	
		4. 1000 ai	32	-	32 32	-	704	
19.	Desiccab	F			V2	•	1,024	
		For cooling samples in moisture- free environment, chemical resistant, high impact molded plastic; almunium sheives, removable desiscoant glass tray	-	-	700	-	-	Soiltest, IL.
20.	Evaporating Dish	Porsclain, glazed inside, partially glazed outside.						Sailtest, iL.
		3. 90 mm diameter 120 mi capacity	160	-	7	-	1,440	
		2. 115 mm diameter 250 mi capacity	160	-	13	-	2,080	
21.		For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	16	-	<i>5</i> 5	-	1,040	Sciltest, IL.

Table 8 (Continued)

22. Wash Bottle Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity 23. Filtering Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm 24. Filter Circle Whatnan, ashless filter paper, fine porosity, particle retention .0005 mm, diameter 12.5 cm, packet 25. Stirring Rod Slass, 5 me diameter, 30 cm long 32 - 2 - 64 Fisher Scientific, IL. mm, diameter 12.5 cm, packet 26. Thereometer Range - 20 to 110C, minimum graduation one degree, length 300 mm. 27. 3-Way Stop Dock Glass construction. 32 - 12 - 394 Fisher Scientific, IL. mm. 28. French Curve Set Plastic. 16 - 100 - 1,600 Common litem.									
Funnel to reduce chipping, top diameter 127 mm, stem length 100 mm 24. Filter Circle Whatman, achiess filter paper, fine porrosity, particle retention .0005 mm, diameter 12.5 cm, packet 25. Stirring Red Glass, 5 mm diameter, 30 cm long 32 - 2 - 64 Fisher Scientific, IL. 26. Thermometer Range - 20 to 110C, minimum graduation one degree, length 300 mm. 27. 3-Way Stop Cock Glass construction. 32 - 12 - 394 Fisher Scientific, IL.	22.	Wash Bottle	special molded rubber grip containing valve system, one litre	16	-	76	-	1,248	Soiltest, IL.
perosity, particle retention .6055 mm, diameter 12.5 cm, packet 25. Stirring Rod Blass, 5 mm diameter, 30 cm long 32 - 2 - 64 Fisher Scientific, IL. 26. Thermometer Range - 20 to 110C, minimum 32 - 32 - 1,024 Fisher Scientific, IL. 27. 3-Way Stop Cock Glass construction. 32 - 12 - 394 Fisher Scientific, IL.	23.		to reduce chipping, too diameter	32	-	80	-	2,560	Fisher Scittific, IL.
26. Thermometer Range - 20 to 110C, minimum 32 - 32 - 1,024 Fisher Scientific, IL. 27. 3-Way Stop Cock Glass construction. 32 - 12 - 394 Fisher Scientific, IL. 28. French Curve Set Plastic. 16 - 100	24.	Filter Circle	porosity, particle retention 10095	32	-	25	-	800	Fisher Scientific, IL.
26. Thermometer Range - 20 to 110C, minimum 32 - 32 - 1,024 Fisher Scientific, IL. graduation one degree, length 300 mm. 27. 3-Way Stop Cock Glass construction. 32 - 12 - 394 Fisher Scientific, IL. 28. French Curve Set Plastic.	25.	Stirring Red	Blass, 5 mm diameter, 30 cm long	32	-	2	_	. •	
graduation one degree, length 300 27. 3-Way Stop Cock Glass construction. 32 - 1,024 Fisher Scientific, IL. 28. French Curve Set Plastic. 30 - 1004 Fisher Scientific, IL.	26.	Thermometer	Pance On the state			4	_	54	Fisher Sciencific, IL.
28. French Curve Set Plastic. 16 - 100			graduation one degree, length 300	32	•	32	-	1,024	Fisher Scientific, IL.
28. French Curve Set Plastic.	27.	3-Way Stop Cock	Glass construction.	32	_	12			
16 - 100	28.	French Curve Set	Di sati a			12	-	394	Fisher Scientific, IL.
		and the det	riabili.	16	-	100	-	1,600	

Total: Rs.

Rs. 1,657,000 U.S. \$ 360,902+107 freight = 396,992

TABLE 9 SINDH POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR ADEQUATE OPERATION AT DIVISIONAL AND CIRCLE LEVELS

<u>S.1</u>	ITEM	SPECIFICATIONS	<u>WANTITY</u>	UNITO Locai Ns.	UST Doilar US\$	TOTAL Local Rs.	Dollar US\$	SIPPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Hydra	wlic Equipment							
i.	Current Heter	Price Type AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 ips and maximum velocity = 20.0 ips; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail in assembly, screw driver, asserted spare parts, and special lubricant, both for rod and cable suspension.	78	•	750	-	61,620	Scientific Instruments Inc; 518 West Cherry, Ailwaukee,Wi 53212 -3822, USA (414)263-1600 Fax (414)263-5506
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.	79	<u>i</u> i	630	-	47,140	Scientific Inst. Inc.
3.	Standard Wading Reds	Four 2-foot graduated rods in 0.1 foot increments, oction red with base plate; an adjustable sliding support capable of holding price Type AA and Pygmy current meters; a flexible two-conductor wire with one end having two-noie conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corresion resistant material; complete set in heavy duty canvas carrying case.	78	2,100	-	163,800	-	Ahmad Enterprises I-Mcleod Road Lahore

Table 9 (Continued)

4.	Light Duty Taglisse	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	39	-	525	- .	20,475	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; warked with brass beads every 2 feet for the first 30 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 500 feet and every 50 feet from 300 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	24	-	580	-	22,620	Scientific Inst. Inc.
ó.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	78		65	- 	5,070	Scientific Inst. Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batteries, housed in a rugged plastic case	-	• ·	185	- .	-	Scientific Inst. Inc.
8.	Electronic Hatch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	78	-	70	-	5,460	Scientific Inst. Inc.
9.	Spares for Ourrent Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Pygmy meters; instrument oil, cleaning cloth, two-pole connector (maie and female); bucket wheel assembly	5 Mes.for secn item, i.e.o for Flamy and Frice AA			-	250	Scientific Inst. Inc.
10.	Rubber Chest Wader	1. Hedium Size 2. Large Size	39 39	-	160 210	-	6,240 8,190	Rickly Hydrologic Company, 2710

Table 9 (Continued)

		1201	- 7 ILUNEIN	n6a)				
11.	Hip boots	1. Medium Size 2. Large Size	39 39	-	75 105	-	2,925 4,095	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat improvize- ment Set	Room and cross arm, USGS standard	39	5,300	-	206,700	-	Ahmad Enterprises, Lahore
13.	Sounding Reel	USOS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "Pa" type connector and flexible two-conductor wire for connecting reel to headset	39	-	1,450	-	57,720	Scientific Instruments Inc;
14.	Sounding Weight	USBS Columbus (C) type 1. 30 pounds 2. 50 pounds	- 39	790 1,300	-	- 50,700	-	M. Ahmad & Sons I-Brandreth Rd, Lahore
15.	Hanger Bar with Pin	USGS type for 30 and 50 Pounds Colombus type weights,one foot long	78	260	-	20,290	-	M. Ahmad & Sons
16.	Cable Connector	USSS Type B	39	-	27	-	1,053	Scientific Inst; Inc.
17.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	3,900 ft.	-	á	-	23,400	Scientific Inst; Inc.
18.	Life Jacket	USGS approved model A2 Adult universal, general purpose type-[]	120	-	100	-	12,000	ERO Industries, Inc, Harzlahurst, GA, 31539, USA
19.	Flat Bottom Fibre Glass Boat	ió feet long and ó feet wide.	39	30,000	-	1,170,600	-	Zasrock Company Kuitan Rd. Lahore,
20 <i>.</i>	Portable Somic Depth Recorder	Single range 0 to 50 feet; paper size 8 inches wide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100kHz; transducer frequency 100 kHz-7.5, voltage input 24 volts 60, meathertight almunium construction with water tight connectors, plastic cover and mounting brackets.	-	-	10,500	-	-	1. Ross 800 Series Ross Laboratories Inc: 3138 Fairview Ave; E. Seattle, WA 18102, USA 2. 2. Raytheon Series DE -719, Marina Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Depth Recorders	Most frequently replaceable parts to be decided by the supplier consistent with model conforming to above specifications, including recorder charts.	L.S.	-	-	. - '	-	1. Ross Laboratories 2. Raytheon

Table 9 (Continued)

22.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	39	210	-	8,190	-	Sibtain Brothers, Karachi
23.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	39	21,000	**	819,000	-	Sibtain Brothers
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	39	1,260	-	49,140	-	Sibtain Brothers
25.	Y - Rod	Standard, for measuring geometry of outlets.	78	195,000	-	200,000	-	Kotri Gaging Sub- division, Hydrol- ogy Directorate, Hyderabad
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	39	-	3,100	-	120,900	Leupold and Stevens, Inc; P.D. Box 698 Beaverton, Gregon 97075 USA
27,	Spares for Water Level Recorder	 Recorder chart Pen ink Capillary pen with lucite reservoir 4. 4.5 - month negator spring driven clock Float tape Float Counter weight Pen Cleaner, packet 	39 39 39 39 39 39 39 39	-	21 9 52 790 210 95 13 9	-	819 351 2,028 30,810 8,190 3,705 507 351	Leupoid & Stevens
28.	Staff Bage	Special porclain enamel coated, four inches wice in 3.33-4cct sections; graculated to .01 foot marked every foot, 0.1 and 1 foot. hange: 0-3.33 ft 3.33-6.66 ft 6.66-9.99 ft 9.99-13.33 ft	200 200 200 200	500 500 500 500	- - -	160,600 160,000 160,000 160,000		Kotri Baging Sub- division, Hydroi- ogy Directorate Hyderabad. OR Ahmad Enterprises, Lahore

Sediment Sampling Equipment

i.	Wading Type, Depth Integrating Suspended Sediment Hand Sampler	US DH-48 with wading rod including three sets of spare gaskets, and nozzles of 1/8, 3/16 and 1/4 inch openings, aleunium casting	16	2,100	-	33,600	-	Ahmad Enterprises, Lahore
2.	Reei Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/8, 3/16 and 1/4 inch opennings.	16	6,800	-	109,600	-	Ahmad Enterprises
3.	Piston Type Bed Material Hand Sampler	US 89H 53	16	-	42 0	-	3,720	Minnesota Fatricators, 2519 Highway 61 North St. Paul Min. 55109, USA
1 .	Hand line Red Haterial sampler	US RHH 60	16	-	1,100	•	17,600	Minnesota Faoricators
5.	Pint Glass Bottles	For use with DH-48, 24 per box	32	-	75	•	2,400	Minnesota Fabricators
ό.	Plastic jar	For use with 0-74, 12 per box	32	-	25	-	800	Minnesota Fabricators
7.	Sample Label	For use on all bottles or Jars, self admesive, packet	32	-	20	-	640	Minnesota Fabricators
Labora	tory Equipment For	<u>Sediment Analysis</u>						
1.	Visuai Accusulation Tube sand size Analyser	V.A. tube with automatic tracer and motor (240 Volts-50 cycle); including all accessories for 120 cm tubes; sizes 2.1, 3.4, 3.0 and 7.0 mm inside dilaeters at lower ends.	16	-	3,890	-	60,800	Federal Inter- agency Sedimen- tation Project, St. Anthony Fails Hydraulic Labora- cory, 2-3rd Avenue South-East. Minneapolis, Min. 55414 USA
2.	Spares for VA Tube	1. VA glass tube: 2.1 mm 2. VA glass tube: 3.4 cm 3. VA glass tube: 5.0 mm 4. VA glass tube: 7.0 mm 5. VAT Charts	16 16 16 16 LS		210 210 210 210		3,360 3,360 3,360 3,360 500	Federal Interagency
3.	Bottom Withdramal Tube	Standard by St. Anthony Fails Hydraulic Laboratories, including rubber tape and winch clamp.	32	-	220	-	7,040	Federal Interagency

Table 9 (Continues)

			, toplici	mues/				
4.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	16	-	1,600	-	28,800	Soiltest, 66 Albrecht Dr. P.O. Box 8004, Lake Bluff, IL. 60044- 7902 USA
5.	Electronic Balance	Capacity of 200 grass, Sensitivity	16	-	2,600	-	41,600	Soiltest, IL.
á.	Electric Oven	Fan-Forced air circulation, temperature range upto 110C, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30"x25"x24".	16	-	1,000	-	17,600	Spiltest, IL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Sailtest; Il.
Ŷ.	Sieve set	No. Openings 5	16 16 16 16 16 16 16 16 16 16		38 8 8 8 8 8 8 8 5 5 8 8	-	608 608 608 608 608 608 608 720 880 1,280	
	(Coar <u>se)</u>	Sieve size 5.6 mm 60 mm 16 0 mm 15 0 mm 63 mm 160 mm	16 16 16 16 16	- - - -	38 38 38 38 38	-	503 603 603 603 603 803	Soiltest, II.
9.	Sieve Brush	Fine nair bristles, wooden handle.	32	-	8	-	251	Smiltest, II.
10. !!.	Sieve Lid	For US Standard 3-inch sieves	16	-	۱á	-	256	Soiltest, II.
41.	Sieve Pan	For US Standard 3-inch sieves	lá	-	16	-	256	Sailtest, II.

Table 9 (continued)

12.	Sieve Shakar (Motorized)	Motorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	•	740	-	-	Soiltest, Il.
13.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	16	-	350	-	5,690	Soiltest, II.
14.	Stop Watch	Reading to one second, Swiss/China	16	900	-	14,400	•	Ahmad Enterprises, Lahore
15.	Pipette	Pyrex glass; 1. 25 ml capacity; tolerance + 0.06 ml	16	-	100	-	1,600	Fisher Scientific 1600 W.Gleniako
		<pre>2. 50 ml capacity; tolerance + 0.10 ml</pre>	16	-	130	-	2,080	Ave; Itasca IL. 60143 USA
16.	Vacuum Pump	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	16	-	850	-	13,600	Soiltest, IL.
17.	Beaker	Pyrex glass; safe temperature limit 5000;						Soiltest, IL.
		1. 160 ml 2. 250 ml 3. 600 ml	32 32 32	-	3 3 4	-	76 96 128	
18.	Cylinder	Pyrex glass graduated 1. 100 mi 2. 250 mi 3. 500 mi 4. 1000 mi	32 32 32 32	- - -	12 18 22 32	- - -	384 576 704 1,024	Soiltest, IL.
19.	<i>De</i> siccab	For cooling samples in moisture- free environment, chemical resistant, high impact moided plastic: alcunium shelves, removable desiscoant glass tray	-	-	700	-	-	Soiltest, IL.
20.	U4.21,	Poreclain, glazed inside, partially glazed outside. 1. 90 mm diameter 120 ml capacity	160		9		1,440	Soiltest, iL.
		2. 115 mm diameter 250 ml capacity	160	-	13	_	2,080	
21.		For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	16	-	ė5	-	1,040	Spiltest, IL.

Table 9 (Continued)

22.	Wash Bottle	Borosilicate florence flask with special moided rubber grip containing valve system, one litre capacity	16	-	78	-	1,249	Soiltest, IL.
23.	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	32	-	80	-	2,560	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine perosity, particle retention .0025 mm, diameter 12.5 cm, packet	32	-	25	-	800	Fisher Scientific, IL.
25.	Stirring Rod	Glass, 5 mm diameter, 30 cm long	32	_	2	_	6 4	Elmina Sain 1999 a.
26.	Theraoseter	Range - 20 to 1100, minimum graduation one degree, length 300 am.	32	-	32	•	1,024	Fisher Scientific, IL. Fisher Scientific, IL.
27.	3-Way Stop Cock	Glass construction.	32	-	12	_	394	F1 1 - 6
28.	French Curve Set	Plastic.	16	-	166	-	1,660	Fisher Scientific, IL. Common Item.
							·	

Total: Rs. 3,239,610 U.S. \$ 676,415+107 freight = 766,057

TABLE 10 SINDH POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR A PILOT PROJECT

<u>S.#</u>	<u>ITEM</u>	SPECIFICATIONS	CLINITITY	LNIT Local Rs.	COST Dollar US\$	TOTAL Local Rs.	COST Doilar US\$	SUPPLIER
(1)	(2)	(3)	(4)	(5)	(6)	 (7)	 (9)	 (9)
Hydra	ulic Equipment							(7)
1.	Current Heter	Price Type AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, asserted spare parts, and special lubricant, both for rod and cable suscension.	24	-	· 7 9 0	. :	15 , 760	Scientific Instruments Inc; 518 West Emerry, Milwaukee,Wi 53212 -3822, USA (414)263-1600 Fax (414)263-5506
2.	Hini Current Keter (Fygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 5.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.	24	-	630	-	15,120	Scientific Inst. Inc.
3.	Standard Wading Rods	Four 2-foot graduated rods in 0.1 foot increments, oction rod with base plate; an adjustable sliding support capable of holding price Type AA and Pygmy current beters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other and suitable for connecting to current meter and rods. Pase plate and slider made from corrosion resistant material; complete set in neavy duty canvas carrying case.	24	2,160		50,400	•	Anmao Enterprises I-Ycleod Acad Lahore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.		-	525	-	12,600	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 50 to 200 feet, every 10 feet from 500 to 500 feet; heavy duty hooks on ooth ends for attaching to trees or other sturdy objects.	12	-	580	- *_	6,760	Scientific Inst. Inc.
6.	Headset	Flexible headband, built in compartment for cry cell bactery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	24	-	65	-	1,550	Scientific Inst. Inc.
7.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	12	-	70	-	940	Scientific Inst. Inc.
8.	Spares for Current Heters	Compatible to the selected current meters; enculd include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Pygmy meters; instrument oil, cleaning click, two-pole connector imais and female); bucket wheel assemble.	5 Nos.for each item, both for Pygmy and Price AA	-	-	• .	350	Scientific Inst. Inc.
9.	Rubber Chest Wader	1. Medium Size 2. Large Size	- 1	-	160 210	•	i,280 840	Rickly Hydrologic Company, 2710

Table 10 (Continued)

		Idu	te to (cor	ntinued)				
10.	Hip boots	1. Medium Size 2. Large Size	8	-	75 105	-	600 420	Joyce Ave; Columbus, Ohio, 43211 USA
11.	Boat Improvize- ment Set	Boom and cross arm, USBS standard	12	5,300	-	63,600	-	Ahmad Enterprises, Lahore
12.	Sounding Reel	USGS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting reel to headset	12	-	1,460	-	17,760	Scientific Instruments Inc;
13.	Sounding Weight	USGS Columbus (C) type 50 pounds	12	1,300	-	15,600	-	h. Ahmad & Sons I-Bandreth Rd, Lahore
14.	Hanger Bar with Pin	USGS type for 30 and 50 pounds Columbus type weight, one foot long.	24	260	-	6,240	-	M. Angad & Sons
15.	Cable Connector	USGS Type B	10	-	27	-	270	Scientific Inst. Inc.
16.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	1,200	•	6	-	7,200	Scientific Inst. Inc.
17.	Life Jacket	USOS approved model A2 Adult universal, general purpose type-II	24	-	1(0	-	2,400	ERO Industries, Inc, Harzlehursc, SA, 31539, USA
18.	Flat Bottom Fibre Blass Boat	16 feet long and 6 feet wide.	12	30,000	-	360,000	-	Zamrock Company Nultan Rd. Labore.
19.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	12	210	-	2,520	-	Sibtain Brothers, Karachi
20.	Level with Triped	Topcon (Japan) suteratic levelling. magnification 20 (with standard accessories	12	21,000	-	252,000	•	Sibtain Brothers
21.	Levelling Staff	Japanese stave pole standard.15 :- long	<u> 1</u> 2	1,269	-	15,120	-	Elotain Brothers
22.	Y - Rod	Standard, for measuring geometry of outlets.	12	2,590	-	30,000	-	Kotri Baging Sub- division, Hydrol- ogy Directorate, Hyderabad

Table 10 (Continued)

23.	Water Level Recorder '	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	12	-	3,100	-	37,200	Leupoid and Stevens, Inc; P.O. Box 688 Beaverton, Oregon 97075 USA
24.	Spares for Water Level Recorder	 Recorder chart Pen ink Capillary pen with lucite reservoir Pen Cleaner, packet 	12 12 12	- - -	21 9 52 9	- - -	252 108 624 109	Leupold & Stevens
25.	Staff Gage	Special porciain ename: coated, four inches wide in 3.33-foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-0.66 ft 6.66-7.99 ft 9.99-13.33 ft	72 72 72 72 72	500 500 500		35,000 36,000 36,000 36,000 36,000		Ketri Gaging Sub- division, Hydrol- ogy Directorate Hyderabad. OR Ahmad Enterprises. Lahere

Table 10 (Continued)

Sediment Sampling Equipment

1.	Hand Sampler	US DH-46 with wading rod including three sets of spare gaskets, and t nozzles of 1/8, 3/16 and 1/4 inch openings, alcunium casting	12	2,100	-	25,200	•	Ahmad Enterprises, Lahore
2.	Piston Type Bed Material Hand Sampler	IIS BHH 22	12	-	420	-	5,040	Minnesota Fabricators, 2515 Highway 61 North St. Paul Min. 55107, USA
3 .	Pint Glass Bottles	For use mith №1-40, 24 per box	12	-	75	-	900	Minnesota Fabricators
4.	Sampler Label	For use on all bottles or Jars, self adhesive, packet	12	-	25	-	300	Minnesota Fabricators
Labor	atory Equipment For	Sedicent Analysis						. 30, 10,00, 5
1.	Bottom Withdrawal Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clamp.	8	-	220	-	1,760	Federal interagency Sadimantation Project, St. Anthony Falls Hydraulic Laboratory, 2-3rd Avenue South-
2.		Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	4	- .	1,800	-	7,200	Minneapolis, Min. 55414 USA Soiltest, Go Albrecht Dr. P.O. Sox 8004, Lake Stuff, IL. 50044- 7902 USA
3.	Oven	Fan-Forced air circulation, temperature range upto 1142, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30°x25°x24°.	÷	-	1,100	-	4,400	Spiltest, IL.
₹.		USA standard steves, 3-inch diameter brass steve, fine series						Spiliest, II.
		No. Openings 5 4.00 mm 10 2.00 mm 18 1.00 mm 25 .710 mm 35 .500 mm 45 .355 mm 60 .250 mm	4 4 4 4		38 38 38 38 38 38	- - - - -	152 152 152 152 152 152 152 152	

set se) Brush Lid Pan Shaker operated)	diameter, brass sieve, bleve size 5.6 mm 8.0 mm 16.0 mm 31.3 mm 63 mm 100 mm Fine hair bristles, wooden handle. d For US Standard 3-inch sieves	4 4 4 2 2 8 4		38 38 39 35 35 35	-	152 152 152 152 152 152 152	Soiltest, II.
Lid Pan Shaker	5.6 nm 8.0 nm 16.0 nm 31.3 nm 63 nm 100 nm ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	4 4 2 2 8	-	38 39 39 35 35	- - -	152 152 152 152 152 152	Soiltest, II.
Lid Pan Shaker	8.0 mm 16.0 mm 31.3 mm 63 mm 100 mm ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	4 4 2 2 8	-	38 39 39 35 35	- - -	152 152 152 152 152 152	Soiltest, II.
Lid Pan Shaker	16.0 mm 31.3 mm 63 mm 100 mm ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	4 2 2 8	-	38 39 39 35 35	- - -	152 152 152 152 152 152	Soiltest, II.
Lid Pan Shaker	31.3 mm 63 mm 100 mm ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	4 2 2 8	-	8 35 38	- - -	152 152 152 152 152	Soiltest, II.
Lid Pan Shaker	63 mm 100 mm ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	2 2 8 4	-	35 35 8	- -	152 152 152 152	Soiltest, II.
Lid Pan Shaker	ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	2 8 4	-	35 8	-	152 152 64	Soiltest, II.
Lid Pan Shaker	ush Fine hair bristles, wooden handle. d For U3 Standard 3-inch sieves	8	-	8	-	152 64	Soiltest, II.
Lid Pan Shaker	d For U3 Standard 3-inch sieves	4	-				Soiltest, II.
Pan Shaker	. o. oo ocanaa a g-mcn sieyes		-	16	•		
Shaker	n For US Standard 3-inch sieves	4				64	Sciltest, Il.
			-	16	-	64	Soiltest, il.
		4	-	350	-	1,400	Soiltest, II.
letch	ch Reading to one second, Swiss/China	4	900	-	3,600	-	Ahmad Enterprises, Lahore
e	Fyrex glass;						Fisher Scientific
	1. 25 mi capacity; tolerance + 0.05 mi	4	-	100	-	400	1600 W.Glenlake
	2.50 ml capacity: tolerance + 0.10 ml	4	•	130	-	370	Ave; Itasca IL. 60143 USA
Ривр	np Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	4	-	850	-	3,400	Spiltest, IL.
	Pyrex glass; safe temperature limit 5000;		e^{i}				Soiltest, IL.
	5000,		1.7				
	1. 100 mi	••					* * *
		3		3	-	24	·
	3. 500 ml	9	•		-	24 77	
	Pyrex glass graduated	į		. •		7.7	
er	1. 100 mi	ř		4.72			Sailtest, IL.
er		8	1)	12	-	96	
er er			•	18	-		
er		3	·	22 32	-		
		1. 100 ml 2. 250 ml 3. 600 ml Pyrex glass graduated 1. 100 ml 2. 250 ml 3. 500 ml	1. 100 mi 9 2. 250 mi 3 3. 600 ml 9 Pyrex glass graduated 1. 100 ml 8 2. 250 ml 8 3. 500 ml 8	1. 100 mi 2. 250 mi 3. 500 ml 9 Pyrex glass graduated 1. 100 mi 2. 250 mi 3. 500 ml 3. 500 ml 3. 500 ml	1. 100 mi 2. 250 mi 3 - 3 3. 600 mi 6 - 4 Pyrex glass graduated 1. 100 mi 2. 250 mi 3. 500 ml 8 - 12 2. 250 mi 8 1 18 3. 500 ml 8 - 22	1. 100 mi 2. 250 mi 3	1. 100 mi 2. 250 mi 3 - 3 - 24 3. 500 mi 9 - 4 - 32 Pyrex glass graduated 1. 100 mi 8 - 12 - 96 2. 250 mi 8 - 18 - 144

Table 10 (Continued)

15.	Evaporating Dish	Poreclain, glazed inside, partially glazed outside. 1. 90 mm diameter	••		·			Soiltest, IL.
		120 ml capacity	40	-	9	-	360	
		2. 115 mm diameter 250 ml capacity	40	-	13	-	520	
16.	Desiccato r	For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	4	-	65	-	260	Soiltest, IL.
17.	₩ash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	4	-	78	-	312	Soiltest, IL.
18.	Filtering Funnel	Pyrem glass, 60 angle boжie, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	8	-	80	-	640	Fisher Scientific, IL.
19.	Filter Circle	Whatman, ashless filter paper, fine porosity, particle retention .0025 mm, diameter 12.5 cm, packet	8	-	25	-	200	Fisher Scientific, IL.
20.	Stirring Rod	Glass, 5 em diameter, 30 cm long	8	-	2	-	16	Ficher 2: 1121 m
21.	Thersozeter	Range - 20 to 110C, minimum graduation one degree, length 300 mm.	8	-	32	-		Fisher Scientific, IL. Fisher Scientific, IL.
22.	3-Way Stop Cock	Glass construction.	8	-	12		5,	
23.	French Curve Set	Plastic.			14	_	76	Fisher Scientific, IL.
	was to well	rescit,	4	-	100	-	400	Common Item.

 l_i

Total: Rs. 968,250

U.S. \$ 157,776+10Z freight = 173,554

Note: Four Circles (twelve divisions)

TABLE 11 BALOCHISTAN PROVINCE NUMBER OF FIELD UNITS FOR OPERATION AND MAINTENANCE OF CANAL AND DRAINAGE SYSTEMS

REGION CHIEF Engineer	CIRCLE SUPERINTENDING ENGINEER	<u>DIVISION</u> Executive <u>Engineer</u>	SUB-DIVISION SDO
Palochistan (Quetta)	Trrigation Quetta, Quetta	Quetta, Quetta Pishin Canal, Pishin	2 2
	• • • • • • • • • • • • • • • • • • • •	Hydrology, DMJ	2
	Irrigation Loralai, Loralai	Zhob Canal, Zhob	2
		Loralai Canal, Loralai	3
		Kohlu, Kohlu	1
	Pat Feeder and Sibi,	Sibi, Sibi	3
	Dera Murad Jamali (DMJ)	Kachhi, Kachhi	2
		Kirter Canal, DMJ	3
		Pat Feeder Canal, DHJ	3
		Dera Bugti Canal, Dera Bugti	2

Regions = 1

Circles = 3

Divisions = 11

Sub-Divisions = 25

Note: Table does not include the field units responsible for operation and maintenance of tubewells or maintenance of bunds.

1500

TABLE 12 BALOCHISTAN PROVINCE TYPE AND QUANTUTY OF EQUIPMENT

Quantity

<u>Туре</u>	Hinimum Operation	Adequate Operation	Full Operation
Price Type AA Current Heter (F) 6	22	22
PYgmy Current Heter (F)	6	22	22
Wading Rods Set (L)	6	22	22
Light Duty Tagline (F)	3	11	11
Heavy Duty Tagline (F)	2	4	4
Headset (F)	6	22	22
Velocity Counter (F)	-	-	11
Stop Watch (F)	5	22	22
Rubber Chest Wader (F)	ó	22	22
Hip Boots (F)	-	22	22
Boat Improvizement Set (L)	2	4	4
Sounding Reel (F)	2	4	4
30-Pound Sounding Weight (L)	-	-	4
50-Pound Sounding Weight (L)	2	4	4
Hanger Bar With Fin (L)	4	8	8
Life Jacket (F)	6	12	12
Fibre Glass Boat (L)	2	4	4
Sonic Sounder (F)	-	-	i
Heasuring Taps (L)	3	11	11
Level With Tripod (L)	3	11	11
Levelling Staff (L)	3	11	11
Y-Rod (L)	3	11	11
Water Level Record≥r (F)	-	11	22
Staff Gage (L)	60(Sit	es) 60(Site	es) 60(Sites)
US GH-48 Sampler (L)	3	3	3
US D-74 Sampler (L)	2 3	3	3
US BHH 53 Sampler (F)		3	2
US BMH 50 Sampler (F)	2	3	3
Glass Bottles for Sampler (F)		6	6
Plastic Pars for Sampler (F)	ó	ò	ċ
V.A. Tube Analyser (F)	3	3	3
Botcom Withdrawai Tube (F)	6	ć	6
Analytical Balance (F)	3	5	b
Electronic balance (F)	3	2 2 2 2 3	3
Electric Oven (F)	3	2	3
Sieve Set (Fine) (F)	3	3	3
Sieve Set (Coarse) (F)	3 6 3 3		<u> </u>
Sieve Gruen (F)	6	6	5
Sieve Lio (F)	3	<u>5</u>	<u>ن</u> -
Sieve Pan (F)	3	٥	ن -
Sieve Shaker (Motorized) (F)	(F) 3	3	2 9 5 2 2 2 2 2 2 2 2
Sieve Shaker (Hand operated)	12) 7	ა ,	٥ ,
Pipette (F) Vacume Pump (F)	6 3	6 3	6
Stop Watch (L)	ა 3	2 2	3 3
acab wacru (r:	3	2	S



Table 12 (Continued)

Beaker (Glass) (F)	18	18	18
Cylinder (Glass) (F)	24	24	24
Desiccab (F)		_	3
Evaporating Dish (F)	60	60	60
Desicator (F)	3	3	3
Wash Bottle (F)	3	7	3
Filtering Funnel (F)	6	á	
Stirring Rod (F)	9	ą	0
Thermometer (F)	6		7 L
3-Way Stop Cock (F)	6	6	4
French Curve Set (F)	3	3	3

No. of Circles = 3

No. of Divisions = 11

F = Imported

L = Local

- Minimum operation at circle levels
- Adequate operation at divisional and circle levels
- Full operation at divisional and circle levels with additional equipment.
- Spares are not included in the list.

TABLE 13 BALOCHISTAN POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR MINIMUM OPERATION AT CIRCLE LEVEL

<u>S.1</u>	<u>ITEA</u>	SPECIFICATIONS	GREATITY	<u>Local</u> Rs.	Dollar LES	TUTAL Locai Rs.	<u>Doilar</u> USS	SIPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
H <u>yc.</u> a	miic Equip se nt							
1.	Current Heter	Price Type AA (vertical axis, horizontal bucket Wineel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts: furnished complete in a foam cuchioned carrying case, along with a rating chart, tail fin assembly, screw driver, assorted spare parts, and special lubricant, both for red and cable suspension.		-	7790	-	4,740	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -3822, USA (414)263-1600 Fax (414)263-5806
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket whoel; corone plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned currying case with assorted spare parts, a rating thert and lubricant; for rode suspension only.		- -	630	-	3,780	Scientific Inst. Inc.
3.	Standard Wading Rods	Four 2-foot grequeted rods in 0.1 feet increments, bettom red with base pister an adjustable sliding support isosele of holding price Type Afric Typeyor current meters; a flexion important meters; a flexion important meter with one enumber in two-mole ionductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.		2,100	-	12,600	-	Akmad Enterprises I-Melleod Road Lahore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	3	-	525	-	1,575	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 30 feet, every 5 feet from 50 to 200 feet, every 10 feet from 50 to 500 feet and every 50 feet from 500 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	2	-	590	. 4	1,160	Scientific Inst. Inc.
6.	Heaviset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	6	-	6 5	-	390	Scientific Inst. Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batterise, housed in a rugged plastic case	-	-	185	-	-	Scientific Inst. Inc.
8.	Electronic Watch	Electronic, digital reading to 0.01 second. With a neck cord and having easy to use finger tip control buttons.	6	-	70	-	420	Scientific Inst. Irr.
9.	Spares for Current Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Pygmy meters; instrument oil, cleaning cloth, two-pole connector (male and female); bucket wheel assembly	5 Nos.for each item, both for Pygmy and Price AA	-	-	-	250	Scientific Inst. Inc.
10.	Rubber Chest Wader	1. Medium Size 2. Large Size	3 3	-	160 210	-	480 630	Rickly Hydrologic Company, 2710

Table 13 (Continued)

11.	Hip boots	1. Medium Size 2. Large Size	-	-	75 105	-	-	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat Improvize- ment Set	Beom and cross arm, USGS standard	2	5,300	-	10,600	-	Ahmad Enterprises, Lahore
13.	Sounding Reel	USGS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 fcot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting real to readset	2	-	1,480	•	2,960	Scientific Instruments Inc; 518 West Cherry, Milwankee, Mi 53212-3822, USA
14.	Sounding Weight	USGS Columbus (C) type 1. 30 pounds 2. 50 pounds	- 2	790 1,300	-	- 2,600	-	M. Anmao & Sons I-brandreth Ad,
15.	Hanger Bar with Pin	USGS type for 30 and 50 pounds Columbus type weight, one foot long	4	260	-	1,040		M. Ahmad & Sons
16.	Cable Connector	U963 Type 8	4	-	27	-	108	Scientific Inst. Inc.
17.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	200	-	ģ	-	1,200	Scientific Inst. Inc.
18.	Life Jacket	USBS approved model AZ Adult universal, general purpose type-II	6	-	100	-	600	ERO Industries, Inc. Harzlehurst, GA, 31539, USA
19.	Flat Bottom Fibre Glass Boat	lá feet long and á feet mide.	2	30,000	•	60,000	-	Zamrock Company Multan Rd. Lahore.
20.	Portable Sonic Depth Recorder	Single rance 0 to 30 feet; paper size 8 inches wide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100KHz-7.5, voltage input 24 volcs 80, weathertight almunium common tion with mater tight common ting brackets.	-	-	10,500	-	٠	1. Ross 800 Series Ross Laboratories Inc: 3178 Fairview Ave: E. Seattle, WA 98102. USA 2. 2. Ravtheon Series DE -719. Marine Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Cepth Recorders	Most frequently replaceable parts to be decided by the surplier consistent with model conforming to above specifications, including recorder charts.	L.S.	-	* • \$	-	-	1. Ross Leopratories 2. Raytheon

Table 13 (Continued)

		14016	13 (Cont	(Inuesi)				
22.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	3	210	-	630	-	Sibtain Brothers, Karachi
23.	Level with Triped	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	3	21,000	-	63,000	-	Sibtain Brothers
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	3	1,260	-	3,780	-	Sibtain Brothers
25.	Y - Rod	Standard, for measuring geometry of outlets.	3	2,500	-	7,500	-	Kotri Baging Bub- division, Hydrol- ogy Directorate,
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set and nooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	-	_	3,100	-	-	Hyderabad Leupold and Stevens, Inc; P.O. Box 699 Beaverton, Gregon 97075 USA
27.	Spares for Water Levei Recorder	 Recorder chart Fen ink Capillary pen with lucite reservoir 4.4.5 - month negator spring driven clock Float tape Float Counter weight Fen Cleaner, packet 	-	-	21 9 52 790 210 95 13 9	- - - -	-	Leupold and Stevens
28.	Staff Gage	Special porclain enumed coated, four inches wide in 3.30-foot sections; graduaton to .01 foot and marked every feet. 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.66 ft 6.66-9.99 ft 9.99-13.33 ft	60 69 89 89	500 500 500 500		30,000 30,660 30,666 30,000	- - -	Kotri Bagino Bub- division, Hvdrol- ogy Directorate Hyderabad. OR Ahmad Enterprises. Lahore

Sediment Sampling Equipment

1.	Wading Type, Depth Integrating Suspended Sedimen Hand Sampler	US C4-48 with wading rod including three sets of spare gaskets, and t nozzles of 1/8, 3/16 and 1/4 inch openings, almunium casting	3	2,100	-	6,300	-	Ahmad Enterprises, . Lahere
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/8, 3/16 and 1/4 inch opennings.	2	6,800	-	13,600	-	Ahmad Enterprises
3.	Fision Type Bed Material Hand Sampler	US BWH 53	3	-	420	-	1,250	Minnesota Fabricators, 2513 Highway 61 North St. Paul Min. 55109, USA
4.	Hand line Bed Material sampier	US ENH 60	2	•	1,100	•	3,300	Minnesota Fabricators
5.	Pint Glass Bottles	For use with DH-49, 24 per box	6	-	75	-	450	Minnesota Fabricators
á.	Plastic Jar	For use with D-74, 12 per box	6	i ; -	25	-	150	Minnesota Fabricators
7.	Sampler Label	For use on all bottles or Jars, self adhesive, packet	á	- *	25	-	150	Minnesota Fabricators
Labor	atory Equipment For	Sediment Analysis						, as. Italy 5
1.	nugi Asel.	V.A. tube with automatic tracer and motor (240 Volts-50 cycle); including all accessories for 120 cm tubes; sizes 2.1, 3.4, 5.0 and 7.0 cm inside disasters at lower ends.	3	-	3,800	-	11,490	Federal Inter- agercy Sedimen- tation Project, St. Anthony Falls Hydraulic Labora- tory, 2-3rd Ever e South-East. Minneapolis, Min. 55414 USA
2.	Spares for VA Tube	1. VA glass tube: 1. mm 2. VA glass tube: 1.0 mm 3. VA glass tube: 1.0 mm 4. VA glass tube: 1.0 mm 5. VAT Charts	72 2 2 3 2	-	210 210 210 210	- - -	630 630 630 630 150	Federal Interagency
3.	Bottom Withdrawal Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch cla zp.	6	-	220	-	1,320	Federal Interagency

		10016	10 TOURIL	Indea)				
4.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	3		1,800	-	5,400	Soiltest, 36 Albrecht Dr. P.O. Box 8004, Lake Bluff, IL. 60044- 9902 USA
5.	Electronic Falance	Capacity of 200 grams, Sensitivity .0001 gram	3	-	2,600	-	7,800	Soiltest, IL.
6.	Electric Oven	Fan-Forced air circulation, temperature range upto 1100, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30% 25% 24%.	3	-	1,100	•	3,300	Soiltest, IL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Same as above
ñ.	Sieve set	No. Openings 5 4.00 nm 10 2.00 nm 18 1.00 nm 25 .710 nm 45 .555 nm 60 .250 nm 120 .125 nm 170 .070 nm 230 .065 nm 045 nm	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		38 38 38 38 38 38 38 39 55 60		114 114 114 114 114 114 114 114 115 165 240	
	(Coarse)	diameter, brass sieve, Sieve size 5.6 mm 8.0 mm 16.0 mm 31.5 mm 63 mm 100 mm	3 3 3 3 3		38 38 38 38 38		114 114 114 114 114 114	Smiltest, II.
9.	Sieve Brush	Fine hair bristles, wooden handle.	6	-	8	-	45	Soiltest Il.
10.	Sieve Lid	For US Standard 3-inch sieves	3	-	16	-	48	Soiltest II.
11.	Sieve Pan	For US Standard 3-inch sieves	3	-	16	-		Spiltest II.

12.	Sieve Shakar (Motorized)	Hotorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	-	740	-	-	Soiltest, Il.
13.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	3	-	350	-	1,050	Soiltest Il.
14.	Step Watch	keading to one second, Swiss/China	3	900	-	2,700	-	Ahnad Enterprises,
15.	Pipette	Pyrex glass;						Lanore
	,	1. 25 ml capacity;	_					Fisher Scientific
		tolerance + 0.06 ml	3	-	100	-	300	1600 W.Glenlake
		2. 50 ml capacity:	**				-	Ave: Itasca
		tolerance + 0.10 ml	3	-	130	-	290	IL. 60143 USA
16.	Vacuum Pump	Two series-connected electric	-					
		pumps, 0.3 mm ultimate pressure in leak proof system. 1/4 HP motor, 240 volts 50 Hz.	3	-	850	-	2,559	Spiltest, IL.
17.	Basta							
17.	Feaker	Pyrex glass; safe temperature limit 5000;						Soiltest, IL.
		1. 100 ml	6					
		2. 250 ml	6	-	3	-	19	
		3. 600 mi	Ġ	-	3 4	-	18	
18.	Cylinder	Pyrex giass graduated			•		24	
		1. 1(4) mi	,					Soiltest, IL.
		2. 250 mi	á ć	-	12	-	72	correst, IL.
		3. 500 ml	ó	•	18	-	108	
		4. 1000 mi	6	-	22	-	132	
19.	Desiccab	.	J		32	-	132	
		For cooling samples in moisture- free environment, chemical resistant, high impact solded plastic; elmunium shelves, removable desiscant glass tray	-	-	700	-	-	Soiltest, IL.
20.	Evaporating	Poreciain, missed inside, partially						
	Dish	glazed cutside.						Soiltess, IL.
		1. 90 ca / Lameter	70					portreit; It.
		120 to caraity	30	-	9	-	270	
		2. 115 du limeter 250 ni meacity	30	_	13	-	TEA	
71		·					390	
21.		For cooling samples in moisture- free snyironment, glass construction, 125 cm inside diameter and 75 cm depth to plate	3	-	65	-	195	Smiltest, IL.

22.	Wash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	3	-	76	-	234	Soiltest, IL.
23.	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	á	-	8 0	-	480	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine porosity, particle retention .0025 mm, diameter 12.5 cm, packet	á	-	. 25	~	150	Fisher Scientific, IL.
25.	Stirring Red	Glass, 5 mm diameter, 30 cm long	9	-	2	_	18	Figure 5 : 100 as
26.	Thersoneter	Range - 20 to 1100, minimum graduation one degree, length 300 mm.	ó	-	32	-		Fisher Scientific, IL. Fisher Scientific, IL.
27.	3-Way Step Cock	Glass construction.	6	-	12			
28.	French Curve Set	Plastic.	7			-	72	Fisher Scientific, IL.
			3	•	100	-	300	Common Item.

Total: Rs. 304,350 U.S. \$ 64,922+10% freight = 71,414

TABLE 14

BALOCHISTAN POVINCE
HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR ADEQUATE OPERATION
AT DIVISIONAL AND CIRCLE LEVELS

<u>S.1</u>	<u>TTEM</u>	SPECIFICATIONS.	QUANTITY	<u>UNIT</u> (Local Rs.	1851 Dollar US\$	TUTAL Local Rs.	Dollar US3	SIPPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Hydra	ulic Equipment							
1.	Current Heter	Price Type AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, assorted spare parts, and special lubricant, both for rod and cable suspension.			790	· •	17,380	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -3822, USA (414)263-1600 Fax (414)263-5506
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.	22	-	630	-	13,850	Same as above
3.	Standard Wading Rods	Four 2-foot graduated rods in 0.1 foot increments, bottom rod with base plate; an adjustable sliding support capable of holding price Type AA and Pygmy current meters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.	22	2,100		46,200	-	Ahmad Enterprises I-Mecleog Road Lahore

A.								
4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	11	-	525		5,775	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 300 feet and every 50 feet from 300 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	4	-	5 8 0	-	2,320	Scientific Inst. Inc.
6.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	22	-	65	-	1,430	Scientific Instrument Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batteries, housed in a rugged plastic case	-	-	185 ·	· -	-	Scientific Inst. Inc.
8.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	<u>22</u>	-	70	-	1,540	Scientific Inst. Inc.
9.	Spares for Current Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Pygmy meters; instrument oil, cleaning cloth, two-pole connector (male and female); bucket wheel assembly	5 Nos.for each item, both for Pygmy and Frice AA	-	•		250	Scientific Inst. Inc.
10.	Rubber Chest Wader	1. Hedium Size 2. Large Size	11 11	-	160 210	-	1,760 2,310	Rickly Hydrologic Company, 2710

11.	Hip boots	1. Medium Size 2. Large Size	11 11	- ·	75 105	-	නෙ 1,155	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat Improvize- ment Set	Boom and cross arm, USGS standard	4	5,300	-	21,200	-	Ahmad Enterprises, Lahore
13.	Sounding Reel	USGS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, 'B" type connector and flexible two-conductor wire for connecting reel to headset	4	-	1,460		5,920	Scientific Instruments Inc;
14.	Sounding Weight	USGS Calumbs (C) type 1. 30 pounds 2. 50 pounds	- 4	790 1,300	-	- 5,200	-	M. Ahmad & Sons I-Brandreth Rd,
15.	Hanger Bar with Pin	USGS type for 30 and 50 Columbs type weights, one foot long	8	250	-	2,080	-	Lahore H. Ahmad & Sons
1ó.	Cable Connector	USGS Type B	4	-	27	-	108	Ecientific Inst. Inc.
17.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	400	-	6	-	2,400	Scientific Inst. Inc.
18.	Life Jacket	USGS approved model A2 Adult universal, general purpose type-II	12	-	100	-	1,200	ERO Industries, Inc, Harzlehurst, GA, 31539, USA
19.	Flat Bottom Fibre Glass Boat	ló feet long and ó feet wide.	4	30,000	-	120,000	-	Zabrock Company Muitan Rd. Lahore.
20.	Portable Sonic Depth Recorder	Single range 0 to 50 feet; paper size 8 inches wide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100KHz; transducer frequency 100 KHz-7.5, voltage input 24 volts DC, meathertight almunium construction with water tight connectors, plastic cover and mounting brackets.	-	-	10,500	-	-	1. Ross 800 Series Ross Laboratories Inc; 3138 Fairview Ave; Seattle, WA 98102, USA 2. 2. Raytheon Series DE -719, Marine Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Depth Recorders	Most frequently replaceable parts to be decided by the supplier consistent with model conforming to above specifications, including recorder charts.	L.S.	-	-		<u>, </u>	 Ross Laboratories Raytheon

22.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	11	210	-	2,510	. -	Sibtain Brothers, Karachi
23.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	11	21,000	-	231,000	-	Sibtain Brothers
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	11	1,260	-	13,860	•	Sibtain Brothers
25.	Y - Rod	Standard, for measuring geometry of outlets.	11	2,500	-	27,500	-	Kotri Gaging Sub- division, Hydrol- ogy Directorate, Hyderabad
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	11	<u>-</u>	3,100	-	34,100	Leupold and Stevens, Inc; P.D. Box 688 Beaverton, Oregon 97075 USA
27.	Spares for Nater Level Recorder	 Recorder chart Fen ink Capillary pen with lucite reservoir 4.5 - month negator spring driven clock Float tape Float Counter weight Pen Cleaner, packet 	11 11 11 11 11 11 11	-	21 9 52 790 210 95 13	- - - -	231 99 572 8,690 2,310 1,045 143 99	Leupold and Stevens
28.	Staff Gage	Special porciain enamel coated, four inches wide in 3.33-foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.66 ft 6.66-9.99 ft 9.99-13.33 ft	60 60 60 60	500 500 500 500	-	30,000 30,000 30,000 30,000	- - -	Kotri Gaging Sub- division, Hydrol- ogy Directorate Hyderabad. OR Ahmad Enterprises, Lahore

Sediment Sampling Equipment

	1	· · · · · · · · · · · · · · · · · · ·						
1.	Nading Type, Depth Integrating Suspended Sediment Hand Sampler	US DH-49 with wading rod including three sets of spare gaskets, and nezzles of 1/8, 3/16 and 1/4 inch openings, almunium costing	3	2,100	-	6,300 _	-	Ahmad Enterprises, Lahore
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/8, 3/16 and 1/4 inch opennings.	3	6,900	-	20,400	-	Ahmad Enterprises
3.	Piston Type Bed Material Hand Sampler	US 644 53	3	-	420	-	1,260	Minnesota Fabricators, 2515 Highway 61 North St. Paul Min. 55109, USA
4.	Hand line Bed Haterial sampler	US EAH 60	3	-	1,100	-	3,300	Minnesota Fabricators
5.	Pint Glass Bottles	For use with DH-48, 24 per box	6	-	70	-	450	Minnesota Fabricators
ć.	Plastic Quarts Jar	For use with 0-74, 12 per box	á	-	25	-	150	Minnesota Fabricators
7.	Sample Label	For use on all bottles or Jars, self adhesive, packet	6	-	25	-	150	Minnesota Fabricators
Labora	tory Equipment For	Sediment Analysis						
1.	Visual Accumulation Tube sand size Analyser	V.A. tube with automatic tracer and motor (240 Volts-50 cycle); including all accessories for 120 cm tubes; sizes 2.1, 3.4, 5.0 and 7.0 mm inside diameters at lower ends.	3	-	3,800	-	11,400	Federal Inter- agency Sedimen- tation Project, St. Anthony Falls Hydraulic Labora- tory, 2-3rd Avenue South-East. Hinneapolis, Hin. 55414 USA
2.	Spares for VA Tube	1. VA glass tube: 2.1 mm 2. VA glass tube: 3.4 mm 3. VA glass tube: 5.0 mm 4. VA glass tube: 7.0 mm 5. VAT Charts	3 3 3 5 LS	- - - -	210 210 210 210	- - - -	630 630 630 630 150	Federal Interagency
3.	Bottom Withdramal Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clamp.	6	-	220	<u>-</u>	1,320	Federal Interagency

4.	Analytical Balance	Capacity of 200 grass with weight box and .0001 grass sensitivity, beam05 to05 grass in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.		-	1,800	· -	5,400	Soiltest, 86 Albrecht Dr. P.O. Box 8004, Lake Bluff, IL. 60044- 9902 USA
5.	Electronic Balance	Capacity of 200 graes, Sensitivity	3	-	2,600	-	7,800	Soiltest, IL.
6.	Electric Oven	Fan-Forced air circulation, temperature range upto 110C, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30°x25°x24°.	3	-	1,100	-	3,700	Soiltest, IL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Soiltest, Il.
		No. Openings 5 4.00 ma 10 2.00 ma 18 1.00 ma 25 .710 ma 35 .500 ma 45 .355 ma 60 .250 ma 120 .125 ma 170 .090 ma 230 .063 ma 325 .045 ma	3 3 3 3 3 3 3 3 3	-	38 38 38 38 38 30 30 38 45 55 80	-	114 114 114 114 114 114 114 114 135 165	
8.	Sieve set (Coarse)	USA standard sieve; 8 - inch diameter, brass sieve, Sieve size 5.6 mm 6.0 mm 16.0 mm 31.5 mm 63 mm	3 3 3 3 3		39 38 39 36 38 38		114 114 114 114 114 114	Soiltest, Il.
9.	Sieve Brush	Fine hair bristles, wonden handle.	6	-	8	_		Soiltest, Il.
10.	Sieve Lid	For US Standard 3-inch sieves	3	-	16	-		Soiltest, Il.
11.	Sieve Pan	For US Standard 3-inch sieves	3	-	16	-		Soiltest, Il.

!								
12.	Sieve Shakar (Motorized)	Motorized 220 volts, 50 cycles capacity eight sieves paus pan and cover, 8-inch sieve sizes	-	-	740	- '	• *;	Soiltest II.
13.	Sieve Shaker (Hand operated)	lead-operated shaker; capacity seven sieves, 8-inch diameter.	3	-	350		1,050	Soiltest, Il.
14.	Stop Watch	Reading to one second, Swiss/China	3	900	-	2,700	-	Ahmad Enterprises, Lahore
15.	Pipette	Pyrex glass;						
		1. 25 ml capacity; tolerance + 0.06 ml	3	-	100	-	300	Fisher Scientific 1600 W.Glenlake
		2. 50 ml capacity; tolerance + 0.10 ml	3	-	130	-	390	Ave; Itasca IL. 60143 USA
16.	Vacuus Ривр	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	3	-	850	-	2,550	Soiltest, IL.
17.	Beaker	Pyrex glass; safe temperature limit 500C;						Soiltest, IL.
		1. 100 ml						
		2. 250 al	6	-	3	-	18	
		3. 600 ml	6	-	3	-	18	
		3. 000 mi	6	-	4	-	24	
18.	Cylinder	Pyrex glass graduated					_,	
		1. 100 ml	,					Soiltest, IL.
		2. 250 ml	6	-	12	-	72	•
		3. 500 ml	6 6	-	18	•	108	
		4. 1000 al .	6	-	22	-	132	
			0	•	32	•	192	
19.	D esiccab	For cooling samples in moisture- free environment, chemical resistant, high impact molded plastic; almunium shelves, removable desiscant glass tray	-	-	700	-	-	Soiltest, IL.
20.	Evaporating Dish	Poreclain, glazed inside, partially glazed outside.						Sailtest, IL.
		1. 90 mm diameter 120 ml capacity	30	-	9	-	270	
		2. 115 em diameter 250 el capacity	30	-	13	-	370	
21.	Desiccator	For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	3	-	65	-	195	Soiltest, IL.

22.	Wash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	3	.•	. 79	- '	237	Soiltest, IL.
23.	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 cm, stem length 100 mm	6	~	80	•	480	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine porosity, particle retention .0025 mm, diameter 12.5 cm, packet	6	~	25	-	150	Fisher Scientific, IL.
25.	Stirring Rod	Glass, 5 mm diameter, 30 cm long	9	-	2	-	18	Fisher Scientific, IL.
26.	Theraceeter	Range - 20 to 110C, minimum graduation one degree, length 300 mm.	ó	-	32	-	192	Fisher Scientific, IL.
27.	3-Way Stop Cock	Glass construction.	6	-	12	-	72	Fisher Scientific, IL.
28.	French Curve Set	Plastic.	3	-	100	-	300	Common Item.

Total: Rs. 618,750 U.S. \$ 152,124+10% freight = 167,336

TABLE 15 BALOCHISTAN POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR PILOT PROJECT

<u>5.4</u>	<u>ITEN</u>	SPECIFICATIONS	CLUMITITY	UNITE Local Rs.	EI Dollar UEI	TOTAL (Local Rs.	GEI Gollar GE\$	SIPPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Hydra	ulic Equipment							
i.	Current Heter	Price Type AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, assorted spare parts, and special lubricant, both for rod and cable suspension.		-	770	-	12,640	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -3822, USA (414)263-1600 Fax (414)263-5506
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.		-	630		10,080	Scientific Inst. Inc.
3.	Standard Wading Rods	Four 2-foot graduated rods in 0.1 foot increments, bottom rod with base piate; an adjustable sliding support capable of holding price Type AA and Pygmy current meters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.		2,100	-	33,600	-	Ahmad Enterprises I-Mclecd Road Lahore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	16	-	525	•.	8,400	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 300 feet and every 50 feet from 300 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	3	-	590	-	1,740	Scientific Inst. Inc.
ó.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	16	-	65	-	1,040	Scientific Inst. Inc.
7.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttens.	8	-	70	-	560	Scientific Inst. Inc.
8.	Spares for Current Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly; extra screws for price AA and Pygmy meters; instrument oil, cleaning cloth, two-pole connector (male and female); bucket wheel assembly	5 Nos.for each item, both for Pygmy and Price AA	-	<u>.</u> .		250	Scientific Inst. Inc.
9.	Rubber Thest Wader	1. Hedium Size 2. Large Size	6 2	-	160 210	-	960 420	Rickly Hydrologic Company, 2710

10.	Hip books	1. Medius Size	. 6	•	75		450	Zarran A
	.	2. Large Size	2	-	105	-	210	Joyce Ave; Columbus, Ohio, 43211 USA
11.	Boat Improvize- ment Set	Room and cross arm, USGS standard	3	5,300	-	15,900	-	Ahmad Enterprises, Lahore
12.	Sounding Reel	uses A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting reel to headset	3	-	1,460	-	4,440	Scientific Instruments Inc;
13.	Sounding Weight	USSS Columbus (C) type 1. 50 pounds	3	1,300	-	3,900	-	M. Ahmad & Sons I-Brandreth Rd, Lahore
14.	Hanger Bar with Pin	USGS type for 30 and 50 Columbus type weights, one foot long	6	260	-	1,560	-	M. Ahmad & Sons
15.	Cable Connector	USSS Type B	3	-	27	-	81	Scientific Inst. Inc.
16.	Sounding Cable	Eisworth double conductor (inner core), 0.1 inch diameter	300	-	6	-	1,800	Scientific Inst. Inc.
17.	Life Jacket	USSS approved model A2 Adult universal, general purpose type-II	9	-	100	-	900	ERO Industries, Inc, Harzlehurst, 6A, 31539, USA
18.	Flat Bottom Fibre Glass Boat	16 feet long and 6 feet wide.	3	30,000	-	90,000	-	Zamrock Company Fiultan Rd. Lahore.
19.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	8	210	-	1,680	-	Sibtain Brothers, Karachi
20.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	8	21,000	-	169,000	-	Sibtain Brothers
21.	Levelling Staff	Japanese stave pole standard, 15 ft long	8	1,260	-	10,080		Sibtain Brothers
22.	Y - Rod	Standard, for measuring geometry of outlets.	3	2,500	-	7,500	-	Kotri Baging Sub- division, Hydrol- ogy Directorate, Hyderabad

23.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	8	-	3,100	-	24,800	Leupold and Stevens, Inc; P.O. Box 688 Beaverton, Oregon 97075 USA
24.	Spares for	1. Recorder chart	8	_	21		448	
	Hater Level	2. Pen ink	8	-	9	-	168 72	Leupold & Stevens
	Recorder	Capillary pen with lucite reser-	8	-	52	_	72 416	
		voir			UL.		410	
		4. Pen Cleaner, packet	8	-	9	-	72	
25.	Staff Gage	Special porclain ename: coated, four inches wide in 3.37 foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot.						Kotri Gaging Sub- division, Hydrol- ogy Directorate Hyderabad. OR
		Range: 0-3.33 ft	40	500	-	20,000	-	Ahmad Enterprises,
		3.33-6.66 ft	40	500	-	20,000	-	Lahore
		6.66-9.99 ft	40	500	-	20,000	_	Easing C
		9.99-13.33 ft	40	500	•	20,000	-	
<u>Sedi n</u>	ent Sampling Equipme	<u>nt</u>						
i.	Wading Type, Depth Integrating Suspended Sediment Hand Sampler	US DH-48 with wading rod including three sets of spare gaskets, and nozzles of 1/8, 3/16 and 1/4 inch openings, almunium casting	8	2,100	-	16,800	-	Ahmad Enterprises, ·Lahore
2.	Piston Type Bed Material Hand Sampler	US EAH 53	8	-	420	-	3,360	Minnesota Fabricators, 2515 Highway 61 North St. Paul Min. 55109, USA
3.	Pint Glass Bottles	For use with DH-48, 24 per box	8	-	75	-	600	Hinnesota Fabricators
4.	Sample Labei	For use on all bottles or Jars, self adhesive, packet	8	-	25	-	200	Minnesota Fabricators

Laboratory Equipment For Sediment Analysis

	B 11	••						
1.	Bottom Mithdrawal Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clamp.	4		220	-	680 <u>.</u>	Federal Interagency Sedimentation Project, St. Anthony Falls Hydraulic Laboratory, 2-3rd Avenue South- East. Minneopolis, Min. 55414 USA.
2.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	2	-	1,600	-	3,600	Soiltest, 86 Albrecht Dr. P.D. Box 6004, Lake Bluff, IL. 60044- 9902 USA
3.	Electric Oven	Fan-Forced air circulation, temperature range upto 116C, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30"x25"x24".	2	-	1,100		2,200	Soiltest, IL.
4.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Soiltest, II.
		No. Openings 5 4.00 mm 10 2.00 mm 18 1.00 mm 25 .710 mm 35 .500 mm 45 .355 mm 60 .250 mm 120 .160 mm 120 .125 mm 170 .090 mm 230 .063 mm 325 .045 mm	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	-	38 38 38 39 38 39 38 39 38 55 60	-	76 76 76 76 76 76 76 76 90 110	
5.	Sieve set (Coarse)	USA standard sieve; 8 - inch diameter, brass sieve,					200	Soiltest, II.
		Sieve size 5.6 nm 8.0 nm 16.0 nm 31.5 nm 63 nm 100 nm	2 2 2 2 2 2 2	-	38 38 38 38	-	75 76 76 76 76	

6.	Sieve Brush	Fine hair bristles, mooden handle.	4	-	8	-	32	Soiltest, II.
7.	Sieve Lid	For US Standard 3-inch sieves	2	-	16	-	32	Soiltest, II.
8.	Sieve Pan	For US Standard 3-inch sieves	2	-	16	-	32	Soiltest, II.
9.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	2	-	350	-	700	Soiltest, Il.
10.	Stop Watch	Reading to one second, Swiss/China	2	900	-	1,800	-	Ahmad Enterprises, Lahore
11.	Pipette	Pyrex glass;						
	.,							Fisher Scientific
		1. 25 ml capacity;	2	-	100	-	200	1600 W.Glenlake
		tolerance + 0.06 mi					200	
		2.50 mi capacity; tolerance + 0.10 mi	2	-	130	-	260	Ave; Itasca IL. 60143 USA
12.	Vacuum Римэр	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	2	-	850	-	1,700	Soiltest, IL.
13.	Beaker	Pyrex glass; safe temperature limit 5000;						Soiltest, IL.
		1. 100 ml	4	-	7			
		2. 250 ml	4	_	3 3	-	12	
		3. 690 ml	4			-	12	
			7	-	4	-	16	
14.	Cylinder	Pyrex glass graduateo						
	,	1. 100 ml						Soiltest, IL.
		2. 250 ml	4	-	12	-	49	opertract the
			4	-	18	-	73 72	
		3. 500 mi	4	-	22	_	89	
		4. 1000 ml	4	-	32	_		
4=	.				02		128	
15.	Evaporating Dish	Poreciain, glazed inside, partially glazed outside.						Soiltest, IL.
		1. 90 mm diameter 120 ml capacity	20	-	9	-	180	
		2. 115 mm diameter	20	_	17			
		250 mi capacity	20		13	-	260	
16.	Desiccator	For cooling samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	2	-	65	-	130	Soiltest, IL.
17.	Wash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	2	-	78	-	156	Soiltest, IL.

18.	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	V4		90		320	Fisher Scientific, IL.
19.	Filter Circle	Whatman, ashless filter paper, fine porosity, particle retention .6025 mm, diameter 12.5 cm, packet	4	•	ක	-	100	Fisher Scientific, IL.
20.	Stirring Rod	Glass, 5 nm diameter, 30 cm long	4	-	2	-	8	Fisher Scientific, IL.
21.	Thermometer	Range - 20 to 110C, minimum graduation one degree, length 300 mm.	4	-	32	-	128	Fisher Scientific, IL.
22.	3-Hay Stop Cock	6lass construction.	4	-	12	-	48	Fisher Scientific, IL.
23.	French Curve Set	Plastic.	2	-	100	-	200	Common Item.

Total: Rs. 430,820 U.S. \$ 86,701+10% freight = 95,371

Note: Two Circles (eight divisions)

TABLE 16 NORTHWEST FRONTIER PROVINCE NUMBER OF FIELD UNITS FOR OPERATION AND MAINTENANCE OF CANAL AND DRAINAGE SYSTEMS

REGION CHIEF Engineer	CIRCLE SUPERINTENDING ENGINEER	<u>DIVISION</u> EXECUTIVE ENGINEER	SUB-DIVISION SDO
NHFP	Malakand Irrigation,	Chitral, Chitral	i
(Peshawar)	Mangora	Hazara, Abbotabad	3
		Halakand, Mangora	2
	Southern Circle, Bannu	Marvat Canal, Bannu	3
		Bannu Canal, Bannu	2
		Paharpur Canal, D.I. Khan	1
	Central Circle, Peshawar	Kohat, Kohat	2
		Peshawar Canal, Peshawar	3
		Warsak Canal, Peshawar	3
	Northern Irrigation, Hardan	Swabi, Swabi	4
		halakand, Halakand	2 .
		hardan, Mardan	2

Regions = 1

Circles = 4

Divisions = 12

Sub-Divisions = 28

Note: Table does not include the field units responsible for operation and maintenance of tubewells or maintenance of bunds.

TABLE 17 NORTHWEST PROVINCE TYPE AND QUANTITY OF EQUIPMENT

Quantity

7.11.4 (4.14) (4.14)			
_	Minimum	Adequate	Full
<u>Type</u>	Operation	<u>Operation</u>	<u>Operation</u>
Price Type AA Current Meter (F.	. n		
Pygmy Current Neter (F)	_	24	24
Wading Rods Set (L)	8	24	24
Light Duty Tagline (F)	8	24	24
Heavy Duty Tagline (F)	4	12	12
Headset (F)	2	ó	6
Velocity Counter (F)	8	24	24
Stop Watch (F)	~	-	12
Rubber Chest Wader (F)	8	24	24
Hip Boots (F)	8	24	24
Boat Improvizement Set (L)	-	24	24
Sounding Reel (F)	3	6	6
	3	6	ć
30-Pound Sounding Weight (L)	-	-	6
50-Pound Sounding Weight (L)	3	6	6
Hanger Bar With Pin (L) Life Jacket (F)	á	12	12
	9	18	18
Fibre Glass Boat (L)	3	6	6
Sonic Sounder (F)	-	-	2
Heasuring Tape (L)	4	12	12
Level With Tripod (L)	4	12	12
Levelling Staff (L)	4	12	12
Y-Rod (L)	4	12	12
Water Level Recorder (F)	-	12	24
Staff Gage (L)	60(Sites) 60(Sites)	60(Sites)
US DH-48 Sampler (L)	4	4	4
US D-74 Sampler (L)	3	3	3
US BHH 53 Sampler (F)	4	4	4
US BMH 60 Sampler (F)	3	3	3
Glass Bottles for Sampler (F)	8	8	8
Plastic Jars for Sampler (F)	8	8	8
V.A. Tube Analyser (F)	4	4	4
Bottom Withdrawal Tube (F)	8	8	8
Analytical Balance (F)	4	4	4
Electronic Balance (F)	4	4	4
Electric Oven (F)	4	4	4
Sieve Set (Fine) (F)	4	4	4
Sieve Set (Coarse) (F)	4	4	4
Sieve Brush (F)	8	8	8
Sieve Lid (F)	4	4	Ą
Sieve Pan (F)	4	4	4
Sieve Shaker (Hotorized) (F)	-	-	4
Sieve Shaker (Hand operated) (F)	4	4	4
Pipette (F)	8	8	8
Vacume Pump (F)	4	4	4
Stop Watch (L)	4	Á	4
			-

24	- 24	24
32	= :	32
-	-	J.
80	80	80
4	4	1
4	i	7
9	8	8
12	12	12
8	8	8
Ř		8
4	4	4
	32 - 80 4 4 8	32 32 80 80 4 4 4 4 8 8 12 12

No. of Circles = 4

No. of Divisions = 12

F = Imported

L = Local

- Hinimum operation at circle levels
- Adequate operation at divisional and circle levels
- Full operation at divisional and circle levels with additional equipment.
- Spares are not included in the list.

TABLE 18 NORTHWEST FRONTIER POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR MINIMUM OPERATION AT CIRCLE LEVEL

<u>5.1</u>	IIEH	SPECIFICATIONS	<u> ARMITTY</u>	LATICO Local Rs.	ET Dollar ES	TOTAL Local Rs.	COST Dollar UE\$	SEPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(6)	(9)
l <u>lydra</u>	ulic Equipment							
1.	Current Mater	Price Type AA (vertical axis, horizental bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a feam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, assorted spare parts, and special lubricant, both for rod and cable suspension.		-	770		6, 320	Scientific Instruments Inc; 518 West Cherry, Milwaukee,Wi 53212 -3522, USA (414)263-1600 Fax (414)263-5506
2.	Mini Current Meter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.	8	-	630	-	5,040	Scientific Inst. Inc.
3.	Standard Wading Rods	Four 2-foot graduated rods in 0.1 foot increments, ention rod with base plate; an adjustable sliding support capable of holding price Type AA and Pygay current meters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.	8	2,100	- -	14,800	-	Ahmad Enterprises I-McLeod Road Lahore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	4	-	525	-	2,160	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 300 feet and every 50 feet from 300 to 500 feet; heavy duty hooks on both ends for attaching to trees or other sturdy objects.	3	-	590	-	1,740	Scientific Inst. Inc.
6.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible Hire with two pole connector for connecting to two-conductor wire from current meter on Mading red or from sounding reel.	8	-	65	-	520	Scientific Inst. Inc.
7.	Velocity Counter	Electro-mechanical type for tracking numic of revolutions of a current meter, working on dry cell batteries, housed in a rugged plastic case	-	-	185	-	-	Scientific Inst. Inc.
8.	Electronic Hatch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	8	-	76	-	550	Scientific Inst. Inc.
5.	Spares for Current Meters	Compatible to the selected current meters; should includes pivot assembly, nanger screw, binding post assembly; extra screws for price AA and Pygmy meters; instrument cil, cleaning cieth, two-pole connector (male and female); bucket wheel assembly	both for	-	-	-	250	Scientific Inst. Inc.
10.	Rubber Chest Wader	1. Medium Size 2. Large Size	4	-	160 210	-	640 640	Rickly Hydrologic Company, 2710

11.	Hip boots	1. Medica Size 2. Large Size	-	-	75 105		-	Joyce Ave; Columbus, Chio, 43211 USA
12.	Boat Improvize- ment Set	Boom and cross arm, USGS standard	3	5,300	-	15,900	-	Ahmad Enterprises, Lahore
13.	Sounding Reel	USGS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting reel to headset	3	-	1,480	-	4,440	Scientific Instruments Inc;
14.	Sounding Weight	USBS Columbus (C) type 1. 30 pounds	-	790	-	_	_	M. Ahmad & Sons
		2. 50 pounds	3	1,300	~	3,900	-	I-Brandreth Rd, Lahore
15.	Hanger Bar with Pin	USGS type for 30 and 50 pounds Columbus type weight, one foot long	6	260	-	1,560	-	M. Ahmad & Sons
16.	Cable Connector	USGS Type B	2	-	27	-	54	Scientific Inst. Inc.
17.	Sounding Cable	Elswerth double conductor (inner core), 0.1 inch diameter	350 ft	-	6	-	2,100	Scientific Inst. Inc.
18.	Life Jacket	USGS approved model A2 Adult universai, general purpose type-II	9	-	100	-	90 0	ERO Industries, Inc, Harzlehurst, EA, 31839, USA
19.	Flat Pottom Fibre Glass Boat	lá feet long and à feet wide.	3	30,000	-	90,000	-	Zazrock Company Hultan Rd. Lahore.
20.	Portable Benic Depth Recorder	Single range 0 to 50 feet; paper size 8 inches mide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100KHz; transducer frequency 100 kHz-7.5, voltage input 24 volts DC, meathertight almunium construction with mater tight connectors, plastic cover and mounting brackets.	-	-	10,500	-	-	1. Ross 800 Series Ross Laboratories Inc: 3138 Fairview Ave: E, Seattle, MA 98102, USA 2. 2. Raytheon Series DE -719, Herine Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Depth Recorders	Host frequently replaceable parts to be decided by the supplier consistent with model conferming to above specifications, including recorder charts.	L.S.	-	-	-	-	 Ross Laboratory Raytheon

22.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	4	210	-	840	-	Sibtain Brothers, Karachi
23.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 18 % with standard accessories	4	21,000	-	84,000	-	Sibtain Brothers
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	4	1,260	-	5,040	-	Sibtain Brothers
25.	Y - Rod	Standard, for measuring geometry of outlets.	4	2,500	-	10,000	-	Kotri Baging Sub- division, Hydrol- ogy Directorate, Hyderabad
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	-	-	3,100	• V.	-	Leupold and Stevens, inc: P.O. Box 688 Beaverton, Gregon 97075 USA
27.	Spares for	1. Recorder chart						
	Water Level	2. Pen ink	••	-	21	-	-	Leupoid & Stevens
	Recorder		-	-	9	-	-	,
		 Capillary pen with lucite reservoir 	-	-	52	-	-	
		4. 4.5 - month negator spring driven clock	•	-	790	-	-	
		5. Float tape	-	-	210	-	_	
		6. Float	-	-	95	•	-	
		7. Counter weight	-	•	13	-	_	
		8. fem Cleaner, packet	-	-	9	-	-	
29.	Staff Gage	Special porclain enamel coated, four inches wide in 3.33-foot sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.66 ft 6.66-9.79 ft 9.99-13.33 ft	60 60 60	500 500 500 500		30,000 30,000 30,000	- - -	Kotri Baging Sub- division, Hydrol- ogy Directorate Hyderabad. OR Ahmad Enterprises. Lahore
			= -			30,000	•	

Sediment Sampling Equipment

						•		
1.	Wading Type, Depth Integrating Suspended Sediment Hand Sampler	US DH-48 with wading rod including three sets of spare gaskets, and nozzles of 1/8, 3/16 and 1/4 inch openings, almunium casting	4	2,100	-	8,400 🖜	-	Ahmad Enterprises, Lahore
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/8, 3/16 and 1/4 inch opennings.	3	6,800	-	20,400	-	Ahmad Enterprises
3.	Fiston Type Bed Material Hand Sampler	US BHH 53	4	-	420	-	1,690	Minnesota Fabricators, 2818 Highway 61 North St. Paul Min. 55109, USA
4.	Hand line Bed Material sampler	US EHH 60	3	-	1,100		3,300	Minnesota Fabricators
5.	Pint Glass Botties	For use with DH-48, 24 per box	8	-	75	-	600	Minnesota Fabricators
ά.	Plastic Jar	For use with 0-74, 12 per box	8	-	25	-	200	Minnesota Fabricators
7.	Sample Labei	For use on all bottles or Jars, self adhesive, packet	8	-	25	-	200	Minnesota Fabricators
Labora	atory Equipment For	Sedieent Analysis						
i.	Visual Accumulation Tube sand size Analyser	V.A. tupe with automatic tracer and motor (240 Volts-50 cycle); including all accessories for 120 cm tubes: sizes 2.1, 3.4, 5.0 and 7.0 mm inside diameters at lower ends.	4	-	3,800	-	15,200	Federal Inter- agency Sedimen- tation Project, St. Anthony Falls Hydraulic Labora- tory, 2-3rd Avenue South-East, Minneapolis, Min. 55414 USA
2.	Spares for VA Tube	1. VA glass tube: 2.1 mm 2. VA glass tube: 3.4 mm 3. VA glass tube: 3.0 mm 4. VA glass tube: 7.0 mm 5. VAT Charts	4 4 4 1 LS	- - -	210 210 210 210 -	- - - -	840 840 840 840 200	Federal Interagency
3.	Botto e Withdramai Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clamp.	8	-	220	-	1,760	Federal Interagency

4.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass doors case.	4	-	1,600	•	7,200	Soiltest, 86 Albrecht Dr. P.O. Box 8004, Lake Bluff, IL. 60044- 9902 USA
5.	Electronic Balance	Capacity of 200 grams, Sensitivity .0001 gram	4	-	2,600	-	10,400	Soilkest, IL.
6.	Electric Oven	Fan-Forced air circulation, temperature range upto 110C, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30"%23"%24".	4	-	1,100	-	4,400	Soiltest, IL.
7.	Sieve set (fine)	USA standard sleves, 3-inch diameter brass sleve, fine series						Soiltest, Il.
		No. Openings 5 4.00 mm 10 2.00 mm 18 1.00 mm 25 .710 mm 35 .500 mm 45 .355 mm 60 .250 mm 120 .125 mm 170 .090 mm 230 .063 mm .045 mm	4 4 4 4 4 4 4	-	39 38 39 38 39 39 39 45 55		152 152 152 152 152 152 152 152 150 220 320	
8.	Sieve set (Coarse)	USA standard sieve: 8 - inch diameter, brass sieve, Sieve size 5.6 mm 8.0 mm 16.0 mm 31.5 mm 63 mm	4 4 4 4		28 28 28 28 28		152 1 · 2 152 152 152 152	Soiltest, II.
9.	Siev e Brush	Fine hair bristles, wooden handle.	8	-	8	-		Sailtest, II.
10.	Sieve Lid	For US Standard 3-inch sieves	4		16	-		Soiltest, II.
11.	Sieve Pan	For US Standard 3-inch sieves	4	-	16	-		Soiltest, Il.

			ta (cont	111060)				
12.	Sieve Shakar (Hotorized)	Motorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	-	740	-	-	Soiltest, II.
13.	Sieve Shaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	4	-	350	-	1,400	Soiltest, Il.
14.	Stop Watch	Reading to one second, Smiss/China	4	900	-	3,600	-	Ahmad Enterprises,
15.	fipette	Pyrex glass;						Lahore
	.,,	1. 25 ml capacity; tolerance + 0.06 ml	4	-	100	-	400	Fisher Scientific 1600 W.Glenlake
		2.50 ml capacity; tolerance + 0.10 ml	4	-	130	-	520	Ave; Itasca IL. 60143 USA
16.	Vacuum Pump	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	4	-	850	-	3,400	Spiltest, IL.
17.	Beaker	Pyrex glass; safe temperature limit 500C;						Soiltest, IL.
		1. 100 ml	_					,
		2. 250 mi	8 8	-	3 3	-	24	
		3. 600 ml	ρ	-	3 4	-	2 4 32	
18.	Cylinder	βγ ex glass graduated					32	
		1. 100 ml	8	_	10			Soiltest, IL.
		2. 25) ai	8	-	12 18	-	96	
		3. 500 ai 4. 1000 ai	8	-		-	144 176	
		7. 1000 81	8	•	22 32	-	176 256	
19.	Desiccab	For ceoling samples in moisture- free environment, chemical resistant, high impact molded plastic: almunium shelves, removacie desiscant glass tray	-	-	760	-	-	Spiltest, IL.
20.	Evaporating Dish	Persolain, glazed inside, partially glazed outside,						Spiltest, IL.
		1. 30 m diameter 120 i capacity	40	-	9	-	360	
		2. 115 a diameter 250 al capacity	40	-	13	-	520	
21.		For coping samples in moisture- free environment, glass construction, 125 mm inside diameter and 75 mm depth to plate	i	-	ė5	-	2 60	Soiltest, IL.

22.	Wash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	4	•	78		312	Soiltest, IL.
23.	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, top diameter 127 mm, stem length 100 mm	8	-	80	-	64 0	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine perosity, particle retention .0025 cm, diameter 12.5 cm, packet	8	-	25	-	200	Fisher Scientific, IL.
25.	Stirring Rod	Glass, 5 mm diameter, 30 cm long	12	-	2	_	24	Figher Scientific, IL.
26.	Theracaeter	Range - 20 to 110C, minimum graduation one degree, length 300 mm.	8	•	32	•		Fisher Scientific, IL.
27.	3-Way Stop Cock	Glass construction.	8	_	12	_	72	Cialan O. Ive
28.	French Curve Set	Flastic.	4	•	160	-		Fisher Scientific, IL. Cormon Item.

Total: Rs. 350,440 U.S. \$ 65,512+10% freight = 95,163

TABLE 19 NORTHWEST FRONTIER POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR ADEQUATE OPERATION AT DIVISIONAL AND CIRCLE LEVELS

<u>S.1</u>	<u>ITEN</u>	SPECIFICATIONS	GLINTITY	LNITCO Locai Rs.	ST Dollar US\$	TOTAL Local Rs.	COST Dollar US\$	SEPPLIER
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Hydra	ulic Equipment							
1.	Current Heter	Price Type AA (vertical axis, norizontal bucket Mneel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw driver, assorted spare parts, and special lubricant, both for rod and cable suspension.		-	790	-	19,760	Scientific Instruments inc; 518 West Cherry, Milwaukee,Wi 53212 -5822, USA (414)263-1600 Fax (414)263-5506
2.	Hini Current Heter (Pygay)	Verticall axis, norizontal bucket wheel: chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 3.0 fps; furnished complete in a foam cusnioned carrying case with assorted spare parts, a rating chart and lubricant; for rod suspension only.		-	630	-	15,120	Scientific Inst. Inc.
3.	Standard Mading Rods	Four 2-foot graduated rods in 0.1 foot increments, bottom rod with base plate; an adjustable sliding support capable of holding price Type 64 and Pygmy current meters; a flexible two-conductor wire with one end having two-hole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.		2,100		50,400	-	Ahmad Enterprises I-McLeco Road Lahore

4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and mounted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	12	-	525	•	6,300	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 300 feet; heavy duty hocks on both ends for attaching to trees or other sturdy objects.	6	-	590	-	3,480	Scientific Inst. Inc.
6.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from sounding reel.	24	-	65		1,560	Scientific Inst. Inc.
7.	Velocity Counter	Electro-mechanical type for tracking number of revolutions of a current meter, working on dry cell batteries, housed in a rugged plastic case	-	-	185	-	-	Scientific Inst. Inc.
8.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	24	-	70	-	i,639	Scientific Inst. Inc.
9.	Spares for Current Meters	Compatible to the selected current meters: should include: pivet assembly, hanger screw, binding post assembly: extra screws for price AH and Fygmy meters; instrument oil, cleaning cloth, two-pole connector (male and female); bucket wheel assembly	5 Nos.for each item, both for Pygmy and Price AA	-		-	250	Scientific Inst. Inc.
10.	Rubber Chest Hader	1. Hedium Size 2. Large Size	12 12	-	160 210	-	1,920 2,520	Rickly Hydrologic Company, 2710

		1401	C 11 TODAY	THINEO!				
11.	Hip boots	1. Hedium Size 2. Large Size	12 12	-	75 105	-	900 1,260	Joyce Ave; Columbus, Ohio, 43211 USA
12.	Boat Improvize- ment Set	Bees and cross arm, USGS standard	6	5,300	-	31,800	-	Ahmad Enterprises, Lahore
13.	Sounding Reel	USGS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, 'B' type connector and flexible two-tonductor wire for connecting real to needed	6	-	1,460	-	8,880	Scientific Instruments Inc;
14.	Sounding Weight	USGS Columbus (C) type 1. 30 pounds 2. 50 pounds	- 6	790	-	-	-	M. Ahmad & Sons I-Brandreth Rd,
10			0	1,300	-	7,800	-	Lahore
15.	Hanger Bar With Pin	USGS type for 30 and 50 pounds Columbus type weight, one foot long	12	260	· •	3,120	-	M. Ahmad & Sons
16.	Caple Connector	USSS Type 8	6	-	27	-	162	Scientific Inst. Inc.
17.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	600 ft	-	6	-	3,600	Scientific Inst. Inc.
18.	Life Jacket	UBGS approved model AZ Adult universal, general purpose type-II	19	-	100	-	1,800	ERO Industries, Inc. Harzlehurst, EA, 31539, USA
19.	Flat Bottom Fibre Glass Boat	16 feet long and 6 feet wide.	á	30,000	-	160,000	-	Zamrock Company Multan Rd. Lahore.
20.	Portable Sonic Deoth Recorder	Single range 0 to 50 feet; paper size B inches wide and 72 feet long; paper speed 1 or 2 inches per minute; high resolution fine line transreceiver with a frequency of 100KHz; transducer frequency 100 KHz-7.5, voltage inout 24 volts DC, weathertight almunium construction with water tight connectors, plastic cover and mounting brackets.	-		10,500	-	-	1. Ross GOO Series Ross Laboratories Inc: 3138 Fairvien Ave: E. Seattle, WA 98102, USA 2. 2. Raytheon Series OE -719, Marina Co. Int. Affairs, lex- ington, Mass. 02173 USA.
21.	Spares for Sonic Depth Recorders	Most frequently replaceable parts to be decided by the supplier consistent with model conforming to above specifications, including recorder charts.	L.S.	-	-	-	-	1. Ross leboratories 2. Raytheon

Table 19 (Continued)

				111464				
22.	Metalic Measuring Tapa	Length 100 feet, marked in 0.1 foot increments or in inches; housed in a case.	12	210	-	2,520	-	Sibtain Brothers, Karachi
23.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	12	21,000	-	252,000	-	Sibtain Brothers
24.	Levelling Staff	Japanese stave pole standard, 15 ft long	12	1,260	-	15,120	-	Sibtain Brothers
25.	Y - Rod	Standard, for measuring geometry of outlets.	12	2,500	-	30,000	-	Kotri Gaging Sub- division, Hydrol- ogy Directorate, Hyderabad
26.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-in.h circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hooks and index bracket; 8-inch diameter float with counter weight, reversal indicator.	12	-	3,100	-	37,200	Leupold and Stevens, Inc; P.O. Box 699 Beaverton, Oragon 97075 USA
27.	Spares for Hater Level Recorder	 Recorder chart Pen ink Capillary pen with lucite reservoir 4.4.3 - month negator spring driven clock Float tape Float Counter weight Fen Cleaner, packet 	12 12 12 12 12 12 12 12 12 12	-	21 9 52 790 210 95 13 9	-	252 108 624 7,480 2,520 1,140 156 108	Leupold & Stevens
28.	Staff Gage	Special perciain enamel coated, four inches wide in 3.33-feet sections; graduated to .01 foot and marked every foot, 0.1 and .02 foot. Range: 0-3.33 ft 3.33-6.65 ft 6.66-7.97 ft 9.99-13.33 ft	60 60 60	500 500 500 500	- - -	30,000 30,000 30,000 30,000	- - - -	Kotri Gaging Sub- division, Hydroi- ogy Directorate Hyderabad. GR Ahmad Enterprises, Lahore

Sediment Sampling Equipment

1.	Wading Type, Depth Integrating Suspended Sediment Hand Sampler	US DH-48 with wading rod including three sets of spare gaskets, and thousales of 1/8, 3/16 and 1/4 inch openings, almunium casting	4	2,100	-	8,400	-	Ahmad Enterprises, Lahore
2.	Reel Type, Depth Intergating Sediment Sampler	US D-74, cast bronze stream lined body, with hanger bar and pin; and including three spare sets of gaskets and nozzles of 1/3, 3/16 and 1/4 inch opennings.	3	6,800	-	20,460	-	Ahmad Enterprises
3.	Piston Type Red Material Hand Sampler	US BHH 13	4	-	420	-	1,620	Minnesota Fabricators, 2313 Highway 61 North St. Paul Min. 53109, USA
å.	Hand line Bed Material sampler	U3 RM: 50	3	-	1,160	-	3,300	Minnesota Pabricators
5.	Fint Glass Bottles	For use with OH-40, 24 per box	8	•	75	-	600	Minnescia Fabricators
ċ.	Plastic Jar	For use with 0-74, 12 per box	8	- %	25	-	200	Minnesota Fabricators
7.	Sampie Ladei	For use on all bottles or Jars, self adhasive, packet	. 8	-	25	- i)	200	Minnescta Fabricators
Labora	atory Equipment For	<u>Sediment Analysis</u>					,	
1.	Visual Accumulation Tupe sand size Analyser	V.A. tube with automatic tracer and motor (24) volts-50 cycle); including all accessories for 120 cm tubes; sizes C.1, 3.4, 5.0 and 7.0 mm inside diameters at lower ends.	4	-	3,800	-	15,206	Feberal Inter- agency Sedimen- tation Project, St. Anthony Falls Hydraclic Labora- tory. 2-Ind Alerce South-East. Minnespolis, Min. 55474 USA
÷.	Spares for VA Tube	t. VA glass tube: 2.1 mm 2. VA glass tube: 3.4 mm 3. VA glass tube: 5.0 mm 4. VA glass tube: 7.0 mm 5. VAT Charts	4 4 4 LS		210 210 210 210 210		640 840 840 840 200	Federal Interagency
3.	Bottom Withdramai Tube	Standard by St. Anthony Fails Hydraulic Laboratories, including rubber tape and pinch clamp.	8	-	220	-	1,750	Federal Interagency

4.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two cencave stainless steel pans, front and back sliding glass doors case.	4	-	1,800	-	7,200	Soiltest, 86 Albrecht Dr. P.O. Box 3004, Lake Bluff, IL. 60044- 9902 USA
5,	Electronic Baiance	Capacity of 200 grams, Sensitivity	4	-	2,600	-	10,400	Spiltest, IL.
ć.	Electric Oven	Fan-Forced air circulation, temperature range upto 1100, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30°x15°x24°.	4	-	1,100	-	4,400	Soiitest, IL.
7.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Spiitest, II.
8.	Sieve set (Coarse)	No. Upenings 5 4.00 mm 10 2.00 mm 18 1.00 mm 25 .710 mm 35 .500 mm 45 .385 mm 60 .250 mm 120 .190 mm 170 .090 mm 230 .045 mm USA standard sieve; 8 - inch diameter, brass sieve,	4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4		38 38 38 38 38 38 45 56 60		152 152 152 152 152 152 152 152 160 220	Spiltest, Il.
ş,	Sieve Brush	Sieve size 5.6 nm 8.0 nm 16.0 nm 31.3 nm 63 nm 100 nm	4 4 4 4		28 28 28 28 28		152 152 152 152 152 152	
10.	Sieve Lid	Fine hair bristles, wooden handle. For US Standard 3-inch sieves	8 .a	-	8	-	54	Soiltest, 11.
11.	Sieve Pan	1100	4	• 2	iá	•	£4	Soiltest, II.
•••	20C1C [GI]	For US Standard 3-inch sieves	4	-	lė	-	64	Soiltest. II.

Table 19 (continued)

12.	Sieve Shakar (Motorized)	Motorized 220 volts, 50 cycle; capacity eight sieves plus pan and cover, 8-inch sieve sizes.	-	-	7 4 0	-	-	Soiltest, Il.
13.	Sieve Snaker (Hand operated)	Head-operated shaker; capacity seven sieves, 8-inch diameter.	4	-	350	-	1,400	Soiltest, Il.
14.	Stop Watch	Reading to one second, Swiss/China	4	900	-	3,600	-	Ahmad Enterprises, Lahore
15.	Pipette	Pyrex glass;						
		1. 25 ml capacity; colerance + 0.06 ml	4	-	100	-	400	Fisher Scientific
		2. 50 mi capacity; tolerance + 0.10 ml	4	-	130	-	520	Ave; Itasca IL. 60143 USA
16.	Vacuum Pump	Two series-connected electric pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.	4	-	8 50	-	3,400	Soiltest, IL.
17.	Beaker	Pyrex glass; safe temperature limit 500C;						Soiltest, IL.
		1. 100 ml	a					
		2. 250 mi	8	-	3 3	-	24	
		3. 600 mi	8	-	3 4	-	2 4 32	
18.	Cylinder	Pyrex glass graduated						
		1. 100 ml	8					Sciltest, IL.
		2. 230 ml	8	-	12 18	-	96	
		3. 500 ml	8	_		•	144	
		4. 1000 mi	8	-	22 32	-	176 256	
17.	Desiccab	For cooling samples in moisture- free environment, chemical resistant, high impact molded plastic; almunium sheives, removable desiscoant glass tray		-	700	-	-	Soiltest, IL.
20.	Evaporating Dish	Pereciain, glazed inside, partially glazed outside.						Soiltest, IL.
		 90 sm diameter 120 mi capacity 	4 ŷ	-	9	-	360	
		2. 115 mm diameter 250 ml capacity	40	-	13	-	520	
21.	Desiccator	For cooling samples in moisture- free environment, glass construction, 125 cm inside diameter and 75 cm depth to plate	4	-	65 _.	-	250	Soiltest, IL.

Table 19 (Continued)

22.	Wash Bottle	Borosilicate florence flask with special molded rubber grip containing valve system, one litre capacity	4	-	78	•	312	Soiltest, IL.
23.	Filtering Funnel	Pyrex glass, 60 angle bowle, beaded to reduce chipping, tep diameter 127 mm, stem length 100 mm	8	-	80	-	6 4 0	Fisher Scientific, IL.
24.	Filter Circle	Whatman, ashless filter paper, fine porosity, particle retention .0025 mm, diameter 12.5 cm, packet	8	-	స	-	200	Fisher Scientific, IL.
25.	Stirring Rod	Glass, 5 mm diameter, 30 cm long	12	-	2	-	24	Fisher Scientific, IL.
26.	Thermometer	Range - 20 to 1100, minimum graduation one degree, length 300 mm.	8	-	32	-	256	Fisher Scientific, IL.
27.	3-Way Stop Cock	Glass construction.	8	-	12	_	76	Fisher Scientific, IL.
28.	French Curve Set	Plastic.	4	-	160	-	400	Common Item.

Total: Rs. 725,160 U.S. \$ 181,012+107 freight = 199,113.

TABLE 20 NORTHWEST FRONTIER POVINCE HYDRAULIC AND SEDIMENT MONITORING EQUIPMENT FOR PILOT PROJECT

			•							
<u>S.1</u>	<u>ITEH</u>	SECIFICATIONS	GUANTITY	UNITO Locai Rs.	05T 0011ar US\$	TOTAL Local Rs.	COST Dollar US\$	SIFPLIER		
(1) 	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)		
lydra	ulic Equipment									
1.	Ourrent Meter	Frice Type AA (vertical axis, horizontal bucket Wheel); chrome plated stainless steel; minimum velocity = 0.1 fps and maximum velocity = 20.0 fps; single and penta contacts; furnished complete in a foam cushioned carrying case, along with a rating chart, tail fin assembly, screw criver, asserted spare parts, and special lubricant, both for rod and cable suspension.	12	-	790	-	9,4 50	Scientific Instruments Inc; 519 West Cherry, Milwaukee,Wi 53212 -3922, USA (4:4)263-1600 Fax (4:4)263-5506		
2.	hini Current Heter (Pygmy)	Verticall axis, horizontal bucket wheel; chrome plated stainless steel; minimum velocity: .05 fps and maximum velocity = 5.0 fps; furnished complete in a foam cushioned carrying case with assorted spare parts, a rating chart and lucricant; for red suspension only.	12	-	630	-	7,560	Scientific Inst. In		
3.	Standard Wading Rods	Four 2-foot graduated rods in 0.1 foot increments, bottom red with base plate; an adjustable sliding support capable of holding price Type AA and Pygmy current meters; a flexible two-conductor wire with one end having two-nole conductor for head set and the other end suitable for connecting to current meter and rods. Base plate and slider made from corrosion resistant material; complete set in heavy duty canvas carrying case.	!2	2,100	•	25,200	•	Ahmad Enterprises I-Moleco Road Lahors		

		· ·	- 20 (00/10/	1000)				
4.	Light Duty Tagline	About 300 feet long of 0.04 inch diameter stainless steel with a hook at one end, wound on a heavy plastic reel and counted on a hardwood stake; brass beads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet and every 10 feet from 200 to 300 feet.	12	-	525		6,300	Scientific Instru- ments Inc.
5.	Heavy Duty Lee Au Type Tagline	About 500 feet long 1/16 inch diameter open reel with handles; marked with brass seads every 2 feet for the first 50 feet, every 5 feet from 50 to 200 feet, every 10 feet from 200 to 500 feet; heavy 50 feet from 500 to 500 feet; heavy duty hooks on both ands for attaching to trees or other sturdy objects.	4	-	580	-	2,320	Scientific Inst. Inc.
ċ.	Headset	Flexible headband, built in compartment for dry cell battery, including flexible wire with two pole connector for connecting to two-conductor wire from current meter on wading rod or from counding reel.	12	-	65	-	780	Scientific Inst. Inc.
7.	Electronic Watch	Electronic, digital reading to 0.01 second, with a neck cord and having easy to use finger tip control buttons.	6	-	70	-	420	Scientific Inst. Inc.
8.	Spares for Current Meters	Compatible to the selected current meters; should include: pivot assembly, hanger screw, binding post assembly: extra screws for price AA and Fygmy meters; instrument oil, cleaning cloth, two-pole connector (male and female); bucket wheel assembly	2 Mos.for each item, both for Pygmy and Frice AA	-	-	-	250	Scientific Inst. Inc.
5.	Rubber () it Wader	1. Medium Size 2. Large Size	4 2	-	160 210	-	640 420	Rickly Hydrologic Company, 2710 Joyce Ava
10.	Hip bests	1. Medium Size 2. Large Size	4 2	- -	75 105	-	300 210	Columbus, Chio, 43211 USA
11.	Boat Improvize- ment Set	Boom and cross arm, USBS standard	4	5,300	•	21,200	-	Ahmad Enterprises, Lahore

Table 20 (Continued)

	Table 50 (Coullings)										
12.	Sounding Reel	USSS A-type light duty, with a maximum load capacity of 100 pounds; two-position handle for leverage, scale reading 0.1 foot; complete with 0.1 inch double conductor cable, "B" type connector and flexible two-conductor wire for connecting reel to headset	4	-	1,480	-	5,920	Scientific Instruments Inc;			
13.	Sounding Weight	USSS Columbus (C) type 50 pounds	4	1,300	-	5,200	-	H. Ahmad & Sons I-Brandreth Rd, Lahore			
14.	Hanger Bar With Pin	USGS type for 30 and 50 pounds Columbus type weights, one foot long	9	260	-	2,080	•	ണം Anmao & Sons			
15.	Cable Connector	USSS Type B	4	-	27	-	108	Scientific Inst. Inc.			
iś.	Sounding Cable	Elsworth double conductor (inner core), 0.1 inch diameter	400	-	6	•	2,400	Scientific Inst. Inc.			
17.	Life Jacket	USBS approved model A2 Adult universal, general purpose type-II	!2	-	160	-	1,200	ERO industries, inc, Harzishurst, GA, 31539, USA			
18.	Flat Bottom Fibre Glass Boat	ló feet long and ó feet wide.	4	30,000	-	120,000	-	Zamrock Company Multan Rd. Lahore.			
19.	Metalic Measuring Tape	Length 100 feet, marked in 0.1 feet increments or in inches; housed in a case.	ά	210	-	1,260	-	Sibtain Brothers, Karachi			
20.	Level with Tripod	Topcon (Japan) automatic levelling, magnification 20 % with standard accessories	Ġ	21,000	-	126,000	-	Sibtain Brothers			
21.	Leveiling Staff	Japanese stave pole standard, 15 ft long	6	1,260	-	7,560	-	Sibtain Brothers			
22.	Y - Rod	Standard, for measuring geometry of outlets.	6	3,500	-	15,000	•	Kotri Gaging Sub- division, Hydrol- ogy Directorate, Hyderabad			
23.	Water Level Recorder	Stevens A-71; English units with 1:6 gage scale; chart speed 2.4 inches per day; chart 10 inches wide and 25 yard long; 4.5 - month negator spring driven clock; 18-inch circumference pulley for perforated tape; stainless steel graduated, perforated tape 50 feet long with set end hocks and index	Ġ	-	3,160	•	18,800	Leupold and Stavens, inc: P.O. Box 658 Beaverton. Gregon 97075 USA			

Table 20 (Continued)

		bracket; 8-inch diameter float with counter weight, reversal indicator.						
24.	Spares for	1. Recorder chart	6					
	Nater Level	2. Pen ink	6	-	21	-	126	Leupold & Stevens
	Kecorder	3. Capillary pen with lucite reser-	6	-	9	-	54	
		voir	0	•	52	-	312	
•		4. Pen Cleaner, packet	6	-	9	-	54	
25.	Staff Gage	Special perclain enamel coated, four inches wide in 3.33-foot sections; graduated to .01 feet and marked every foot, 0.1 and .02 feet. Range: 0-3.33 ft		Ri est				Kotri Gaging Sub- division, Hydrol- ogy Directorata Hyderabad. OR
		3.33-6.66 ft	30	500	-	15,000	-	Ahmad Enterprises,
		6.66-9.99 ft	30	500	-	15,000	-	Lahore
		9.99-13.33 ft	30	500	-	15,000	•	cuita c
		7.77-13.33 ft	30	500	-	15,000		
Sedim	ent Sampling Equipme	<u>nt</u>				,,,,,		
1.	Wading Type. Depth Integrating Suspended Sediment Hand Sampler	US DH-48 with wading rod including three sets of spare gaskets, and nozzles of 1/8, 3/16 and 1/4 inch openings, almunium casting	6	2,100	-	12,600	-	Ahmad Enterprises, Lahore
2.	Piston Type Bed Material Hani	US BAH 53	6	_	420			
3.	Sampler	_		7.1 12	120	-	2,520	Minnesota Fabricators, 2515 Highway 61 North St. Paul Hin. 55109, USA
٥.	Pint Glass	For use with EH-48, 24 per box	á	•	75			
÷.	Pottles		-		74	-	450	Minnesota Fabricators
	Sample Labei	For use on all bottles or Jars, self adhesive, packet	6	-	25	-	150	Minnesota Fabricators
Labora	itory Equipment For	<u>Sediment Analysis</u>						-
1.	Pottom Witndrawai Tube	Standard by St. Anthony Falls Hydraulic Laboratories, including rubber tape and pinch clamp.	4	-	220	-	850	Federal Inter- agency Sediment- ation Project, St. Anthony Falls Hydraulic Laboratory, 2-3rd Avenue South-East. Hinneapolis
								Min. 55414 USA.



Table 20 (Continued)

		labio	e 20 (Cont	inued)				
2.	Analytical Balance	Capacity of 200 grams with weight box and .0001 gram sensitivity, beam05 to +.05 gram in 200 graduated divisions; two concave stainless steel pans, front and back sliding glass deers case.	2	-	1,800	-	3,600	Soiltest, 86 Albrecht Dr. P.O. Box 8004, Lake Sluff, IL. 60044- 9902 USA
3.	Electric Oven	Fan-Forced air circulation, temperature range upto 1100, two doors, pilot light, adjustable shelf, welded steel exterior, overall diameter 30"x20 x24".	2	-	1,100	-	2,200	Soiltest, IL.
4.	Sieve set (fine)	USA standard sieves, 3-inch diameter brass sieve, fine series						Soiltest, II.
5.	Sieve set (Cuarse)	No. Openings 5	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		58 58 58 58 58 58 58 58 58 58 58 58 58 5		76 76 76 76 76 76 76 90 110 160	Soiltest, II.
7.	Sieve Lid		4	-	8	-	25	Soiltest, Il.
8.	Sieve Pan	STEASE STILL STEASE	2	-	16	-	32	Soiliest, II.
9.	Sieve Shaker		2	-	16	-	32	Soiltest, II.
		Head-operated shaker; capacity seven sieves, 8-inch diameter.	2	-	350	-	700	Sciltest, II.
10.	Stop Watch	Reading to one second, Swiss/China	2	900	-	1,800	-	Ahmad Enterprises, Lahore

N

Table 20 (Continued)

11.	Pipette	Pyrex glass;				,		
	·	1. 25 ml capacity; tolerance + 0.06 ml	2	-	100		200	Fisher Scientific 1600 W.Glenlake
		2. 50 ml capacity;	2	_	130			Ave; Itasca
		tolerance + 0.10 ml	-		130	•	260	IL. 60143 USA
12.	Vacuum Pump	Тно series-connected electric	2	-	850	-	1,700	Soiltest, IL.
		pumps, 0.3 mm ultimate pressure in leak proof system, 1/4 HP motor, 240 volts 50 Hz.					1,100	somest, it.
13.	Beaker	Pyrex glass; safe temperature limit 50%C;						Soiltest, IL.
		1. 100 mi	4	-	3	_	12	
		2. 250 al	4	-	4	-	12	
		3. 600 mi	4	-	4	•	16	
14.	Cylinder	Buren alam and at					••	
• • •	Syrinae.	Pyrex glass graduated 1. 100 mi	_					Soiltest, IL.
		2. 250 mi	4	-	12	-	49	,
		3. 500 mi	4	-	19	-	72	
		4. 1000 mi	4	-	22	-	88	
		ee avvv mi	4	-	32	-	128	
i5 .	Evaporating	Poreclain, glazed inside, partially						
	Di sh	glazed cutside.						Soiltest, IL.
		1. 90 mm diameter	20	_				
		120 ml capacity	20	_	9	-	190	
		2. 115 mm diameter	20		13			
		250 mi capacity			13	-	260	
15.	Desiccator	For cooling samples in moisture-	2	-	65	_	170	D. 111
		free environment, dlass			uu	_	139	Soiltest, IL.
		construction, 125 mm inside						
		diameter and 75 mm depth to plate						
17.	Wash Pottle	Borosilicate florence flask with	_					
			2	-	78	-	156	Spiltest, IL.
		special moided rubber grip containing valve strem, one litre						•
		Capacity						
18.	Filtering	Pyrex glass, 60 :- e bowle, beaded	4	_	80	-	320	Finter for the second
	Funnei	to reduce chipping top diameter			04		320	Fisher Scientific, TL.
		127 mm, stem length 100 mm						
17.	Filter Circle	Marian and the						
• * * •	Tite Unite	Whatman, ashless filter paper, fine	4	-	25	-	100	Fisher Scientific, IL.
		perosity, particle retention .0025 mm, diameter 12.5 cm, packet						
		wai draweren itis Emi backet						
20.	Stirring Rod	Glass, 5 mm diameter, 30 cm long	4.	_				
	-	, and a sound of the analysis	٦.	-	2	-	8	Fisher Scientific, IL.

Table 20 (Continued)

21.	Thermometer	Range - 20 to 110C, minimum graduation one degree, length 300 mm.	4	-	32	-	•	128	Fisher Scientific, IL.
22.	3-May Stop Cock	Glass construction.	4	•	. 12	-		48	Fisher Scientific, IL.
23.	French Curve Set	Plastic.	2	-	100	-		200	Common Item.

Total: Rs. 397,900

U.S. \$ 73,616+10% freight = 80,978

Note: Two Circles (Six divisions)